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���� �##�������� *� � ��4�� �������� ���� ���2��$ �$��'$���� R ������2��� ��� '0'��� � �� 
��;� � ��� '(�'��� �� ��� '�2#����$�� '�2#��2��$� ���6 
7 ��'���)  � ���4 $ ����� #��#� �$�
$�#���4 3�� 3�� ���� ���(� $��� ��#�����$��6 ��$$� ��$ �� ��$ ��;� � ���� � �� #��� �� �	
*� � ��4� 3�� #��� �� ?	*� � ��4�6

�� ��$��� 3�� '��$�� ��2��$ �� ��2��� �� '�2#����$�� '�2#��2��$� ��� �� 7 �������
�� *� � ��4�)  � ����$ #�� #��� ��� �� ��$��2 ��� ������� �� �� ��3���'� ��� �	*� � �� ����
���2��$ ����� �*�' �� ����� '���� ����'� �� �� �	��=�'��'� �� �� �� ?	��=�'��'�6 � ��)
�� '���� ����'� � 2��$���� ��� ���+ ���2�� �� '����+ $� �� #��2�$ �� 4������ #�� ��
��$��2 ��� ��� ��3���'�� �� �	*� � �� ��$ ���' ��'��� 2� �� '����� ��� ?	*� � ��!6 �� �8�$)
#��� ��� ��$��2 ���)  � ��$ ��'���� �� �� '����B$�� ����=�'��'� ��� ��4 ��� ��'���2��$ �$ ���
#�� 4������2��$6 
� ;4��� �6>> ����� �� �+�2#�� �E  � ����$ #�� #��� ��� �� ��$��2 ���
��� '0'��� �� �� '���� ����$ 3�� ��� � �$ ?	��=�'��'�� ��$�� ��4 ��� 9  � ����$  ' #�� #��� ���
�� ��$��2 ��� #�� �+�2#�� �� '0'�� �� *� � ��4� �� �� '�2#����$� �+$�� ���� �� A6

"�2��3���� ��;� 3�� � ����$ #�� #��� ��� �� � �$ �4��� ��� ���+ ���� �02�$� 3��� ��
�� '��� �����$ 3�� �� $�#���4 � �� �� 2�4� � ���� �� '��� �1�� 3���� ���� ��� '0'��� �����
��4 ���6 ��#�����$) �� ���� �� #��'���� �� ���+ '0'��� ������ 2<2� ��4 �� �� �� ���+
��4 ��� � �$ �'$��! ���$ $�#���4 3��2��$ � ��) '�22� �� 2��$�� �� ;4��� �6>�6 
� ���+ �$�
���' 3�� ���+ ���� �� ��$�$ ��� #��� ���� #��� ������2��� ��� '0'��� ��$ ��� #�� ���+ ����
#��� ���� #��� '(�3�� '0'��!6 
� ��$ #��� ��� �� �� 2#���� ���� �� '�� ���+ ���� �� ��$�$ ��
#��� ��$�� � ��� '���'$�� ��$ �� #��� #��' �� �� �� 2�4�) 2� � ��$�� ��#�����$�$ �� �� ����
����� #��� ��$ 1��2��$ ����� ��� �� $�#���4 �6

���� ������ 2� �$����$ 2��$��� 3�� �� '���� ����'� �� *� � ��4� ������� �'���$ 7
� �� ��� '0'��� �� � �$ �� ?	*� � ��4�! *� ���� #��2�$$�� �� ��#�����$�� '�2#�1$�2��$ ��
$�#���4 � �����  2�4�6 ���� #��' ��22��$) �� '���� ����'� �� �� $�#���4 � �� �� ����$ 1��
�����  2�4� � �� 3�� ���� G ���� �� #��'���� H ��� �������� �� '(�3�� '�2#����$�
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���� �6>� M �+�2#�� �� '0'��� � ��6 
� ������ �� '0'�� (A′, B′, C ′)  2#��� �� ���� �� '0'��
(A,B,C) 9 �� 2�4� �� 4��'(� �$ '���� �� ��� $� �� ���$ #�� $�#���4 3��2��$ �3� *����$��)
'�� ��� '0'��� (A,B,C) �$ (A,C,B) ���$ �� ���� �##����6

'�2#��2��$� �� �� '(�3�� ��4 �� ��;� $ �� $�#���4 � �����  2�4�6 �*��$ �� 2��$��� '�
$(���12�) ���� ������ ��2��$��� �� ��22� �� *��$ 9

����� �  ��� R ��� ������ %�
������ �� �	�� )�
��
���)� * �� ���$�� * n ����� �$��
������� �������		�
��� 5��� �������� ����� ��� �� �������� * 	� ������� ����������� ����
$�� R ����� %�
��������  ��� D �� ���$�� * n ����� �$�� ���� ��� 
5
� ��� ���$����
��
����$�� ��� ������� * 	���� )���7����	 �� )�
��
���)� * R�  ��� �	��� ϕ: ∆D → ∆R
�� )�
��
���)��
� �� 	� ��������� �� D ���� 	� ��������� �� R $�� 
������� 	� ���� ��
��������� !	��� �	 ������ �� )�
��
���)��
� ϕ̃ �� D ���� R ��	 $���� ���� ����� p �� 	�
��������� ∆D �� ��� ϕ̃(p) = ϕ(p)�

)��
����	�

� � 
�� ��4 ��� R �$ D �$��$ (�2��2��#(��) �� $ ψ:D → R �� (�2��2��	
#( �2� �� D ���� R6 %� $$� 7 ��2#��'�� ψ #�� ψ ◦ s) �E s ��$ �� �02�$� � ���+� (�� L��$��)
�� #��$ ��##���� 3�� ψ '�����*� �� ���� �� ��$�$ ��6 ,� 2<2�) 3� $$� 7 G ���������� H
��� $����) �� #��$ ��##���� 3�� #��� $��$� '�2#����$� '�2#��2��$� �� C �� D) �� � $
ψ(∆C) = ϕ(∆C)6 ��##����� ���� �� #��2 �� $�2#� 3�� ��� '�2#����$�� '�2#��2��$� ���
�� D �� ���$ #�� $��4��$�� ��$�� �����6 �� $ ����� ε = minT1,T2∈C(D) d(T1, T2) �� � �$��'� 2 	
� 2��� ��$�� ���+ '�2#����$�� '�2#��2��$� ��� �� D6 ,��+ '�2#����$�� ���$��$ #��
$��4��$��) �� � ���' ε > 06

���� '(�3�� $��� T �� D) ��$��� rT ��� ��0�� �$ CT ��� '��$��6 ��$��� ����� 3��
��� � �3��� D(T ) �� '��$�� CT �$ �� ��0�� rT + ε/3 �� �� �$����'$��$ #�� � � ���4 $ ���
� ��$�$ ��� �� ��0�� ε/3 ��� � 8����$� $���� �� D!6 ,� 2<2�) �� ��$��$ E ���+$�� ��� ��
D) rE ��� ��0�� �$ CE ��� '��$��) �� '�2#��2��$� �� D(E) �� � �3�� �� ��0�� rE − ε/3
�$ �� '��$�� CE �� �$����'$� ��'�� ��� D(T )6 �� *� ����� ��;� � ϕ̃ �� #����$ 9

ϕ̃ :

{
p 	→ ψ(p) � p ∈ D \⋃

C∈C(D)D(C)

p 	→ ξ(p) � ��� � �6 ∃C ∈ C(D) : p ∈ D ∩D(C)!
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�E ξ ���$ 7 G ��''����� H ψ �$ ϕ) '���$ 7 � �� 3�� ���� ���(� $� 3�� ξ(p) = ψ(p) � p ∈ ∆D(C)
�$ ξ(p) = ϕ(p) � p ∈ ∆C) �E C ��$ ��� '�2#����$� '�2#��2��$� �� 3���'��3�� �� D6
�� $ ����� C ��� '�2#����$� '�2#��2��$� �� �� D) ���� ������ 2� �$����$ ��;� � ξ ���
∆D(C) ∩ D6 ���� ��##�������  ' 3�� C ��$ �� $��� �� D) �� '�� �E C ��$ �� '�2#����$�
�+$�� ���� �� D �$��$ � 2 �� ��6

��$��� 3�� C �$ D(C) ���$ ���+ � �3��� '��'��$� 3���) �� ��0��� rC �$ r′C = rC + ε/36
���� #��*��� ���' ��'� �� ��� #� �$� �� D(C) �$ �� C 7 #��$ � �� ���� '���������� #��� ��� 9
�� � �$��'� r #�� ��##��$ �� '��$��) �$ ����4�� α #�� ��##��$ 7 ���+� (�� L��$��6 
�� #� �$�
�� D(C) ∩ D ���$ �+�'$�2��$ ��� #� �$� ���$ �� ��0�� r ��$ '�2#� � ��$�� rC �$ r′C 6 ��
#��$ '�� ��) ��� #� �$� �� ��0�� rC ���$ ��� #� �$� �� ∆C �$ ��� #� �$� �� ��0�� r′C ���$
��� #� �$� �� ∆D(C)6 ���� ������ ���') #��� $��$� *����� �� α) ξ(rC , α) = ϕ(rC , α) �$
ξ(r′C, α) = ψ(r′C , α)6 "��$� 7 ��;� � ξ ��� ��� #� �$� �� ��0�� r ∈ [rC , r

′
C ]6

���� '���) �� $ p = (rC , αp) �� #� �$ �� ∆C6 "�2��3���� 3�� ϕ(p) ∈ ϕ(∆C) = ψ(∆C))
�$ #�� '����3���$ q = ψ−1 ◦ ϕ(p) ∈ ∆C ��$ � �� ��;� 6 ���� � 4� ;� 3�� q #��$ ���� 
���'� �� �� '���������� #��� ��� �*�' �� ��0�� �4�� 7 rC 6 ��$��� αq ��� ��4��) '���$ 7 � ��
3�� q = (rC , αq)6 "�2��3���� 3�� p ��$ ��$ 1��2��$ ��;� #�� ��� ��4�� αp ���� ��0��
�$��$ ��'���� ��2��$ rC!) �� ���$� 3�� αq �� ��#��� 3�� �� αp6 �� ��$� ����� β �� ���'$ ��
3� 7 $��$ αp ����' � �� αq '�����#�����$6 �� #��$ ����� ��;� � ξ ��� D(C) ∩ D #�� 9

ξ

(
r
α

)
= ψ

⎛
⎝ r

r − rC

r′C − rC

· α +
r − r′C
rC − r′C

· β(α)

⎞
⎠

�� � ����� ξ(r′C, α) = ψ(r′C , α)) ���' #��� $��$ #� �$ p �� ∆D(C)) �� � � �� ξ(p) = ψ(p)6
,� #���) �� � ξ(rC , α) = ψ(rC , β(α))6 �� � p ��$ �� #� �$ �� ��0�� rC �$ ����4�� α) ����� #��
��;� $ �� β(α) ��$ ����4�� �� #� �$ q = ψ−1 ◦ ϕ(p)6 �� �� ���� $ ���' 3�� (rC , β(α)) = q
�$ ���' 3�� ξ(p) = ψ(ψ−1 ◦ ϕ(p)) = ϕ(p) #��� $��$ #� �$ �� ∆C) '�22� *����6

"�2��3���� 3�� ξ ��$  �=�'$ *� ��� D(C)∩D) '�� β '�����*� �� ���� �� ��$�$ �� ����'
���  2�4�� �� ���+ G ��0��� H ����4��� α �$ α′ � �$ �'$� �� #��*��$ �� '�� ���) �$ ��� ��
2<2� ��0�� ���+ #� �$� � �$ �'$� �� ��'���� ��2��$ ���  2�4�� � �$ �'$�� '�� ���� � �$��'�
�� '��$�� r �$ r′ ���$ � 8����$��!6 
�� � 8����$�� '�2#����$�� �+$�� ����� �$��$ � �$ �'$��)
�� �� ���� $ �� �=�'$ * $� �� ξ ��� $��$ ��� ��2� �� �� ��;� $ ��6 
� ���=�'$ * $� ��$ ���� 
�������) '�� 7 r ;+�) �� 2��$�� � ��2��$ 3�� ξ(r, α) ��'� $ �� '��'�� �� ��0�� r ����3��α
��'� $ �� �$��*���� [0, 2π[6 �� �8�$) β ��$ '��$ ��� '��  � ���4 $ �� �� '�2#���� �� ���'$ ���
'��$ ����) ���' �� ���'$ �� f 3� 7 α ����' � �� #� �$ ξ(r, α) ��$ '��$ ���6 ���� ��$ �� #���
 �=�'$ *� ��� [0, 2π[) ���' f([0, 2π]) ��$ �� ��' ���+$��2 $�� f(0) �$ f(2π)6 �� f ��$ 2π	
#�� �� 3��) ���' f(2π) = f(0)) '� 3� 2��$�� � �� 3�� f([0, 2π]) ��$ �� '��'��6 �� ��
���� $ ���' 3�� ξ ��$ � =�'$ *�6


� '��$ �� $� �� ξ ��$ �* ���$�) '��  � ���4 $ �� �� '�2#���� �� ���'$ ��� $��$�� '��$ ����6

� '��$ �� $� �� �� ��' #��3�� �� 2��$�� �� ��2��3���$ 3�� �� 2�4� ���� ��*��$ ��D(C)∩D
#�� ξ ��$ �� ��*��$ �� R6 �� �8�$) �� $ O �� ��*��$ �� D(C) ∩ D �$ q �� #� �$ �� ξ(O)6
������ ����� p = ξ−1(q) ∈ O6 ��$��� (rp, αp) ��� '���������� #��� ��� �� p6 
�����2��� O
�$��$ ��*��$)  � �+ �$� �� *� � ��4� �� p  �'��� ���� O6 ��$��2��$ � $)  � �+ �$� η > 0 $��
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3�� ������2��� E = {(r, α) : |r− rp| < η, |α−αp| < η} �� $  �'��� ���� O6 ����� �� ���'$ ��
β '�����*��$ �� ���� �� ��$�$ ��) �� 2��$�� � ��2��$ 3�� ξ(E) ��$ �� �����'� ������ ��
����$ 1�� ξ(∆E)) '�$$� ����$ 1�� �$��$ ���� 2<2� �+'���6 �� �� ���� $ 3�� ξ(E) ��$ ��
��*��$ �� R6 ,� #���) �� � p ∈ E) ���' q = ξ(p) ∈ ξ(E)6 � �� ) q #���1�� �� *� � ��4�
��*��$ ���� R6 ��' �$��$ *�� #��� $��$ q ���� ξ(O)) �� �� ���� $ 3�� ξ(O) ��$ �� ��*��$)
'���$ 7 � �� 3�� �� 2�4� ���� ��*��$ #�� ξ ��$ �� ��*��$) �$ ���' 3�� ξ−1 ��$ '��$ ���6 ��
�� ���� $ ����� 3�� ξ ��$ � �� �� (�2��2��#( �2�6

�� �� ���� $ � �� 3�� �� ���'$ �� ϕ̃ ��;� � #��� (��$ ��$ � �� �� (�2��2��#( �2�6
�� �8�$) �� ���$� '$ �� �� ��(��� �� �� �$�� ��� ��� D(C) ��E C ��$ ��� '�2#����$� '�2	
#��2��$� �� 3���'��3��! ��$ �� (�2��2��#( �2�) '�� ���� '�S�' �� �*�' ψ 3� �� ��$ ��6
,� 2<2�) �� ���$� '$ �� 7 '(�'�� ��� D(C) ∩ D ��$ � �� �� (�2��2��#( �2� '�� ����
'�S�' �� �*�' ξ6 ,� #���) �� � � �� ϕ̃(p) = ϕ(p) #��� $��$ #� �$ �� �� �������) ���E ��
��22� ���2��3���� 3�� �� '�� �E '��$� ��� '�2#����$�� '�2#��2��$� ��� ���$ $��4��$��
��$�� ����� �� $�� $� �� �� 2<2� 2�� 1��) �� 4���#��$ ��� '�2#����$�� ?	'����+��) �$ ��
�$ � ���$ �� 2<2� $0#� �� '���$��'$ �� ��� '(�'�� ��� ���'� � �� ��;� �!6 �

"�2��3���� 3�� '� ��22� ���$� *�� #��� ��� ��4 �� (�2��2��#(� �� #��� $����) ��
�$ � ���$ �� 2<2� ��2���$��$ �� ��� ��4 �� ��� ����� #�� �� '�2#����$� �+$�� ����) $��$��
��� '�2#����$�� '�2#��2��$� ��� �$��$ ��� $����!6 ���� �� ���� ���� �� ��22� #��� 4������
�� *��$ 9

����� � +��
�
�������-  ����� R1 �� R2 ���� ������� )�
��
���)��� �� ������ ����
)�
��
���)�� * �� ���$�� �������		�
��� ����� �
��� %�
��������  ��� ϕ: ∆R1 → ∆R2

�� )�
��
���)��
� �� 	� ��������� �� R1 ���� 	� ��������� �� R2 $�� 
������� 	� ���� ��
��������� !	��� �	 ������ �� )�
��
���)��
� ϕ̃:R1 → R2 �� R1 ���� R2 ��	 $�� ϕ̃(p) = ϕ(p)
���� ���� ����� p �� 	� ��������� ∆R1�

)��
����	�

� � 
� ���4 $ ����� �##� '�$ �� � ��'$� �� ��22� #��'����$6 �� �8�$) �� $ D
�� � �3�� �*��$�����2��$ $���� ��$ ���$ ��� $���� ���$ ��� � �3���! (�2��2��#(� 7 R1 �$
�02�$� 3�� #�� ��##��$ 7 ���+� (�� L��$��6 �� $ ����� ψ : R1 → D �� (�2��2��#( �2� ��
R1 ���� D6 %� $$� 7 '�2#���� �*�' �� �02�$� � ���+� (�� L��$��) �� #��$ �� #��� ��##����
3�� ψ '�����*� �� ���� �� ��$�$ ��6

���� ������ ����� ���##� '�$ �� ξ: ∆D → ∆R2) ��;� � #�� ξ = ϕ ◦ ψ−16 ����� ξ ��$
�� (�2��2��#( �2� �� ∆D ���� ∆R2 3� '�����*� �� ���� �� ��$�$ �� �'��  � ���4 $ ��
�� '�2#���� �� ���+ $��� (�2��2��#( �2��!6 �� �� ���� $ 3�� R2) D �$ ξ *�� ;��$ ���
(0#�$(1��� �� ��22� #��'����$6 �� #��$ ���' �$����� ξ �� �� (�2��2��#( �2� ξ̃:D → R2

$�� 3�� ξ̃(p) = ξ(p) #��� $��$ #� �$ p �� �� ����$ 1�� ∆D6


� ��N$ ����� �� #���� ϕ̃ = ξ̃ ◦ ψ6 ����� ϕ̃ ��$ � �� �� (�2��2��#( �2� �� R1 ���� R26
,� #���) #��� $��$ #� �$ p �� �� ����$ 1�� ∆R1) �� � ψ(p) ∈ ∆D) ���' ξ̃(ψ(p)) = ξ(ψ(p)) =
ϕ ◦ ψ−1(ψ(p)) = ϕ(p)6 �� � ���' � �� ϕ̃(p) = ϕ(p) �� $��$ #� �$ �� �� ����$ 1�� ∆R16 �

���� #��*��� ����� ��;� ����'�� ��$�� $(���12� 9
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� ��2���$��$ �� ��$  22�� �$�) ���#�1� �� ��22� �� #�����4�2��$6
�� $ �� �8�$ �� ���2��$ �$��'$���� R1 �� I16 ��$��� R2 = ψ(R1) ���  2�4� #�� ψ6 ,��#�1�
��(0#�$(1�� @ �� $(���12�) �� � ∆R2 = ϕ(∆R1)6 �� �� ���� $ 3�� R1 �$ R2 ��$ �� 2<2�
��2��� �� '�2#����$�� '�2#��2��$� ��� �$ 3�� '�� ���� 1��� ��$ ��� 2<2�� #��#� �$�� ��
'����+ $� ��$�� �����6 ��$��2��$ � $) R1 �$ R2 ���$ (�2��2��#(��6


� ��$ ���' #��� ��� ���$ � ��� �� ��22� �� #�����4�2��$ ��$�� ��� ��4 ��� R1 �$ R2)
�� #�����$ '�22� (�2��2��#( �2� ��� ����$ 1��� �� ���$� '$ �� 7 ∆R1 �� ϕ6 ,��#�1� ��
��22�)  � �+ �$� �� (�2��2��#( �2� ϕ̃R:R1 → R2 �� R1 ���� R2) ���$ �� ���$� '$ �� 7
∆R1 '�S�' �� �*�' ϕ6 ��$��� ����� 3�� #��� $��$ #� �$ p �� �� ����$ 1�� �� I1) � R �$ R′

���$ ���+ ���2��$� �$��'$�����  �' ���$� 7 p) �� � ϕ̃R(p) = ϕ(p) = ϕ̃R′(p)6 ��� '����3���$)
�� ���'$ �� 9

ϕ̃:
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2 → R
2

p 	→ ϕ̃R(p)) �E R ��$ �� ���2��$ �$��'$����  �' ���$ 7 p

��$ � �� ��;� � �$��$ #� �$  �$�� ��� 7 �� ���2��$ �$��'$���� R) ��� 3�� R #��� ���� ���2��$
�$��'$����  �' ���$) �$ ��� $��$ #� �$ p �� �� ����$ 1��) ϕ̃R(p) �� ��#��� #�� �� '(� + ��
�����2��$ �$��'$���� R  �' ���$ 7 p!6 �� ���$� '$ �� ��� '(�'�� R) �E R ��$ �� ���2��$
�$��'$���� �� I1) ��$ �� (�2��2��#( �2� �� R *��� ψ(R)6 �� ��� ���2��$� �$��'$�����
�����  2�4� ���$ �� ��2��� ;� ) �$ �� ���� �� �� ���� ��(����'� '��*�� R

2 $��$ ��$ ��6 ��
�� ���� $ ���' 3�� ϕ̃ ��$ �� (�2��2��#( �2� �� R

2 ���� R
2) �$ *�� ;� � �� ��� #��#� �$��

�� $(���12�6 �
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� �� ) #��� ��#�����$�� �� $�#���4 � �����  2�4�)  � ���� ���$ 7 �� �� � #��*� � '���'	
$�� ��� ��� ��4 ��� �$ ���� ��������6 ���� ��22�� ���' $��$�� �� �$���� ��) ���� �� ��#��	
���$�$ �� �$��'$������ �����  2�4�) �$ ���� �� ��#�����$�$ �� �$��'$���� 3� �� ��'� $) ���
#� �$� �� ��''���� ��� ����$ 1��� �'���$ 7 � �� ��� #� �$�) �� ��2��� ;� ) ��� ����$ 1��� ��$��
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���+ ��4 ��� 3� �� ���$ #�� ��� #� �$� �� �	'����+ $� �$� '$� #��� '�� ��4 ���!) � �� 3��
��� ��'� 3� ��� ��$ '�� #� �$� ��7 ��'���)  � ��0 �� � 3���� ��2��� ;� !6 ���� ��#�����$��
��� ���'��� �'�2#����� �� 3��2��$ �� #� �$� �� �	'����+ $� �$� '$�!) ���� '��� ������ ��
#� �$ ��� $�� ��2��$ ��� '�� ���� 1���) �$ ����' ���2� 3� ��� � '� #� �$ 7 �� 2<2�6 &�� $����
��#�����$�$ �� ���� �##���� ��#�����$�$ �� #�� �� 
���	� ���
�	����	) �� ��$ �� �� ���
�	
�� ���$ �������'� ��+ ��4 ���) �$ '���� �� ���	 ��+ ����$ 1��� ��$�� ��� ��4 ��� ���'� �$ #� �$�
�� ��''���!6

���� '��� �������� ���' '�22� ���2��$� �$��'$����� ������2��� R ∪ P ∪ F ) �E R ��$
������2��� ��� ��4 ��� �� �� 2�4�) P ��$ ������2��� ��� #� �$� �� ��''���� ��$ ��� #� �$�
��� $�� ��� '(� � � ��� '(�3�� ���'��!) �$ F ������2��� ��� ��'� 3� '���$ $���$ ��� ����$ 1���
��� ��4 ��� �� �� 2�4�6 ,� #���) ���� �=��$��� ���+ #��#� �$�� 7 ������2��� ��� #��#� �$��
�$��'$������� '(� � �� #��� ��#�����$�� �� 2�4� 9

M 
� #��#� �$� � $� �� ��	����� ���	�) 3� � � '(�3�� ���2��$ �� F ��+ ���+ ��4 ��� 3� 
���$ �	��=�'��$�� ����� F 6

M 
� #��#� �$� �� '����'$ �� �� �� ����$ 1��) 3� � � '(�3�� #� �$ �� P ��+ ��'� �� F
3� �� ���$  �' ���$�6

��$��� 3�� �� #��#� �$� �� �	��=�'��'� ��$�� ��� ��4 ��� ��$  ��� $� #�� �� ����$ �� �����6
����$ 2<2� ���� �� '�� #��� ������� �� �	��=�'��'�6 ��#�����$) ��� ��#�����$�$ �� #��
'��#�� #� 2��	���� �����  2�4� �� '��$����$ 3�� ��� ���+ #��#� �$��  2#����� ' 	������
�� ��N$ #�� 7 ��#�����$�� ������2��� ��� #��#� �$�� $�#���4 3��� �����  2�4�6

�� ��*��'(�) �� $(���12� #��'����$ ���� #��2�$ ���N�2�� 3�� �� $�#���4 � ��$ ��$ 1	
��2��$ ��#�����$�� � ���� �=��$� ��� ���+ #��#� �$�� �� *��$�� 9

M &�� #��#� �$�  ���$ ;��$ �� ���� �� �� 2�4�) '���$ 7 � �� �� ����� ��4 �� ��� ������6
M &�� #��#� �$� #��2�$$��$ �� '���'$�� ��� ���� ��$�$ �� ��� ��'�6 
� ���+ �$� '�#�����$

#�� ���� ��$�$ �� '���� 3��) �� 2<2� ��' �##��$����$ 7 �� ������� �� ���+ ��4 ���)
 � �##��$ ��$ 7 ���+ '0'��� �� ���� �##����6 &�� ����$ �� '��� �$� 7 �������� ���
��'�  ���� ���� #� �$ �� P ����� �� ���� �� ��$�$ �� � ��'$ '(� � 7 ���*��'�6 ����$
��� #��#� �$� $���� ��) �#����$ ��� �� #� �$ �� P �$ ���+ ��'� �� F ) �� #����$ #��
�+�2#�� π(p, f1, f2) = 1 � f1 �$ f2 ���$ ���+ ��'�  ���� �� p �$ $�� 3�� f2 �� $ ��
��''������ �� f1 ���� �� '0'�� �� #��'���� ��� ��'�  ���� �� p) �$ π(p, f1, f2) = 0
� ���6

��$$� ���+ 12� #��#� �$� #��$ <$�� � 2#��2��$ ��#�����$�� �� ����' ��$ 7 '(�3�� #� �$ p
�� P ������2��� ������� ��� ��'�  �' ���$� 7 p6

1��
�� �	�� Z
2

�� #��$ 3��) ���� ������ ���*��$ $��*� ���� ��� ���  2�4�� �� Z
2) '���$ 7 � �� �� ����

����2��� #��$ '�� �� �� ������2��� ���  2�4�� �� R
26 &�� #��#� �$�  �$�������$� �� '��

 2�4�� ��$ 3�� ��� ����$ 1��� ���$ $��=���� ��� ��42��$� (�� L��$��+ �� *��$ '��+6 ���� 
���$��� �� �� ����$ 1�� ���� $���*� '��� �������2��$ � 2#� ;��6

� �� ) �� � �� ��� '�� #�����$�� ���� �� ;4��� �6?) ���� ���*��� #��� 3�� ��� '�� ��#�����	
$�� #�� �� ;4��� �6>@6 �� #��$ '�� ��) �� ��2��� ����'�  ���� ���� #� �$ ���� �� ��#�����$�$ ��
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26

����� ��$ �� #��� �4�� 7 46 ���� '�� '��� $ ���)  � ��$ #��� ��� �� ��$��2 ��� �� *� � ��4�
������� �� ������� ��� ��'� ��$��� ���� #� �$ �� �� ����$ 1�� ����  ����2�$ �� ��##��2��	
$� ��) 2<2� �� � ����$ #�� � ��'$�2��$ #��� ��� �� � �$ �4��� ��� ���+ ���� '���� 3��� ��
��$�$ ��6


� ��#�����$�$ �� ����� ���� �� '�� ���  2�4�� �� Z
2 ���� ����� ���' #��� �� ����2�$ ��

3�� ���� �� '�� ���  2�4�� �� R
2) 2� � �� ��N$ #�� #��� ��#�����$�� ������2��� �� ��

$�#���4 �6 �� ��*��'(�) #��$:$ 3�� �� ��#�����$�� ������2��� ��� '0'��� �������� #���
��$�� � ��� ��#�����$�$ �� '�2#�1$�) �� #��$ �� '��$��$�� �� ��#�����$�� '�� '0'��� ��
��F��  �'�2#�1$�) �� �� �� 3���$ #�� �+�2#�� 3�� ��� ���+ #��2 ��� ���2��$� �� '(�3��
'0'��) �� ��F�� 7 #��*� � � �$ �4��� �� ���� � ��'$ �� ����  �� ��'$6
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�����  2�4�) �$ ���� �*��� �$�� � '��$� ��� #��#� �$�� $�#���4 3��� ���  2�4��6 ���� ������
2� �$����$ 2��$��� '�22��$ �$ � ��� ��� 4��#(�� #��� ��;� � ��� ��#�����$�$ �� �$��'	
$������ #��2�$$��$ �� ��#�����$�� ��� #��$ �) �� 2<2� ���� '��$� �� '�� �� $�$�� $�) ���
#��#� �$�� $�#���4 3��� �����  2�4�6
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�*��$ �� #�����$�� ��� ��#�����$�$ ��� 7 ���� �� 4��#(��) '�22��F��� #�� ��;� � '�
3�� ���� �##����� 4��#(�) �$ #�� #�����$�� 3���3��� ���� ��� ��$ ��� 3� ���� �����$ �$ ���
#�� �� �� $�6
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� �# +5�	� �- �� ����		� ����)� 	� ����� G = (V, E)� �. V ��� �� ����
�	�
��� ��� ���� �����
�	� ��� ��

��� �� G�� �� E ��� ��� ������ �� V × V �����
�	� ���
��5��� �� G�� /��� ����� ��5�� e = (v1, v2) ∈ E � ���� ������ $�� v1 ��� 	�������� �� e �� v2
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� �� ) �� 4��#(� ��;� $ ��� ����$ �� � �� �� ��� �� ����2���) �##��� ����2��� �� ��2	
2�$�6 ���� #������� ���' �$ � ��� �� 4��#(� #��� ��#�����$�� ��� $���� #��#� �$� �����
 2�4�) ��  ���$ ;��$ ��� ��22�$� ��+ ���2��$� �$��'$����� �� '�$$� ���� 1��6 ,��� �� '��
�E �� ����$ �� 3�� ���� ���(� $� ��#�����$�� ��$ �02�$� 3��) ���� �$ � ������ 4�������2��$
#��$:$ �� ��$ �� �� *��$� 9
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�	� ���
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&� 4��#(� ��� �� ��$� ��$ ���' �3� *����$ 7 �� 4��#(� �� ��$� ����	���'��) ���� ��3���
��� ���+ G ���� H ����� ��<$� �� ���$ #�� � �$ �4��� ����� � (v1, v2) ∈ E ) ����� (v2, v1) ∈ E!6

� ;4��� @6> ����� �� �+�2#�� �� 4��#(� �$ �� 4��#(� ��� �� ��$� '���$ $�� ��� 2<2��
��22�$� �$ *�� ;��$ ��� 2<2�� #��#� �$�� ����=�'��'� �'���$ 7 � �� 3�� #��� $��$ ��' �� ��$�
(a, b) ���� �� #��2 �� 4��#(�)  � �+ �$� �� ��' ���	�� ��$� {a, b} ���� �� ��'���!6

��$��� 3�� �������'� �� ���'�� ���� �� 4��#(� ���	�� ��$� �� =��$ ;� ��$��$ ���� #� �$
�� *�� 2�$(�2�$ 3�� 3�� ���� #� �$ �� *�� #��$ 3��) #�� �+�2#�� ���� �� '���� �� ���$���
���  2�4��6 /�$(�2�$ 3��2��$) '��� #��2�$ �� '��� ����� 3�� ������2��� ��� ��<$�� ��$
� �� �� 3��2��$ '���$ $�� �� #��$ �� �� V �� '��� ��� �6 �� #��$ 3��) �� $�� 4��#(� ��$
4�������2��$ �$ � �� #��� ��#�����$�� ��� #��#� �$�� $���� 3�� ����=�'��'�) #��� ���3������
��� ���'��� ������ ��$ #�� ������2��$ �� ����) �� '��$�� �� ��� 4��#(�� �� ��$�� 3� ���$)
��$�� ��$���) �$ � ��� #��� ��#�����$�� ��� $���� $ ��� ��$�� ���� ���$�$�6

��#�����$) ���� �$������� $��$ �� 2<2� �� ��$ �� �� 4��#(� �� ��$� �� ��$�� ���$ ���
���'���) '�� ����� ���� #��2�$$���$) �� #��� ��� ����$ ��� � �� ��� ��$�� ���2��$� �$��'$�����
�����  2�4�) �� ��;� � ��� #��#� �$�  �$���� ��� '(�3�� ��4 ��6 ��$��� $��$��� � 3�� ���
���'��� �$ ��� ��<$�� G �$������ H ��#�����$����$ ���' ��� ��$ ��� ����$ *�2��$ � 8����$��)
�$ 3�� ���� �$ � ��$ �� ����$ ���' 3�� #���2��$ �$ � $� ��6

����� �)  � ���� ��� *��� �� *���� � ��#�����$�� ��� ����$ �� ��2�� 3�� ��$�� ���+ ��	
4 ���) '�22� #�� �+�2#�� ������� �� '����+ $�6 ���� '���) ���� #������� �$ � ��� �� 2��	
$ 4��#(� 9

)�*�
�

� �( �� ����		� 
�	������)� 	� ����� Gm = (V, Em)� �. V ��� �� ����
�	� ���
��� ���� �� ��

���� �� Em ��� �� 
�	�������
�	� �
���� * ���� �� ����
�	� �������

������� �	������� ���� 	� 
5
� �	�
���� �� ������� �� 
������	 2 �� V� /��� ����� ��5��
e ∈ Em� �� ����		� ����� �� e� ���� ω(e) 	� ��
��� ���

�����
�� �� e ���� 	�����
�	� ���
��5����

�� #��$ ���� *� � �� 2��$ 4��#(� '�22� �$��$ �� ������ ���� 4��#(� ��� �� ��$�
G = (V, E) �$ ����� �##� '�$ �� ω: E → N

∗) 3� 7 '(�3�� ��<$� ����' � ��� ����� ���� ��
2��$ 4��#(�6 ��$��� 3�� �� ��;� $ �� ���� 2��$ 4��#(�  2#��� 3�� � �� $ ��� �� ��$�6
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���� @6� M �+�2#�� �� '��#�� #� 2��	���� �� 4��#(��) ��� ��22�$� �� 4��#(� ���� ���$
2��3��� #�� ��� '�����) �$ ��� ��<$�� ���$ �� #� �$ ���� ���� ��<$� �� 4��#(� ���� '�����#���
7 ����<$� �� 4��#(� #� 2�� 3������  �$����'$�!

,� 2<2�) ���� *������� ����� #��� �� � ���� �� '���'$�� ��$ �� ��� ��4 ���) #�� �+�2#��
�� ��#�����$��$ ��� � 8����$� '0'��� �� *� � ��4� ����� ��4 ��6 ���� '���) ���� �$ � ������
��� �$��'$��� #��$ '�� 1��) 3�� ���� �##�������� ����)� ������� 9

)�*�
�

� �3 �� ����		� ����)� ������� 	� ����	�� Go = (V, Em,S)� �. (V, Em) ��� ��

�	������)�� �� �. S = {s1, . . . , sn} �� ����
�	� �� 
�
	�� ���	�
���� �� Em 
������������
* 
)�
�� ��� ��

��� �� ����)�� /	�� ���
�		�
���� S ���� 5��� ��	 $���	 ������ ��� ��(�
����
σ:V → S ��		� $�� σ(n) ���� �� 
�
	� �� 	�����
�	� {e ∈ Em : e ��� ��
����� * n}� ����
���� ��

�� n �� V�

��;�) ���� #������� ���� �+#� 2�� ��� #��#� �$�� ����� ��#�����$�$ �� #�� '��#��
#� 2��	���� 7 ��� �� ���� '��#�� #� 2��	���� �� 4��#(�� ��� ��$��$ P2(E) ������2��� ���
#��$ �� �� E #�������$ �+�'$�2��$ ���+ ���2��$�! 9

)�*�
�

� �� �� ����		� 
���	� ���
�	����	 �� ����)�� 	� $������	�� " C = (Vp,Vd, Ep, ψ)�
�. Gp = (Vp, Ep) ��� �� 
�	������)� ����	� ����)� ���
�	� ψ:P2(Vp) → P2(Vd) ��� ���
��(�
���� ����	�� ��	����� ���	�� �� Gd = (Vd, ψ(Ep)) ��� �� 
�	������)� ����	� ����)� ���	�

&� '��#�� #� 2��	���� �� 4��#(�� '�����#��� ���' 7 �� ������ �� ���+ 2��$ 4��#(��
(Vp, Ep) �$ (Vd, Ed) �0��$ �� 2<2� ��2��� ����<$��) �$ ����� � =�'$ �� �� Ep *��� Ed �'�$$�
� =�'$ �� #��*��$ ��' ��2��$ <$�� #�����4�� �� ��� � =�'$ �� �� P2(Vp) *��� P2(Vd) #���
<$�� '�����2� 7 �� ��;� $ �� #��'����$�!6 ,��� �� '�� �E �� #��� �� 4��#(� ���� ��$ �������)
�� � �� 3�� �� '��#�� #� 2��	���� ��$ �������6 
� ;4��� @6� #�����$� �� �+�2#�� �� '��#��
#� 2��	���� �� 4��#(��6

����� �������� 	

�
	� ��� ��� �������

���� ������ 2� �$����$ #�����$�� 3���3��� ��$ ��� �$ #��#� �$�� ��� ��� 4��#(�� 3� 
���� �����$ �$ ��� ���� �� �� $� �� ���+#��� 9
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�

� �� +�
��4��	� �-  ����� G = (V, E)� �� G′ = (V ′, E ′) ���� ����)��� +���
������ $�� G′ ��� �� ���������)� �� G �� V ′ ⊂ V �� E ′ ⊂ E �

�� #��$ '�� ��) � G = (V, E) �� 4��#(�) �$ V ′ ⊂ V ��$ ��� #��$ � �� V) �� #��$ '���$�� ��
�� ���� 4��#(� G′ = (V ′, E ′) �� G 2�+ 2�� �� ���� �� �� �'��� �� ��� ������2��� ��� ��<$��
���$ ������2��� �� ��22�$� ��$ �4�� 7 V ′) �� #����$ E ′ = {(v1, v2) ∈ E : v1 ∈ V ′ �$ v2 ∈ V ′}6
�� 4��#(� ���� �##��� ����)� �������� #�� V ′6


� ��$ �� �� ����	4��#(� ���$��� � ��2��$ ��+ � 8����$� $0#�� �� 4��#(�� �$�� �� ����
�� ��'$ �� #��'����$�) �� �� ��F�� �� *��$� 9

5�	� � �
�4
�
���� � 
� ��;� $ �� #��'����$� ���##� 3�� $���� 3������6

6���
��	� � � 
� ��;� $ �� #��'����$� ���##� 3�� $���� 3������ �� '��� �����$ �� 2��$ 	
����2��� ��� ��<$��6 � ���� �$ � �� #��$:$ �� ����2��� � 2#�� ����<$�� �$ ��� ���'$ ��
 �� 3���$ �������)  � ���$ 3�� ������� �� '(�3�� ��<$� �� $  ���� ��� 7 ������� �� ����<$�
'�����#�����$ ���� �� 4��#(� ���� 4 ��6

6���
��	� � 
��
��� � 
� ��;� $ �� ��$ �� 2<2� 3�� ���� �� '�� ���� 2��$ 4��#(�
� 2#��) ��� '0'��� ����<$�� '�����#�����$ ����� 7 �� ���$� '$ �� ��� '0'��� �� 4��#(�
���� 4 �� ��+ ��<$�� �� ����	4��#(�6

'
���� ��
�	�4��	� � &� '��#�� #� 2��	���� C′ ��$ �� ����	'��#�� #� 2��	���� �� C � 
�$ �����2��$ � �� 4��#(� #� 2�� �� '��#�� C′ ��$ �� ����	4��#(� �� 4��#(� #� 2�� ��
'��#�� C �$ �� 4��#(� ���� �� '��#�� C′ ��$ �� ����	4��#(� �� 4��#(� ���� �� '��#��
C6

)�*�
�

� �� +' ��
��-  ��� G = (V, E) �� ����)�� �� vi� vf ∈ V ���� ��

��� ��

� �������� �� ����		� 
)�
�� ��������� vi �� �������
��� vf ��� 
)�
�� �� vi * vf � ��
	������� n ����� ��$���
� v0, . . . , vn �� ��

��� ��		� $�� v0 = vi� vn = vf � �� ���� ����
j ∈ [[0, n− 1]] �� ��� (vj , vj+1) ∈ E �

��$$� ��;� $ �� ���##� 3�� #��� ������2��� ��� $0#�� �� 4��#(�� #�����$�� ���� �� ��'	
$ �� #��'����$�6

���� � ���� 3�� vi ��$ ��� � 7 vf �� � �+ �$� �� '(�2 � ��$�� vi �$ vf 6 � $��$ ��22�$
���� 4��#(� ��$ ��� � 7 $��$ ��$�� ��22�$) ���� � ���� 3�� �� 4��#(� ��$ ���$�2��$ '����+�6
,��� �� '�� ���� 4��#(� ��� �� ��$�) ���� � ���� � 2#��2��$ 3�� �� 4��#(� ��$ '����+�6

)�*�
�

� �! +'
��
�	���� �
���0��-  ��� G = (V, E) ��� �������� �� v ∈ V ��
��

�� �� G� �� ����		� 
�
������� 
������ �� v ���� G 	� ���� ����)� �������� ���
	�����
�	� ��� ��

��� ��	��� * v� �� ������ C(G) 	�����
�	� ��� 
�
�������� 
�������
���� ����)��

�� ���� $ � ��2��$ �� '�$$� ��;� $ �� 3�� ��� '�2#����$�� '����+�� ���� 4��#(� ���
�� ��$� G ���$ ��� ����	4��#(�� '����+��6 �� 2��$�� �� #��� 3�� � ���4 $ ��� ����	4��#(��
'����+�� 2�+ 2��+ ��� ���� �� �� �'��� �� ��� ������2��� ��� ��22�$�!) �$ $��$ ��22�$
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�##��$ ��$ 7 ��� �$ ��� ����� ��� '�2#����$�� '����+�� �'��� �� ���� $ �� �� $ 3�� ��
����$ �� G <$�� ��� � 7 H ���� �� 4��#(� ��� �� ��$� ��$ ��� ����$ �� ���3� *����'� ���
������2��� ��� ��22�$�) �$ 3�� ��� '�2#����$�� '����+�� ���$ ��� 4��#(�� ��4������ #��
'������ ���3� *����'� �� '�$$� ����$ ��!6

,��� �� '�� ���� 4��#(� �� ��$�) ��� '�2#����$�� '����+�� �� ���$ #�� � �� ��;� ��)
�� ����$ �� G <$�� ��� � 7 H ���$��$ #��� ��� ����$ �� ���3� *����'�6 �� �$ � �� ���' #��$:$
�� ��$ �� �� '�2#����$�� ���$�2��$ '����+��) ��;� � 7 #��$ � �� �� '����+ $� ���$�) �� ���
'�2#����$�� '����+�� �� 4��#(� ���	�� ��$�  ��� $6 ��$��� 3�� ���� �� '�� ��� ��$��� $0#��
�� 4��#(�� #�����$�� �2��$ 4��#(� �$ 4��#(� �������!) ��� 2<2�� ��2��3��� ���##� 3���$
����� 3�� �� 4��#(� ��$ �� ��$� �� ���6

)�*�
�

� �� +��
�
�� 
��� �� ��	� ��-  ����� G1 = (V1, E1) �� G2 = (V2, E2) ����
����)���  ��� �	��� ϕ : V1 → V2 ��� ���	�
����� ��(�
����� ��		� $�� ���� ����� ��5�� e =
(n1, n2) ∈ E1� �� ��� (ϕ(n1), ϕ(n2)) ∈ E2 ����� ��
�	���� 	�� ���������� �� ������ ��� 	�
����� ϕ(e) = (ϕ(n1), ϕ(n2))� !	��� �� ��� $�� ϕ ��� �� ���
���)��
� �� G1 ��� G2� '�� ����
����)�� ���� �	��� ��� ���
���)���


� ��$ �� �� ��2��#( �2� *� ���� #��2�$$�� �� 2�$$�� �� '�����#�����'� �$ �� ���$ ;��
���+ 4��#(��6 ��$$� ��$ �� ���$��� ��+ � 8����$� $0#�� �� 4��#(�� 9 ϕ �� $ ����� '�����*��
��� � 8����$�� #��#� �$�� �� '�� ���� ��� ���<$�� 2��$ #���) ����� ��� ��<$��! 9
5�	� � �
�4
�
���� � 
� ��;� $ �� #��'����$� ���##� 3�� $���� 3������6
6���
��	� � � 
� ��;� $ �� #��'����$� ���##� 3�� $���� 3������ �� '��� �����$ �� 2��$ 	

����2��� ��� ��<$��6 � ���� �$ � �� #��$:$ �� ����2��� � 2#�� ����<$� �$ ��� ���'$ ��
 �� 3���$ �������)  � ���$ 3�� #��� $��$� ��<$� e ∈ E1 �� � $ �� #��� ω(ϕ(e)) = ω(e)6

6���
��	� � 
��
��� � 
� ��;� $ �� ��$ �� 2<2� 3�� ���� �� '�� ���� 2��$ 4��#(�
� 2#��) �*�' �� #��� �� '��� $ �� 3�� ϕ '�����*� ��� '0'���) '���$ 7 � �� 3�� #���
$��$ '0'�� s = (e1, . . . , ek) ∈ S1 �� 4��#(�) (ϕ(e1), . . . , ϕ(ek)) �� $ �� '0'�� �� S2 �$
��' #��3��2��$) $��$ '0'�� �� S2 ��$ �� 2�4� ��' #��3�� ���� '0'�� �� S16

'
���� ��
�	�4��	� � &�  ��2��#( �2� �� '��#��	#� 2�� ���� ��$ ��  ��2��#( �2� ��
�� ���� �� �� ������2��� ��� ��22�$� �� 4��#(� #� 2�� �*�' '��� ��� ��22�$� ��
4��#(� ����) �$ $�� 3�� �� ���$� '$ �� ��+ ��22�$� �� 4��#(� #� 2�� �� $ ��  ��	
2��#( �2� �� 4��#(�� �$ �� ���$� '$ �� ��+ ��22�$� �� 4��#(� ���� �� $ ���� ��
 ��2��#( �2� �� 4��#(��6

����� ������ ���� ���	�� ������

���� ������ 2� �$����$ #��#���� ��� ��#�����$�$ �� �$��'$������ �$ � ����� #��� ���
 2�4�� �� Z

2 ��� �� $) '��� ���##� 3�� ���� ��+  2�4�� �� R
2! �� �$ � ���$ �� 4��#(� ���

�� ��$�) � $ G 4��#(� ����=�'��'� H6 
� ���4 $ �� ���� ��� #��2 ��� 2��1��� �� ��#�����$�$ ��
�� 2�4�� ��42��$��� O55P6

�� $ I = (R, σ) ���  2�4�6 �� $ 2� �$����$ V = {v1, . . . , vn} �� ����2��� �� n ���2��$�)
�E n = |R|6 �� �� ����� ��� � =�'$ �� fI �� V *��� R) �$ ���� � ���� 3�� �� ��22�$
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2�4� �������

���� @6@ M -��#(�� ����=�'��'� ��� ;4���� �6> �$ �6�) �E �� ��22�$ B ��#�����$� �� ����6

v ∈ V ��#�����$� �� ��4 �� fI(v)6 ��� ���� �� ��$�$ ��) ���� ��$����� σ(v) = σ(fI(v)) ��
�02���� ����' � 7 �� ��4 �� ��#�����$�� #�� v) �$ #��� 4�������2��$) ����  ���$ ;����� v 7
�� ��4 �� fI(v)6

���� ���� #��#����� 2� �$����$ �� ��#�����$�� ����=�'��'� ��$�� '(�3�� ��4 ��) ��
2�� ����$ V �� �� �$��'$��� �� 4��#(� ��� �� ��$� �� *��$� 9 GI = (V, E)) �E E = {{v1, v2} :
f(v1) ��$ �	��=�'��$� 7 f(v2) �$ v1 �= v2}6 �� 4��#(� ��$ � �� ��;� ) '�� �� ����$ �� G <$��
��=�'��$ 7 H ��$ �02�$� 3��6 
� 4��#(� 3�� ���� �* ��� #�����$� 7 �� ;4��� �6> ����
��$��  �$����'$ ��  ����2���� �$� $ ���' #��$ 3��2��$ �� 4��#(� ����=�'��'�6 ���� �* ���
*� 3�� � ���$� $ #�� ��N���$ #��� ���� ������ ��� ��#�����$�$ �� G ;���� H �� �� 2�4�6
���� �$� $ �T �� �� $ 3�� ���� �* ���  �$��$ �������2��$ G ���� � H �� �'���� �� ��22�$
#��� ��#�����$�� �� ���� �� �� 2�4�6 � ���� '��� �1�� 2� �$����$ �� G *�� $���� H 4��#(�
����=�'��'�) ��� ���+ ;4���� 3�� ���� �* ��� #�����$��� ���� ��$��  �$����'$ �� ��* �����$
#���� $�2��$ � 8����$ �����) '�22� �� 2��$�� �� ;4��� @6@6 ��$��� 3�� GI '�����#��� 7
�� ��#�����$�$ �� �$��'$���� (V, P, σ) �����  2�4�) �*�' P ��;� '�22� �$��$ �� � �4��$��
'���$ $�� �� �� #��#� �$� G <$�� �	��=�'��$ H6


� �����$�$ �� *��$ *� ���� #��2�$$�� �� 2��$��� 3�� ���� #��$ ��$���*�� ��� '�2#�	
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���$�� '�2#��2��$� ��� �� '(�'��� ��� ��4 ���) �$��$ ������ �� '���� ����'� ���� 4��#(�
����=�'��'� ��#�����$��$ �� 2�4� 9

����� �  ��� I ��� �
���� �� R1, . . . , Rn �� ����
�	� ���	�
���� ����
����	� �� 
����
�
��� �	� ���� ���� �� ����� �������� +����� v1, . . . , vn 	�� ��

��� 
������������ ����
����)� ����(�
��
� GI ������������ I�

!	���
⋃

1�i�nRi ��� 
������ �� �� ���	�
��� �� 	� ���������)� �� G �������� ��� {vi :
1 � i � n} ��� 
�������

)��
����	�

� � ��##����� 3�� �� ����	4��#(� G′ �� G ��4����� #�� {vi : 1 � i � n}
��$ '����+�6 �� $ ����� p1 �$ p2 ∈ R =

⋃
1�i�nRi) �$ 2��$���� 3�� p1 ��$ ��� � 7 p2 ���� R6

� p1 �$ p2 ���$ ���� �� 2<2� ��4 ��) �� �����$�$ ��$ �* ���$) � ���) ��##����� #�� �+�2#��
p1 ∈ R1 �$ p2 ∈ R26

��22� G′ ��$ '����+�) �$ v1 �$ v2 ���$ ��� ��22�$� �� G′)  � �+ �$� �� '(�2 � �� v1 7
v2 '���$ $�� �� 3��2��$ �� ��22�$� �� G′) '���$ 7 � �� �� ����	��4 ��� �� R6 ���� �*���
���' $���*� ��� �� $� �� ��4 ���  �'����� ���� R �$ �	��=�'��$�� �� #��'(� �� #��'(�6 
�
���� �� �� '�� ��4 ��� ��$ ���' '����+�6 ,� #��� p1 �##��$ ��$ 7 �� #��2 1�� �$ p2 7 ��
���� 1��) ���' p1 �$ p2 ���$ � �� ��� �� ���� R6


� ��' #��3�� �� �� $ �� 2�� 1�� � 2 �� �� ��$��$ ������ ���+ ��22�$� �� G′) �� '(� � $
�� #� �$ ���� '(�'��� ��� ��4 ��� 3�� �� ��#�����$��$) �$ ���� '��� �1�� �� '(�2 � ��$��
'�� #� �$�6 
� ��3���'� ��� ��4 ��� $��*������ #�� '� '(�2 � ���� ����� ����� �� '(�2 �
���� G′) ���E �� '����+ $� �� '� ���� ��!6

���� #��*��� �� #��$ '�� �� ���� �� �� '� ��22� �� $(���12� �� *��$ 9

� �
�%�� 2  ��� I ��� �
���� G = (V, E) 	� ����)� ����(�
��
� ������������ 	� ����
����
�� I �� V ⊂ V �� ����
�	� ��� ���� �� ��

��� �� G� !	��� 	�� 
�
�������� 
�
�	�
���
������ �� 	� ������ ����������� ��� V �	� ������� ��� ������� ������������ ��� 
)�
�� ���
�	�
���� �� V � ���� 	�� ������� ������������ ��� 	�� 
�
�������� 
������� �� ����)� G′
�������� ��� V \ V �

�� �##���� 4��#(� '�2#��2��$� �� �� V �� ����	4��#(� ��4����� #�� V \ V ) �$ '�2#�	
���$�� '�2#��2��$� ��� �� V ��� '�2#����$�� '����+��6 
� $(���12� ���� � $ ���' 3��
��� '�2#����$�� '�2#��2��$� ��� �� V ��#�����$��$ ��� '�2#����$�� '�2#��2��$� ��� ���
��4 ��� ��#�����$��� #�� V 6 
� ��$ ���' #��� ��� �� ��$��2 ��� �� ��2��� �� '�2#����$��
'�2#��2��$� ��� ����� �� �� 3���'��3�� �� ��4 ��� 7 #��$ � �� 4��#(� ����=�'��'� ��
�� 2�4� �� 3��2��$6

����  2#� 3�� �� #��$ '�� �� 3�� ���� ��22�� '�#����� �� '��'���� ������� �� ?	��=�'��'�
�� '(�'��� ��� ��4 ���) � �� 3�� ���� �� �� $ #�� '�#���� �� � 8����' �� ��� ��4 ��� ���$
������� �� ?	��=�'��'� ��$ �4�� 7 > ��� ��4 ��� 3� �� ���$ #�� ?	��=�'��$�� ��� ����$���
$��2��)  � ����$ #�� #��� ��� �� ��$���*�� ��$ 1��2��$ ��� #��#� �$�� �� ?	��=�'��'� ��$��
��� ��4 ���!6 �� �8�$) �� $(���12� 5 �� ���� #��2�$ �� '��'���� ������� ����=�'��'� �� ���+
��4 ��� �� ���'$ �� �� ��2��� �� '�2#����$�� '�2#��2��$� ��� 3�� � ���� ��##��� 3��
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��� ���+ ��4 ��� ���$ ��=�'��$��6 � �� ) � ���� ��$ � �� '�#���� �� '��'���� ������� �� ?	
��=�'��'� �� ���+ ��4 ��� ?	��=�'��$��) �� �� #��$ $��$��� � #�� ��$��2 ��� � ���+ ��4 ���
3���'��3��� ���$ ?	��=�'��$��6

,� #���) � ���� ��$ '�#���� �� ���$ ;�� 3��� ��22�$ ��#�����$� �� ���� �� �� 2�4�) ��
��2��� �� $���� �$ �� ��2��� �� '�2#����$�� �+$�� ����� �� ���� ���$  22�� �$�2��$
�� ��2��� �� '�2#����$�� '�2#��2��$� ���6 /��(�������2��$) ���  ����2�$ ��� �� �	
'����+ $� ������ �� ��N���$ #�� 7 �*����� '�$$� #��#� �$�6 &�� ����$ �� '��� �$� 7 G 2��	
3��� H �� ����) �� $ �� �� ������$ �� �02���� #��$ '�� ��) �� $ �� �=��$��$ ��� ���'��
�� ��22�$ '�����#�����$ ���� �� 4��#(�6 � ��� ���+ �##��'(�� ���$ *�������) ���� �*���
'(� � �� ��'���� �'� 3� �� ���� �2#<'(��� #�� �*��$�����2��$ ���$ � ��� �� �02���� #��$ 	
'�� �� #��� �� ����!) '��  � ���4 $) ����� ����) �����  ����2�$ �� ����*��$ #��� �� �� �$��'$���
�� �� 2�4� 3�� �� ��� '��$���6

�� #��$ $��$��� � ��4��$$�� �� �� $ 3��) � �� 3�� ������� �� ?	��=�'��'� �� $ #���� $�2��$
��$��2 �����) ������� �� �	��=�'��'� �� �� �� $ #��) ����� 3��) #�� �� �$��2�� � �� �� 4��#(�
����=�'��'�) ���� '(��'(��� =��$�2��$ 7 ��#�����$�� ��� #��#� �$�� �� �	��=�'��'� ��$�� ���
��4 ���6 ,� #���) '��$� ��� #��#� �$�� $�#���4 3���  2#��$��$��) '�22� ��� � 8����$� '0'���
�� *� � ��4� �� ���$ #�� ��$��2 ������ #�� �� � 2#�� 4��#(� ����=�'��'�6 ��;�) 2<2� � 
���  ����2�$ ��� $����� 3�� ������� �� ?	��=�'��'� #��*��$ <$�� ��$���*���) '��� ��2����
��� ����0�� 4������ �� 4��#(� �� �� 2�4� ��#�����$�� ��$ ���� Z

2 $��$��� �) ��� ����0��
�� *� � ��4� 7 � �$��'� � ��$ ��N���$!6 ���� #��#����� ���� 3���3��� �+$��� ��� 7 '�$$�
��$ ��6

����! "��
������� ���� ���	��

���� #��#����� ���' ���� �� #��2 �� $�2#� �� ��#�����$�� � ��'$�2��$ ������� �� �	
��=�'��'� ��$�� ���+ ��4 ��� 7 ��� �� ���� 2��$ 4��#(� ����=�'��'�) '���$�� $ '�22� ��
4��#(� ����=�'��'� ���$ ������� ��� ��<$�� ��$ �4�� 7 ������� �� �	��=�'��'� ��$�� ��� ��4 ���6
�� $��2�� �� ��#�����$�$ �� �$��'$����) '��� ��* ��$ 7 ��=��$�� �� #��#� �$� G ����� �� �	
��=�'��'� H 7 ������2��� P ��� #��#� �$�� �� �� ��#�����$�$ �� #�� �� 4��#(� ����=�'��'�
� 2#��6


� �� ���4 $ '�#�����$ �7 3�� ����� ����$ �� G  �$��2�� � �� H6 �� �8�$) 2<2� � ����
� �''1� 7 ������� �� �	��=�'��'� ��$�� ���+ ��4 ��� 3���'��3���)  � ����$ #�� #��� ��� ��
��$��2 ��� ������� �� �	��=�'��'� ����� ���� �� �� ��4 ��� �*�' ��� ��$�� ��4 �� ��� ���
��$�� ���� �� �� ��4 ���!6 � �� ) �� 2��$ 4��#(� ����=�'��'� �� #��2�$ #�� ���$�� �� ��
����2��� �� ��4 ��� '�22� �� $��$) � 2<2� �� '���$�� �� �� 2��$ 4��#(� ����=�'��'�
��#�����$��$ �� 2�4� ��$���� �� ���� ����$ '��$� ��� ��� ��4 ��� �����  2�4�  � $ ��� ��#�	
��$ �� �� '��$��'$ �� 3�� ���� �$�� ����� #�� �� �� $�!6


� 2��$ 4��#(� ����=�'��'� ���� ���� '�#�����$ �$ ��) ���� �� 2����� �E  � ��$ 7 �� ����
��� 2��1��� ��'� $� ���� �� �� $� �� '�$$� ��'$ ��) �$ �� #��$ '�� �� �� �� ��$ �� �� 4��#(�
���� �� ��� 2��$ 4��#(�� �*�' *� � ��4�� ��������6
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&�� ��$�� #��� � � $� ���� $ �� ��#�����$�� 7 �� �� � �� �	��=�'��'� �$ �� ?	��=�'��'�
�� �$ � ���$ ���+ 4��#(�� #��$�4���$ �� 2<2� ����2��� �� ��22�$�) '� 3� ��* ��$) #��
�+�2#��) 7 �$ � ��� �� 4��#(� #��� ��#�����$�� �� ?	��=�'��'�) �$ �� ����2��� ����<$��
��##��2��$� ��� #��� ��#�����$�� �� �	��=�'��'�6 ���� ��* ��$ ���' 7 ��=��$�� �� #��#� �$�
G <$�� ?	��=�'��$ H ��+ #��#� �$�� �� �� ��#�����$�$ �� #�� �� 4��#(� ����=�'��'� � 2#��6

��$$� ��#�����$�$ �� #��2�$ ���*� � �''1� 7 �� 2�=���� #��$ � ���  ����2�$ ��� $�#�	
��4 3��� ��� �''��� ���� * � �� � 2#�� 4��#(� ����=�'��'�6 �� #��$ '�� ��) �� ?	��=�'��'�
�$��$ '����� �$ ������� �� ?	��=�'��'� �$��$ '��'������) ��� #��#� �$�� �� ? ��=�'��'� ��$��
��� ��4 ��� ���$ #���� $�2��$ ��$��2 ����6 �� ��*��'(�) '� ����$ #�� �� '�� ��� #��#� �$��
�� �	��=�'��'�6 �� �8�$ 9  � ����$ $��=���� #�� #��� ��� �� ��$��2 ��� ������� �� �	��=�'��'�
�$� '$� ����� ��4 �� �*�' ��� ��$��6 ���� ��$ #��$ '�� 1��2��$ 4<���$) '�� ���� �*��� '(� � 
�� '��� ����� �� �	'����+ $� '�22� ���2� G #� �' #��� H �� '����+ $�) �$ ���� ��$ ���' '����
3�� ���� ���(� $��� #��*� � �� 2 ��+ ��'� ��6 �� ;���) '�$$� ��#�����$�$ �� ���##��$� ���'
3�� #�� �� �$��<$ #�� ��##��$ 7 �� #��'����$�) �$ ��$) '�22� '�$$� ���� 1��)  ����#$�� 7
�� #��'����� �� '���$��'$ �� #�� ��� �� �� ��4 ���6

��$��� '�#�����$ 3�� '�$$� ��#�����$�$ �� #��$ <$�� �$����� �� ��� ��#�����$�$ ��
'�2#�1$� �� �� $�#���4 � �� G ��������$ H ��� ?	*� � ��4�� �� '(�3�� ��22�$) �$ �� '��� 	
�����$ ��� �	*� � ��4�� '�22� ��� '�� #��$ '�� ��� �� ?	*� � ��4��6 ���� #��' ��22��$) '���
��* ��$ 7 '��� ����� �� 2��$ 	4��#(� �� ?	��=�'��'� ��� ���� ���4�! ���� ��3��� 9

M 
�� ��<$�� ��#�����$��$ �� �	'����+ $� �3� ��$ �� '�� #��$ '�� �� �� �� ?	'����+ $� ��
���� ���4�! ���$ 2��3����

M ���� '(�3�� ��22�$) ��� ��<$��  �' ���$�� 7 '� ��22�$ ���$ ��#����� �� � 8����$�
4���#�� ��#�����$��$ ��� '�2#����$�� '�2#��2��$� ��� �� ��22�$ �� 3���$ ��) �$ ��
�� � �� '(�3�� 4���#�) �� ������� ��� ��<$�� ���� �� ���� � ��'$ '(� � 6

&�� $���� ��#�����$�$ �� ����$ #�� ��'���� ��2��$ #��� ������ 7 2�� #���� 3���� 2��$ 	
4��#(� '���� 3�� 9 �� �8�$) '�� ���� ��� ���$ ���*��$ ��#�����$�� #�� ��� � �$� �� ��22�$�)
�$ #��� '(�3�� ��22�$) ��� � �$� '(�B��� ��� ��<$��  �' ���$�� 7 '� ���� ��6 
� ��N$ �����
�� #��'�� ��� ��<$�� ���� �� � �$� '(�B��� �� ���#�'$��$ ������� ��� '0'�� ��� #��$ '(� � �
��� $�� ��2��$ �� #��2 �� ���2��$ �� '0'��) #� � ������� ��� �� *��$� ��$  2#��� #�� ��
'0'��!) �$ �� 2�2�� ��� ��� #�� $ ��� ��� ����$ 1��� ��� '0'��� ���� �� � �$� #��� �*� � ���
��#�����$�$ �� '�2#�$ ��� �*�' '���� ���� 2��$ 4��#(� ���� ��������'�2��$ ��� ��<$��6 � 
�� '�2#�$ � � $� �� ����  �$������ #��)  � ��$ ����� #��� � 2#�� ������' �� 7 '(�3�� ��22�$
��� � �$� �� '0'���) #� � �� ��;� � '(�3�� '0'�� '�22� ��� � �$� ����<$��6

� '�$$� ��#�����$�$ �� #��2�$ � �� �� ��#�����$�� '�2#�1$�2��$ �� $�#���4 �) '� ����$
#�� �� ����� 7 �*� � '�$$� '���'$�� �$ 3��6 ���� ������ �� �8�$ 2� �$����$ #��#���� ���
��$�� ��$����$ *� �� ���$ ��$�� ��$��� �##���B$�� � ��'$�2��$ �� ��$ �� �� ����$ 1�� ��$��
��4 ���) ��� #�����$� ���� ��� ��#�����$�$ ��� #��'����$��) �$ #��� ��3����� ��� �#���$ ���
�� ��� �� ��$�� ��4 ��� �����$ � 2#� ;���6
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���� ���� #��#����� 2� �$����$ ���$ � ��� �� '��#�� #� 2��	���� �� 4��#(� #��� ��$�	
� � ��� ��#�����$�$ �� �����  2�4� #�� '��#�� #� 2��	����6 ���� �*��� *� 3�� ���$ � ��$ ��
���� $�� $0#� �� ��#�����$�$ �� #��2�$$� $) ���� '��$� ��� ' �'���$��'�� �#�� �+�2#�� � ����
������� ��� '0'��� ��� ��'�  ���� �� '(�3�� ��22�$ �� ����!) �� '���'$�� ��� ��$ 1��2��$
�� $�#���4 � �����  2�4�6

���� '� �� ��) ���� �$ � ���� '�22� 4��#(� #� 2�� �� 2��$ 4��#(� ����=�'��'� '���	
� 3�� #��� ��#�����$�� ��� ����$ ��� �� �	��=�'��'� ��$�� ��� ��4 ���) �$ '�22� 4��#(� ����
�� 2��$ 4��#(� ��#�����$��$ ��� '�2#����$�� '����+�� ��� �	����$ 1��� ��$�� ��� ��4 ���6
��$��� 3�� '�$$� �##��'(� ��$ ����$ *�2��$ ��' ����) '�� ��=7  �$���� $� #�� �� 2�$(�	
2�$ ' �� ����F� � ���� �� �'��� �� >A��6 ��� �$ � ��$ �� �� * � �� ��$ #��� ��'��$�) �$
 �$���� $� ��$�22��$ #�� U6 V��#�$�'() ���� �� #��2 �� $�2#� �� ��(��� �� ���2�� �2�
��� 4��#(�� O�5P) #� � ���� �� '���� ��� #0��2 ��� ������ O��) �?) �AP6 "�2��3���� 3�� ��
��;� $ �� G '���� 3�� H �� 4��#(� ���� ��'��� $� �� �$����'$ �� ����<$�� G ;'$ *�� H #���
��#�����$�� ���  �'��� ���) �� 4��#(� ���� ��*��$ ���$�� '����+�6 �� ����$ #�� �� '�� ����
��$�� �##��'(�) ���� ��3����� �� 4��#(� ���� #��$ �� #�� <$�� '����+�6 ���' ���� ���'
2� �$����$ ��$�� ��;� $ �� �� 4��#(� ���� 9

�� $ R = {R1, . . . , Rp} ��� ���2��$� �$��'$����� �����  2�4�6 ����� ���� �*��� *� 3��
��� ����$ 1��� �� '(�'�� ��� Ri �*�' '(�'��� �� ����� '�2#����$�� '�2#��2��$� ��� �$� ��$
$��$�� ��� '������ ���2���) ���� #� �$ � �4�� ���6 ��$��� F �� ���� �� �� $��$�� '�� '������6

�� $ p ∈ R
2 �� #� �$ �� F 6 ����� �� $ p ��$ ��� ���� ��� #� �$� �� ?	��=�'��'� ��$��

�� ����2��� �� ��4 ���) �� $  � ��$ ��� ��� '����� �� �	��=�'��'�) ��#����$ ���+ ��4 ���6
��$$� '����� #��$ <$�� '���'$�� ��� �� ���+ ��F��� 9 #�� ��� ���+ ��4 ��� 3������ ��#���)
�� #�� ��� ���+ �+$��2 $�� ��� � �� ���4 $ #�� ����� ���'��! 3� ���$ ��� #� �$� �� ?	
��=�'��'�6 
� #��2 1�� '���'$�� ��$ �� #��$ �� �� �� �� ����' ��$ p 7 ����<$� �� 4��#(� #� 2��
��#�����$��$ '�$$� �	��=�'��'�6 � ���� �##���� Vd ������2��� ��� #� �$� �� ?	��=�'��'�) ��
��'���� '���'$�� ��$ �� ��;� � �� 2��$ 4��#(� ��� Vd6

��� ���+ '���'$�� ��$ ��� #��2�$$��$ ���' �$��$ 3�� � ��0 � #�� �� ���'��  ����� ����
F! �� ��;� � �� � �� ���� ��$�� �� 2��$ 4��#(� ����=�'��'� (Vp, Ep) �$ �� 4��#(� (Vd, Ed) �E
Vd ���$ ��� #� �$� �� ?	��=�'��'�) �$ Ed ��$ ������2��� ��� ��<$�� ��;� �� #�� �� ���+ 12�
'���'$�� ��$ ��6 ���� ��� ���'���  ������) �� #��$ '(� � � ��� $�� ��2��$ �� #� �$ p �� ��
���'�� �$ ���=��$�� 7 V ′) �$ �=��$�� �� ���'�� (p, p) �����2��$ � �� 7 ����<$� ��#�����$��$)
���� �� 4��#(� #� 2��) ����=�'��'� ��$�� ��� ���+ ��4 ��� ��=�'��$�� 7 �� ���'��  �����6

� �� )  � ��$ #��� ��� �� ��;� � �� 4��#(� ���� ����' � 7 �� 2��$ 	4��#(� ����=�'��'� Gp =
(Vp, Ep) #�� 9

)�*�
�

� �& +5�	� � ��	�- +��� ����		����� ����)� ���	 �� Gp ���� ��� �
��� I� 	�

�	������)� Gd = (Vd, Ed) ���� 	�� ��

��� ���� 	�����
�	� ��� ������ �� &���(�
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� ��
F �	�� 	�����
�	� ��� ���
	�� ���	��� �� F � �� ���� 	� 
�	�������
�	� ��� ��5��� ��� �����
��� "

Ed = {(p1, p2) ∈ Vd × Vd : p1 �$ p2 ���$ ��� �+$��2 $�� ����� �	����$ 1��}
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∪ {(r, r) ∈ Vd × Vd : r ��$ ��� ���'��  �����}

��$��	 �� 	�� 	� ��	����� ���	� ��		� $�� 
)�$�� ��5�� �� Gp ��� ����
��� * 	���5�� �� Gd $��

��������� * 	� %���������� �����������


� �$����'$ �� �� 4��#(� ���� ���� #��2�$ �� '���$�� �� �� 4��#(� ��$ ��� ����! �����	
$��$ �� �� ��� �� �� ���+ ��4 ���) ���� �$ � ��� �� ����2�$ �� ��##��2��$� ��6 �� ��$ ���+
��4 ��� ��=�'��$�� R1 �$ R26 
� �+ �$� ����� ���� �� 4��#(� ��� ��<$� e12 ��$�� ��� ���+ ��2	
2�$� ��#�����$��$ '�� ��4 ���6 
� ��� �� ��� ���+ ��4 ��� '�����#��� ����� 7 �� '��$��'$ ��
�� ����<$� e12) $���� 3�� ���� �� ��'� *��� #��� ���6

,� #���)  � ��$ #��� ��� ���8�'$��� �� $�� $�2��$ ��� �� ���� �� ��F�� 7 �� �� � �#���B$��
��� #� �$� � �4�� ���) ���� ��� #� �$� �E ��� ��4 �� �� G �����2� H ��� ���� 2<2� �� ?	'����+ $�
2� � #�� �� �	'����+ $�6 ���� �##�������� '�$$� �#���$ �� ���������� �� ���	) �$ ���� ��
��;� ���� ���2����2��$ #��� ���6 
����2����2��$) '��� ��* ��$ 7 �=��$�� �� ���#� ����� ��+
� 8����$�� ��4 ���6

'
���	��

� ����� 	�7��

������$��� 2� �$����$ ����4�� $(2� 3� *� ���� #��2�$$�� �� G ��� �����H ���+ ��4 ���
��=�'��$�� �����  2�4�) '���$ 7 � ��) ���� �� '�� �E �� 2�4� ��$ ��#�����$�� #�� �� 4��#(�)
�� '���$�� �� �� 4��#(� ��#�����$��$ �� 2�4� ��$���� �#�1� �*� � ���� ��� ���+ ��4 ���6

� 2�$(��� #�����$��  ' ��$ ��� *�� ��$� �� '����  �$���� $� #�� U��$�� V��#�$�'( O��P)
��41��2��$ � 2#� ;�� �� #��$ �������'� ��� ��<$�� ;'$ *�� ���� �� 4��#(� ���� �$ ��� ���'���
3� ���� '�����#�����$ ���� �� 4��#(� #� 2��6

�� ��$ ���+ ��4 ��� R1 �$ R2 �	��=�'��$��6 ��$��� n1 �$ n2 ��� ��22�$� �� 4��#(�
3� �� ��#�����$��$6 
�� ���+ ��4 ��� �$��$ �	��=�'��$�� #�� (0#�$(1��)  � �+ �$� ��� ��<$�
(n1, n2) ���� �� 4��#(� ��#�����$��$ �� 2�4�6 ���� �##�������� ����� '��$��'$ �� �� ����<$�
(n1, n2)) ���#���$ �� '��� �$��$ 7 ��� ����� ��� ��4 ��� R1 �$ R2) ��#�����$��� #�� '(�'���
��� �+$��2 $�� �� ����<$�6

,��� �� '�� ���� 4��#(� ����=�'��'� � 2#��) ���#���$ �� ��$ $� * ��� 9

>6 �� ��##� 2� �� 4��#(� ��� ��22�$� n1 �$ n2 ��#�����$��$ ��� ���+ ��4 ��� ��� ������)
�$ �� �=��$� �� ��22�$ n ��#�����$��$ �� ���*���� ��4 ��  ���� �� �� ��� ��6

�6 �� ��##� 2� ����<$� (n1, n2) ��� ��$ '�� ���+ ��22�$�6

@6 ���� $��$� ��<$� e = (n1, ν) ��2�$$��$ n1 '�22� �+$��2 $�) �� ��##� 2� e �$ ����
��=��$� e′ = (n, ν) �$��$� ��4 �� ��=�'��$� 7 R1 ��$ ���� ��=�'��$� 7 �� ���� ��!6

�6 ���� $��$� ��<$� e = (n2, ν) ��2�$$��$ n2 '�22� �+$��2 $�) �� ��##� 2� e �$ ����
��=��$� e′ = (n, ν)6

,��� �� '�� ���� ������ 4��#(� ����=�'��'�) �� 4��#(� �� �	��=�'��'� �� '���$�� $ ��
�� 2<2� ��F��) �$ ������2��� ��� ��<$�� �� ?	��=�'��'� �� '���$�� $ �� �� ��F�� �� *��$� 9

>6 �� ��$ �� ����<$� (n1, n2) ��� ��$ ��� ���+ ��22�$� �� 4��#(� �� ?	��=�'��'�6
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���� @6� M ���$��'$ �� ����� ��<$� 9 �� ��! ����<$� �� 3���$ �� ��$ �� 4���) �$ ��� ��<$� �����
�� #� �$ ����6 �� ��! ����<$� ��$ '��$��'$��) �$ �� ����� ��##� 2�� 9 �� ���� '��$ ��$ �����
���+ ��22�$� ���� $� 2 ���� ���+ ��22�$� ��$�����!6 �� �'! ��� ��<$� �� ����  �' ���$�
7 ���� �� '�� ��22�$� ��$ 2��3���) �$ ��$ '��$��'$�� �� ��! 9  � ���$� ��'��� �� ��22�$
���� $� 2 ���$����!6 
��#���$ �� ��$ ���' ��#�$�� ��$�#�� ��! �$ ��!! #��� ��$�� � �� 4��#(�
;���6

�6 ���� $��$� ��<$� e = (n1, ν) �� 4��#(� �� �	��=�'��'�  � $ �� �� �� 4��#(� �� ?	
��=�'��'� ��2�$$��$ n1 '�22� �+$��2 $�) �� �=��$� e′ = (n, ν) ���� ��� ��<$�� ��
?	��=�'��'�6 � �� #��� e �##��$ ��$ �� 4��#(� �� ?	��=�'��'�) �� �� ��##� 2�6

@6 ���� $��$� ��<$� e = (n2, ν) �� 4��#(� �� �	��=�'��'�  � $ �� �� �� 4��#(� �� ?	
��=�'��'� ��2�$$��$ n2 '�22� �+$��2 $�) �� �=��$� e′ = (n, ν) ���� ��� ��<$�� ��
?	��=�'��'�6 � �� #��� e �##��$ ��$ �� 4��#(� �� ?	��=�'��'�) �� �� ��##� 2�6

��;�) � �� '��$��'$ �� ����$ #�� ��;� � ���� �� '�� ���� 2��$ 4��#(� ����=�'��'�) ����
����$ ���� �� '�� ���� '��#�� #� 2��	����) '� 3� ���� '�$$� ��#�����$�$ �� #��$ '�� 1��2��$
 �$�������$�6 ���� #�����$���  ' ���#���$ �� �� '��$��'$ �� �� ���� 9

>6 �� ��##� 2� �� 4��#(� #� 2�� ��� ��22�$� n1 �$ n2 ��#�����$��$ ��� ���+ ��4 ���
��� ������) �$ �� �=��$� �� ��22�$ n ��#�����$��$ �� ���*���� ��4 ��  ���� �� ��
��� ��6

�6 ���� $��$� ��<$� e ��� ��$ n1 7 n2) �� ��##� 2� e ��� ��<$�� #� 2����) �$ ���� ��##� 2�
��� ��<$� ����� ed ��� ��<$�� �� 4��#(� ����6

@6 ���� $��$� ��<$� e = (n1, ν)) ����<$� ����� ed) ��2�$$��$ n1 '�22� �+$��2 $�) ��
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��##� 2� e �$ ���� ��=��$� e′ = (n, ν) �$��$� ��4 �� ��=�'��$� 7 R1 ��$ ���� ��=�'��$�
7 �� ���� ��!6 ,� #��� e′ �$ ed ���$ ��;� �� '�22� ������ ����� �� ����$��6

�6 ���� $��$� ��<$� e = (n2, ν)) ����<$� ����� ed) ��2�$$��$ n2 '�22� �+$��2 $�) ��
��##� 2� e �$ ���� ��=��$� e′ = (n, ν)6 ,� #��� e′ �$ ed ���$ ��;� �� '�22� ������
����� �� ����$��6

56 ���$ 3�� �� ���� #���1�� ��� ��22�$� ���� $�  ���� ���� �� �4��� 7 ���+ 3� �� ���$
#��  �' ���$� 7 ��� ���'��) �� '��$��'$� ��� ��<$� ���� $�� ��22�$ �� �$ � ���$ ��
2<2� #��'����� 3�� ���� �� '�� ���� 4��#(� ����=�'��'� � 2#��6 � '(�3�� �� � 3�����
��<$� �� ���� ��$ � �� '��$��'$��) ��� ��<$� ����� ���� �� 4��#(� #� 2�� ��$ ��##� 2��
�'��� '�����#��� 7 ��� ����� ���+ �	����$ 1��� �� ��� �����!6

��$$� '���$��'$ �� ��$  ����$��� ���� �� ;4��� @6�) ��� �$�#�� > 7 � �$��$ ��#�����$��� #��
��� ;4���� ��! �$ ��! �'��$��'$ �� #� 2���!) �$ ���$�#� 5 �$��$ ��#�����$�� #�� ��� ;4���� �'!
7 ��! �'��$��'$ �� �����!6

����( �����
�����
�
	 ��� �� )�
	
����

,��� $��$� '�$$� #��$ �) ���� ���� ��22� '��'��$��� ��� ��� 2�$(���� #��� ��#�����	
$�� ��� ��4 ��� �� �� 2�4� �$ ���� ����$ ���6 &�� ��$�� �##��'(� '��� �$��� $ 7 �� '��'��$���
��� ���$��� ��� ����$ 1��� ��$�� ��� ��4 ���6 �� �8�$) ���� �*��� *� 3����� ��#�����$�$ ��
'�2#�1$� �� �� $�#���4 � �����  2�4� �$� $ #��� ��� � '�$$� ���� 1�� ��$ #���� $�2��$ '���'	
$�� ���6 �� �� ����$ 1�� ��2��� <$�� �� 4������ #��� ��' ��2��$ '���'$�� ��� 3�� ��� ��4 ���)
�� �8�$) ���� �*��� *� 3�� �� ����$ 1�� �$� $ '���$ $��� ���� ��2��� ;� �� #� �$� ��� ��
��$�� ��+ #�� ��� '������ ��$ 1��2��$ � �$ �'$�� ��� ���� ��� ��$��� ����� �� � *��� ���
#� �$� �+$��2 $��!6 &� � 2#�� 2��$ 	4��#(� �� ����$ 1��) ���� ��3��� ��� ��22�$� ���$ '��
#� �$� �+$��2 $��) �$ ���+ ��22�$� ���$ ��� �� '(�3�� �� � 3�� � �+ �$� �� ��42��$ ��$��
'�� ���+ �+$��2 $�� ��N$ ���' #��� ��#�����$�� �� ����$ 1��6 ���� 3�� �� ��#�����$�$ ��
�� $ '�2#�1$�)  � ���$ $��$��� � �������� ��� ��<$��  ���� �� '(�3�� #� �$) '�� ��� '0'��� ��
'������  ����� ����� �+$��2 $� ���$  2#��$��$�6 ��$$� �$��'$��� '�����#��� ���' �+�'$�	
2��$ �� 4��#(� ���� �*�' *� � ��4�� �������� 9 ��$	 � ���' ��'���� �� �� '�����*�� �� 4��#(�
#� 2�� K

� �� '���� ����'� 2<2� ��� ��4 ��� ����$ #�� ��'���� ��) '�$$� ��#�����$�$ �� ��$ ���	
;���$�6 ��#�����$) ���� ��$�� 2��1��)  � ��$ ��'���� �� �� #��*� � ����' �� �� �02���� 7
'(�3�� ��4 ��) �$ ���' �� #��*� �  ���$ ;�� ��� ��4 ��� �� �� 2�4�6 &�� �##��'(� #��� ���
#��� '��� '��� �$� 7 ����' �� 7 '(�3�� ��<$� �� 4��#(� ��� ����$ 1��� ��� ���+ ��4 ��� 3������
��#��� 9 '��� ��* ��$ ����� #��' ��22��$ 7 ��;� � �� 4��#(� #� 2��) '� ���� �� '�����#��	
���$ �� ���� �� 4��#(� ����6 /� � ����$��� �##��'(�� ���$ #��� ����) �� #��$ '�� ��)  � ��$
#��� ��� �� ��;� � ��� ��4 �� #�� �� ������ �� ������2��� ��� ��<$�� �� 4��#(� �� ����$ 1���
��;� ����$ �� ����$ 1�� �� �� '�2#����$� �+$�� ����6 ��$$� �##��'(� �� ��##��'(� �� '����
�$ � ��� ���� �� '�� ��� '��$�� '�2� ��$� ��� O>�) >@P) ���� ���3������ ��� ��4 ��� �'���$ 7 � ��
��� '������� �� � 2��� �� ���+! #��*��$ <$�� ��#�����$��� #�� ��� ��� $�� ��� �� �� ����� ��
4���#� �� #��2�$�$ ��� �����6 ��$$� �##��'(� ����� �� ����'� 7 � 8����$� 2��1��� ��
��#�����$�$ �� �����  2�4�) ��$�22��$ ��+ '��$�� � �'�1$��  ����� ��� $��*��+ �� $(1�� ��
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.���	�( � ##� ,�2��4�� O>?P) � �� 3���� 4��#(� $�#���4 3�� ��� ����$ 1���)  ��� �� '��+ ��
�(� �$�#(� D �� � O�@P6 ��� 2��1��� ��$ �$� ���� $ �� �� 2��1�� 2 � 2��) '��� ��� '��$��
$�#���4 3���) �� �� � 2 $��$ ��+  ����2�$ ��� $�#���4 3���) ���� �� $(1�� �� -� ����2�
,�2 ��� O>5P6

��� 2��1��� ��$ ���*��$�4� ��<$�� �� #��*� � <$�� �$����� �� ���7 ���  2�4�� �� ���+
� 2��� ���6 
� ��$ �� �� ��� �� �� ��4 ��� � �� #��� �$� �$�� �� ��� ��� '��$�� $�#���4 3��
�� � 2��� �� 3���'��3�� O>�) >�P) �� 2<2� 3�� �� '���$��'$ �� �� #0��2 ��� 7 #��$ � ��
'��$�� 4������ ���� O�5P6 ��$�� $��*� � #��$��$ #� �' #���2��$ ��� ��� ��4 ���) ���� �� ����
��'�� ������ '�#�����$ #�� ��� '�� �##��'(��) ���� #�������$ '����� #�����$��� #��� (��$)
#��� �� ��$��� ��4 ���6

��� �
 �
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���� �*��� #�����$� ���� �� ��'$ �� #��'����$� � 8����$�� ��#�����$�$ ��� #��*��$ <$��
�$ � ��� #��� ��'� �� ���  2�4�6 ��� ��#�����$�$ �� ���* ���$ �� �� 3��� �� ���� #��� ����	
��2��� �� �� '���$��'$ �� 2��$ 	������$ �� 3�� ���� ���(� $� ��$�� �6 ���� '���) ���� #��$ 	
���� �����  2�4� ��#�����$�� ���� �� ���2� ���� 4��#(� �� ���� ��� �0�$12� �� ��#�����	
$�$ �� ��'� $ #��� (��$) #� � ���� $�������2����� '� 4��#(� #��� ��$�� � ��� 4��#(�� ��
#��� �� #��� ���� $�6 ��� $�������2�$ ���) �� ����
�����) ���$ ��$��2 ���� #�� �� �0�$12�
�� �14��� �#����$ ��� ������2��� ��� �02����� � �� 3�� ��� �� �$��'$��� �� 4��#(� $�� $�6

,��� '�$$� ��'$ ��) ���� ������ ��'� �� '�� �14���) '� 3� ���� �21�� ������� 7 #��' ���
�� #�� '� 3�� ���$ ��� �02�����6 "�2��3���� 3�� ��� �14��� �$ ��� �02����� �����$ ��� �����
���2��$� *�� ����� �� ��$�� 2��1���) �$ ��#�����$��$ ���' �� '���� ����'� �$ � ��� #�� ��
#��'����� #��� ��'� �� ���� ��� �02�����! �$ ���� �� ���� ��� �14���! '����'$�2��$ ���  2�4�
������6 
�����2��� ��� �14��� �$ ��� �02����� #����� ���' <$�� ��4���#� �� ��� �����
��$ $� 3�� ���� �##�������� ���� �� 
���������
��6

����� �������� ��������� ��� ��� ���%
���

��22��F��� ���' #�� #��' ��� �� ��$ �� �� �02����6 .��3��7 #�����$) ���� '��� ��� ���
��� �02����� '�22� ��� ���2��$� ���� ����2��� #����;� ) ��$� S6 
�$� $ *�2��$) �� �02	
���� #��$ #�� �+�2#�� ��'� �� �� '��$��� ����� ��4 ��) �� ��'��� �� 4��2�$� � �� �� 2�4�
�� *� � ��4� �� '�$$� ��4 ��6 
� '(� + �� ������2��� �� �02����� ��$ *����$� ��2��$ �� ���
� ���) �� ���$� 3�� $��$ ����2��� =�4� #��$ ���$ #� ��� <$�� �$ � ��6


� ��$ ���' �� #��$ '�� �� #��� ��� �� '(� � � '�22� ����2��� ��� �02����� ������2��� R

��� *������ ��2�� 3��� #�� $ *�� ����$��$ '�#���� �� �� 2�� #���� 3�� ��� ������� ;� ��)
 � ���4 �� �� �� $ #��$:$ ����� � �'��$ ��$ �� �� R!6 
� ��$ �� 2<2� #��� ��� �� #������ ��
����2��� �� *�'$����) #�� �+�2#�� R

k #��� ��� *����� ;� � �� k6 &� $�� '(� + '�����#���
7 ��� 4��#(�� *����� ��2�� 3��2��$) ��=7 � �� �$�� �� ���� �� � $$���$���6

���� ����  �$���������� ���' #��$:$ 7 ��� ����2���� �� �02����� ��#�����$��$ ��
��2��� ;� �� ��$ ���) 3� #��*��$ <$�� *�� ��� 9 �� $� ���� �� ��� '������� �02��� 3���
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�4����) #�$ $) ���4�) *��$) �$'!6 6 6) ��� ���2�� �'��'��) ��'$��4��) �$'!6 6 6) �� ��'��� ��� ��	
$ ��� #��� G ���$�� $�� H #�� ��##��$ 7 �� 2�4� �������) * ��4�) #�������4�!6 
�����2��� ���
�02����� ���� ���' �� 4������ �� ����2��� ��'� $ �+$��� *�2��$ #�� �� � �$� ��� ��$ ���
3�� ���� ���(� $� #��*� � ��#�����$��6 ,� $����� ��#�����$�$ ��� �02��� 3��� ��$ ��=7 �� $
����=�$ �� #��� ���� �$���� ���� �� � $$���$���) '�22� #�� �+�2#�� �� G�	'��� ���'� #$ ��
���4�4�H �� U6 V��#�$�'( #��� ��#�����$�� ��� '������ O��P) �� ��'��� ��� 2��3��� 3× 3
 �$���� $� #�� ���� �4 �� �	� O>�P �$ #��2�$$��$ �� ��$�'$ �� ����4��� �$ �� '��'�* $�� O@>P
�� �����2��$� �� $�+$���� O��P6

���� '��$� ��� �� '�� ��$ ���)  � #����� <$�� �$ �� ��<$�� �� 2����� �� ��;� � �� ��
#��� ���� #���21$��� ��2�� 3��� �� �02��� 3��� ����' �� �� �02���� 3� �� '�����#���6
� �� #�����	$	�� ���(� $�� ��#�����$�� ��� �����2��$ �� �� $ 3�� $���� ��4 �� � ��� ���2�
' �'��� ��) 2� � ���� #��' ��� �� ��0�� �� '��'�� �� 3���$ ��6 � '� ��0�� ��$ ��;� �02��	
� 3��2��$)  � ��$ $��=���� #��� ��� �� ��;� � �+$��� *�2��$ ������2��� ��� �02����� '��� 	
����� �4���� '��'��) #�$ $ '��'��) �$'!6 6 6) '� 3� ����$ #��� �� '�� � �� ��0�� ��$ ��;� 
��2�� 3��2��$ 9 $��� ��� ���2��$� �� {cercle} × R

+ ���$ ��� �02����� #��� ����6
D ����2��$) �;� �� #��*� � ��#�����$�� $��$�� '�� ��$ ���) ���� �$ � ������ �� ����2���

�� �02����� S #��$ $ ������� �� �� ��2��� ;� �� '������ 3� �����$ ��'� $�� �+$��� *�	
2��$6 �(�3�� '����� '�����#��� 7 ��� ��$ �� 3�� ���� ���(� $� ��#�����$��) �$ ��� � 8����$�
���2��$� ����� 2<2� '����� '�����#�����$ 7 � 8����$� #���2�$��4�� ����� 2<2� ��$ ��6

��$��� 3�� ��� � 8����$� �02����� �� ��#�����$��$ #�� $��=���� ��� ��$ ��� ��'��������6
�� �8�$) ��� ��=�$� #�������$ '��$� �� �02����� #��*��$ <$�� ��� #��$ �� ����=�$� #�������$
����$��� �02����� 9 � �� #�� �+�2#��) �� �02���� ������ ���� ����' � 7 �� ��=�$ ���'�#$ ���
��<$�� ��� #��$ � ���� ��=�$ �0��$ �� �02���� ����������6 ,� 2<2�) '��$� ��� ��$ ��� ���$
��� �� �$��#��$�$ ��� #��� ���$�� $�� ����� �� ���� �E ����� �� �����$ #��� ��� �� ��2��$ 3��
3�� ��� �� '��$��� �� �� 2�4� �� 	2<2�! 9 � �� ��� ��		� #��$ <$�� ��� �� �$��#��$�$ ��
#��� ���$�� $� ����� ��)���6


���3���� �02���� s1 #��$ <$�� ��� �� �$��#��$�$ �� #��� ���$�� $� ���� ��$�� �02����
s2) �� ����3�� � #��$ '���'$�� ��� �� ��=�$ ��'�2#������ �� ����	��=�$� ���$ ���� �� �$��#�1$�
�� �� �02���� s2) ���� � ���� 3�� s1 ��$ ��$ ��� ���$��'$ �� �� s2) �$ ���� ��$����� s1 ≺0 s26
�� ��$� ����� ≺ �� '�:$��� $���� $ *� �� �� ����$ �� ≺06 
� ����$ �� �����$��'$ �� ≺0 ��$
� $� '�(����$� � �� '�:$��� $���� $ *� ≺ ��$ ��� ����$ �� ������� #��$ ��6 � '���$ �� '��) ��
� �� 3�� s1 ��$ #��� ���$�� $ 3�� s2 � �$ �����2��$ � s1 ≺ s26 �� 4������) ��� �02�����
�����$ � * ��� �� $�� � '�$�4�� �� 9

M 
�� �02����� �� ��� � *���) �$ � ��� #��� '���$�� �� �� 4��#(�  � $ �� ����� #0��2 ��6
�� ���$ ��� �02����� �����$��'$ �� 2 � 2���) 3� '�����#�����$ ��+ G $�W��� H ��
���$��� O�>P) �� ��+ G $�+$��� H �� .����L O@�P6

M 
�� �02����� �� (��$ � *���) 3�� ���� ���(� $� ��$���*�� �� ��22�$ ����� #0��	
2 ��6 �� ���$ ��� �02����� �����$��'$ �� 2�+ 2���) 3� '�����#�����$ ��+ G * ����
#��$�$0#�� H �� ���$���6

M 
�� �02����� �� � *���  �$��2�� � ���) �$ � ��� ���� ��� � 8����$� � *���+ ����� #0	
��2 ��6

,��� �� �� $� �� '�$$� $(1��) ���� ��##������� 3�� ≺0 ��$ '�(����$�) �$ �� ����$ ��
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������� #��$ �� ≺ ��� *�� ���� �$ � ��� #��� ��;� � �� ��$ �� �����$��'$ �� ��� ���  2�4��6

����� �
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�� $ I = (R, σ) ���  2�4�6 ��22� ���� ���*��� #�����$� #��� (��$) ��$�� ��=�'$ � ��$
�� '���$�� �� ��� ���*����  2�4� I ′ = (R′, σ′) 3� �� $ �� #��� �� ��� ������$ �� �$ #���
���$�� $�6 ���' ���� �� � 4� ;'�$ �� �� '�� ���+ ��$ ��� 9

)�*�
�

� �# +1��
���

�- '��
��� I ′ ��� ���� �� �	�� ����	� ����	����� $�� 	��
��� I
�� ���� �	�
��� ����
����	 R �� R ��� ��
	�� ���� ��� �� ��� ���	� ������ R′ �� R′�

��$��2��$ � $) I ′ ��$ �� #��� �� ��� ������$ �� 3�� I � �$ �����2��$ � �� ���'$ ��
��##���� #��=�'$ �� �� R ���� R′! 9

π:

( R → R′

R 	→ R′ : R ⊂ R′

��$ � �� ��;� � �$ ��$ ���=�'$ *�6 
�� �##��'(�� #��� ��#�����$�� �� $�#���4 � �����  2�4�
7 #��� ���� ������$ ��� ��$ ��=7 �� $ ����=�$ �� � *��� $��*��+ O��) ��) �5) AP6 ,��� ��$��
2��1��) ���� �$ � ������ ��� '��$��'$ ��� �� 4��#(�� �*�' ����+ ������ ��� ��� $��*��+ ��
U6 V��#�$�'( �$ ��'� $�� #��'���22��$6

)�*�
�

� �2 +.����	��

�-  ��� I �� I ′ ���� �
����� +��� ������ $�� I ′ ��� �	�� ����
������ $�� I �� "

0� I ′ ��� �� �	�� ����	� ����	����� $�� I� ��
1� ���� ����� ������ R �� R� �� � σ′(π(R)) ≺ σ(R) �
���� * ���� $�� 	� ��
��	� ����
��

* 	� ������ 
�������� R ���� I ′ ��� �	�� �������� $�� 	� ��
��	� ����
�� * R��

,��� '�$$� #��$ �) ���� ������ ��;� � ��� ��=�$� #��2�$$��$ �� #���� �� ���  2�4� #���
���$�� $� 7 #��$ � �����  2�4� ���� 4 ��) $���� 3�� $��$�  2�4� I ′ #��� ���$�� $� 3�����
 2�4� I #� ��� <$�� #���� $� 7 #��$ � �� I �� �$ � ���$ ��''��� *�2��$ ��� ��� � �� '��
��=�$�6 ��� ��=�$� �����$ �##���� �14��� �� ����'$ ���) �$ �� ����'$ �� ���� ����2��� ��
�14��� �� ����'$ ��� #��2�$$�� �� ��;� � ��� $�������2�$ ��� #��� ���� �����  2�4�6

���� �##�������� ��;� ���� �� '���� ����'�� �� ������ ���� ����2��� �� �02�����
�$ ���� ����2��� �� �14���6 ����$ '�$$� ���� 1�� 3� 4� ���� ��$ 1��2��$ �� #��'����� ��
'���$��'$ �� ��� ����'$ ��� ��''��� *�� �����  2�4�6

����� ������ �� �����
�
	

�� ��$ I = (R, σ) �$ I ′ = (R′, σ′) ���+  2�4�� $����� 3�� I ′ �� $ #��� ���$�� $� 3�� I6
�� $ ���� π:R→ R′ �� #��=�'$ �� �� R ���� R′6
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� ���'$ �� π ��$ ���=�'$ *�) ���' π−1(R′) = R6 ��$��� R′
1, . . . , R

′
k ��� ���2��$� ��

R′6 �(� � ����� ����� ��� $�� ��2��$ �� ���2��$ ci ���� '(�'�� ��� π−1(R′
i)) 3�� ����

�##�������� '��$�� �� R′
i6 ,�;� ����� ����� �� ���'$ �� C:R→ R 3� 7 '(�3�� ��4 �� R ��

R ����' � �� '��$�� �� π(R)6 ���� �*��� ����� �� �����$�$ �� *��$ 9

����� ! '� ���
���� C ���
�� �� ��������� 	�� �	�
���� ����
����	� I ′ * ������ �� 
���
�� I�  � �� �	�� �� ������� 
���� σ′ ��� 
)�
�� ��� π(ci)� �	��� I ′ ���� 5��� ������� �� I�


� #��2 1�� #��$ � �� ��22� ��$  22�� �$�6 �� �8�$) ��� ��4 ��� �� I ′ ���$ ��� ���� ���
��� ��4 ��� R �� I #��� ���3������ C(R) ��$ '���$��$6 ���� ���2����2��$) � ���� #���
E(R) =

⋃
Ri∈R:C(R)=C(Ri)

Ri) ����� R′ = {E(R) : R ∈ R}6 
� ��'���� #��$ � ��$ $� * ��� 9
$��$ ���2��$ �� R′ ��$ #�� ��;� $ �� �� 2�4� ���� ci #�� π) ���' � σ′ ��$ ��;� � ��� '(�'��
��� π(ci)) ���� ��$ ��;� � ��� R′ $��$ ��$ ��6

� �� ) #��� '���'$�� ��� I ′ �� ���'$ �� �� I)  � ��N$ �� '(� � � ���� $�� ��2��$! ���
'��$��� ci) �� ��;� � #��� '(�'�� ����+ ������2��� Ci ��� ��4 ��� R �� R $����� 3�� C(R) =
ci �'���$ 7 � �� Ci = C−1(ci)!) � �� 3�� �� *����� σi �� σ′ �� π(ci)6

��$��� ����� hi �� $� #��$ (ci, C
−1(ci), σ

′(π(ci)))6 ,��#�1� �� �����$�$ #��'����$) �� ������
��� hi #��� $��$ i #��2�$ �� '���$�� �� I ′ 7 #��$ � �� I6 &� $�� $� #��$ ���� �##��� #��	
(0#�$(1�� �� ����'$ ��6

)�*�
�

� �( +8��
� %�� �� ������

�- �� ����		��� )����)��� �� ����
���� �����
�
��� I 	� ������ ���� $������	�� (c, Rc, s, n) ∈ R×P(R)×S ×N� �. c ��� ��� ������ ��
I ����	�� 
����� �� ����
����� Rc ��� �� ����
�	� 
������ �� ������� 
�������� �� 
����
c ����	� ����� �� 
�����
����� s ��� �� ��
��	� ����	� ��
��	� �� ������ �� n �� ������
����	� $��	���� �� �. Rc ��� ��	 $�� ���� ���� R ∈ Rc� �� ��� s ≺ σ(R)�


�����2��� �� $��$�� ��� (0#�$(1��� �� ����'$ �� ��� ���  2�4� I ���� ��$� H(I)) �$
������2��� �� $��$�� ��� (0#�$(1��� �� ����'$ �� ��� $��$�  2�4� H6 
� $� #��$ (c, Rc, s) ��$
�##��� #��	(0#�$(1�� �� ����'$ ��6 ,��� �� '�� �E �� ����$ �� ��� �� � *��� �����$��'$ �� ���
�02����� ����$ #�� *�� ;��) �� � ���� �� #���1�� #�� ������� ��� ������2��� ��� �02�����)
�� #������ ��(0#�$(1�� �� ����'$ �� ���������6

�� $ I = (R, σ) ���  2�4�) �$ h = (c, Rc, s) ��� #��	(0#�$(1�� �� ����'$ ��6 ��
�##������ ���	�
����� �� h ��� I �� 2�4� I ′ = (R′, σ′) $���� 3�� 9

M R ∈ R′ � �$ �����2��$ � R ∈ R \Rc �� R =
⋃

r∈Rc
r

M σ′(R) = σ(R) � R ∈ R \Rc

M σ′(R) = s � ��� ����� � R =
⋃

r∈Rc
r!


��##� '�$ �� ����� #��	(0#�$(1�� ��* ��$ ���' 7 ��� ����� ������2��� ��� ��4 ��� ��
Rc �$ 7 ������ 7 �� ���� �� �� �02���� s) ��� ��$��� ��4 ��� �� �� 2�4� ���$��$  �'(��4���6
� 2� �$����$ h = (c, Rc, s, n) ��$ ��� (0#�$(1��) ���� � ���� 3�� ���##� '�$ �� �� h ��� I
��$ ���##� '�$ �� �� �� #��	(0#�$(1�� (c, Rc, s) ��� I6
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Red(I, R) ��� ���� �� R ����� ��� ��� ������ �� I� �� ��� ��
	��� ���� {h = (c, Rc, s, n) ∈
H(I) : c = R} ������

� �� ) �$��$ ������� ���  2�4� �$ ��� ��4 ��) ��� �14�� �� ����'$ �� #���� $ �� ��	
��2��� ��*��$�����2��$ * ��! ��(0#�$(1��� �� ����'$ �� ��� '�$$�  2�4� 3� ��$ $��$��
#��� '��$�� '�$$� ��4 ��6 �� ��$ ����� I ���  2�4� �$ I ′ ���  2�4� #��� ���$�� $�6 ,��#�1�
�� ��22� #��'����$)  � �+ �$� �� ����2��� ;� ��(0#�$(1��� h1, . . . , hn $����� 3�� ���##� '�	
$ �� ��''��� *� �� '(�3�� hi 7 #��$ � �� I #���� �� �� 2�4� I ′6 ��$��� I1, . . . , In ���  2�4��
��$����� �#�1� ���##� '�$ �� �� '(�'��� ��� (0#�$(1���6

�� #��$ ����� ��;� � Ri #�� Ri(I, c) = {hi} � I = Ii �$ c = ci) �$ Ri(I, c) = ∅ � ���6
����� Ri ��$ � �� ��� �14��) �$ ���� #��2�$ �� ���� �� ��(0#�$(1�� hi 7 �##� 3��� 7 Ii #���
#���� �� Ii+16 ,��E �� $(���12� �� *��$ 9

� �
�%�� (  ��� I ��� �
���� �� I ′ ��� �
��� �	�� ���������� !	��� �	 ������ �� ����
�	�
��� �� ���	�� R = {R1, . . . , Rp} ��	 $���	 ���� ������	� �� 
��������� ��� ��$���
� ���
���
I0, . . . , In ��		� $�� "

# I0 = I�
# In = I ′�
# �� ���� ���� 0 � k < n� �	 ������ ��� 
������� ������ c �� Ik �� ��� ���	� R ∈ R ��		�
$�� Ik+1 ��� 	� ����	��� �� 	����	�
����� ����� )����)��� h ∈ R(Ik, c) * Ik�

,��#�1� '� $(���12�) � ���� '��� �1�� ������2��� ��� �14��� #��� ���) ����� $��$�  2�4� #��$
<$�� ���� $� �� $��$ ��$��  2�4� #��� ���$�� $� �� �$ � ���$ ��� (0#�$(1��� #���� $�� #��
'�� �14���6 � ���� �� '��� �1�� 3���� ����2��� ����� �� �14���) '��� ����$ � �� �* ��22��$
#��� ���'�2��$ *�� 6
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�����2��� ��� ��$ ��� ��'� $��  ' ��� ���  2�4�� #��*��$ ��' ��2��$ <$�� �$������ ��
'�� ���  2�4�� �$��'$�����6 ���� �� #�����$����� #��  ' '�$$� �+$��� �� ���� �� '�� 4������)
2� � �� 3��2��$ ���� �� '�� #��$ '�� �� �E �� �$��'$��� ���  2�4�� ��$ ��#�����$�� #�� ��
4��#(�6 ����$ �� �8�$ #��' ��22��$ ��� '� $0#� �� ��#�����$�$ �� 3�� ���� ������ $��*� ����
#�� �� �� $�6

� �� ) ���� ��##������� 7 #��$ � �� 2� �$����$ �� �$��'$��� �����  2�4� ��#�����$��
#�� ��� 4��#(� ����=�'��'� ��� �*��$�����2��$ ��� 2��$ 4��#(� ����=�'��'�) 2�� �� ���
���� ���� �� ���� ����� �� *� � ��4�!) �� ��� 2 ���$ '(�3�� ��4 �� �� #��� �� ��22�$ '��	
���#�����$ �� 4��#(�6 
� ��$ �� �� 2�4� �� #��� �� ��� ������$ ��) #��$ ����� <$�� �+#� 2��
�� �� 2�� 1�� �� *��$� 9
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�-  ����� G1 = (V1, E1) �� G2 = (V2, E2) ���� ����)��� �� ���
$�� G2 ��� �� �	�� ����	� ����	����� $�� G1 ���	 ������ �� ����
�	� ����5��� E1→2 ⊂ E1 ��	
$�� G2 ��� ���
���)� �� ����)� ����	���� �� 	� 
�����
���� �� E1→2 ���� G1�
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�� ��$ �� 4��#(� G1 = (V1, E1) �$ �� 4��#(� G2 = (V2, E2) �� #��� �� ��� ������$ ��6
��$��� E1→2 �� ����2��� ����<$�� ��;� '�22� #��� (��$6 �� $ ����� G′ = (V ′, E ′) �� 4��#(�
�����$��$ �� �� '��$��'$ �� �� E1→2 ���� G16 ��$��� π′ ��� #��=�'$ �� �� G1 ���� G′ �����
�*��� *� 3�� � ���4 ��� $ ����� �##� '�$ �� ���=�'$ *�!6 ��;�) ��$��� f ��  ��2��#( �2�
��$�� G′ �$ G26 
� ��$ ����� #��� ��� �� ��;� � ��� #��=�'$ �� �� G1 ���� G2 ���=�'$ *� #�� 9

π : v 	→ f ◦ π′(v)

π ��$ ����� ��;� � �� 2�� 1�� �� 3��) 7 �� ��$�2��#( �2� �� G2 #�1� ����� � π1 �$ π2 ���$
���+ #��=�'$ ��� �� G1 ���� G2) �����  � �+ �$� ��  ��2��#( �2� f �� G2 ���� �� 	2<2� $��
3�� π1 = f ◦ π2!6

R$��$ ����� 3�� ���+ 4��#(��  ��2��#(�� ��� ��$�2��#(��! #��*��$ <$��  ���$ ;��)
���� #��*��� '��� ����� π �� 3��6 
�� ��;� $ ��� �$ #��#� �$�� �$�� ��� ���� �� ����$ ��
'�$$� ��'$ �� �� ��#�����$ 3�� �� �� ��$ �� �� ������$ ��) �� ���+ �$��'� ����� #��=�'$ ��
����' �� �$ �� ����=�'��'� ��$�� ��� ��4 ���) ����� #��*��$ <$�� �$������ ��+ 4��#(��6 ��#��	
���$) ���� #��#����� ��� ��41�� *�� ��$� �� �� ��$ �� ��(0#�$(1�� ���� '� '�� #��$ '�� �� 9
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� ���� ��	� �- �� ����		� )����)��� �� ���
��
���� ����� �
��� I = (G, σ)� ���� 	� ����
���� ��� ����������� ��� �� ����)� G = (V, E)�
�� $������	�� (vc, E, s, n) ∈ V × P(E) × S × N� �. vc ��� �� ��

�� �� G ����	� 
�����
�� ����
����� E ⊂ E ��� �� ����
�	� 
������ ����5��� ����	� ����� �� 
�����
����� s ���
�� ��
��	� ����	� ��
��	� �� ������ �� n �� ������ ����	� $��	���� 4� �	��� 	�� ����������
��������� ������� 5��� �������� "

0� �� E ��� ��� ����� �	��� vc ���� 5��� 	���� ��� �����
��� ���� 
���� �� �	�
��� �� E�

1� ���� ���� (v1, v2) ∈ E� s ≺ σ(v1) �� s ≺ σ(v2)�

2� s ≺ vc�

��$$� ��;� $ �� ��$ �3� *����$� 7 �� ��;� $ �� #��'����$�) 2� � ������2��� ��� ��4 ���
G ��� ������ H Rc ��$ ��#�����$� #�� �� ��0�� �� '��$��'$ �� ����' �6 
��##� '�$ �� �����
(0#�$(1�� ��� ���  2�4� (G, σ) '��� �$��� ���' 7 �8�'$��� �� '��$��'$ �� �� E ���� G) �$
7 �$$� ���� �� �02���� s �� ��22�$ #���� $ ��� 7 vc � E ��$ * ��!6
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�� �14��� �� ����'$ ��) $����� 3�� ���� ��� �*��� ��;� #��� (��$) �� *��$ #���� �� ���
(0#�$(1��� �� ����'$ ��) �$ ���' ���#�'$�� �� ����$ �� ������� #��$ �� ≺ ��;� ����$ �������
�����$��'$ �� ��$�� ��� �02�����6

&�� ��$�� �##��'(� '��� �$� 7 ��$�� ��� ��� �14��� �� ����'$ �� 7 #���� �� ��� (0#�$(1���
�*��$�����2��$ ��4�������) ���$ �� *�� � $� �� ��#��� ���' #�� �� ������� �����$��'$ ��
��$�� ��� �02�����6 
� ��$ ����� ��$�22��$ #��� ��� �� ��;� � �� ����2��� �� �14��� ��
����'$ �� ���� �*� � 7 ��;� � ������� ≺6 ��$ ����2��� �� �14�� �� ���� $��$��� � *������ 3��
�� � �+ �$� ��� ����$ �� ≺ $���� 3�� $��$�� ��� (0#�$(1��� ��4������� �2 ��� #�� ��� �14���
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�� ��$ � �� ��� (0#�$(1��� �� ����'$ �� *�������) ���#�'$��$ ������� #��$ �� ≺6 ���� ������
���'  ' '(��'(�� 7 '���'$�� ��� ��� ����2���� �� �14��� #��� ���3����  � �+ �$� �� $�� �����
#��$ ��) �$ ��$��2 ��� ������� #��$ �� 2 � 2�� 3� '��* ��$6 ���� �##�������� ����� ������
��� 	�� ���	�� '�$ �����6

R$��$ ������ ��� (0#�$(1�� h = (vc, E, s, n)) �� �##���� �02����� ����$��� ��� �02�����
��� ��22�$�  �' ���$� �� ��0�� �� '��$��'$ �� E) �$ �02���� �� ���$ � �� �02���� s6 ����
��� �14�� R ������) �� �##���� �02����� ����$��� ����#6 �� ���$ �! ��� �02����� ����$���
����#6 �� ���$ �! �� $��$� (0#�$(1�� #��*��$ <$�� �2 �� #�� R6 ���� ������ ����� �� 4��#(�
��� ��$�! �����$��'$ ��) ��;� #�� 9

M �� ��;� $ �� ��22�$ ���� �� 4��#(� �����$��'$ �� #��� $��$ �02���� �� �� ���� ��
'���� ����'�)

M 
� �+ �$� ��� ��<$� �� s1 *��� s2 � �$ �����2��$ �� � �+ �$� ��� �14�� R $���� 3�� s1 ��$
�02���� ����$��� �� R �$ s2 �02���� �� ���$ �6

�����  � �+ �$� �� �����  ��� $ #�� ��� �14��� � �$ �����2��$ � �� 4��#(� �����$��'$ �� ��$
�'0'� 3��) �$ �������  ��� $ #��$ <$�� ��;� #�� s1 ≺ s2 � �$ �����2��$ �� � �+ �$� �� '(�2 �
�� s2 *��� s1 ���� �� 4��#(� �����$��'$ ��6 ��$��� ��;� 3�� �� 4��#(� �����$��'$ �� #��$
<$�� �$ � �� #��� ��#�����$�� �� ���� �� '���� ����'�6 �� �8�$) ������2��� ��� ��22�$� ��
4��#(� �����$��'$ �� ��'� $ �+�'$�2��$ ������2��� ��� �02�����) �$ '(�3�� ��' �� 4��#(�
�����$��'$ �� ��$ �$ 3��$� #�� ��� �� #��� ���� �14��� ��$ ��' #��3��2��$) $��$� �14�� ��$
�$ 3��$$� ���� 2� �� �� ��' �� 4��#(� �����$��'$ ��!6

����! "
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���� ���(� $��� 2� �$����$ ��;� � ��� �14��� $����� 3�� ��� ����'$ ��� �''�#$����� �����
 2�4� ������ '�����*��$ '��$� ��� #��#� �$�� �� '�$$� ���� 1��6 
� ��;� $ �� ����� �14��
�$��$ ����L ���$�� $� �$ � N' ��2��$ �+#�� $���� � � ���4 $ ����� ���'$ �� 3� �� $ <$�� ��;� �
#��� '(�3��  2�4� �$ #��� '(�3�� #� �$ �� '�$$�  2�4�!) ���� ������ 2� �$����$ #��#����
��� '����� �� �14��� ��' ��2��$ '���'$�� ������) �$ ���' �$ � ����� �� #��$ 3��6


�� �14��� 3�� ���� #��#�����  ' ���$ ��;� �� �� 2�� 1�� 7 #��*� � <$�� ��' � $��$
�$ � ���� G 2�������2��$ H6 ����� �� �����$ ��� ���$�$ �� *� � ��4� �� �� ��4 �� ��� ��3�����
����� ���##� 3���$ #��� ��$��2 ��� � ���� #��*��$ ���##� 3���) �$ �� '�� �'(���$ ��$��2 ���
��(0#�$(1�� � �� #���� $�6 �� ���� #��F��$ ���� �� '�� �E �� �$��'$��� �� �� 2�4� ��$
��#�����$�� #�� �� 4��#(�) ��� �14��� �� *��$ ���' �+�2 ��� ��� �02����� #�����$� ���� ���
��22�$� ����� #��$ � �� 4��#(�) � �� 3�� �� �$��'$��� �� '�$$� #��$ � �� 4��#(�6 ��$$�
���� 1�� ���� ��;� � #�� �� 
����������� �� �� �14��) ���� 2<2� '�2#���� ���� �$��	����)
��#�����$��$ ��� ��'� ��*��$ <$�� ��'���� ��2��$ #�����$� #��� 3�� �� �14�� ���##� 3��) �$
���� ����2��� ����'� ��##��2��$� ���) ��'��$�$ ��6 ��22��F��� #�� ��;� � #��' ��2��$ '��
���+ ��$ ��� 9
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� !! +�$�������- �� ����		� �$��	���� 	� 
���	� S = (G, c)� �. G = (V, E) ���
�� ����)� 
������ �� ���� 
�
	�� �� �. c ∈ V ��� 	��� ��� ��

��� �� 
� ����)�� ��
����		��� c '��$�� �� �3����$$��
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���� @65 M �+�2#�� �� '��;4���$ �� 9 �� ��22�$ �� �� � ��$ �� ��22�$ #� �' #�� �� ��
'��;4���$ ��) ��� ��<$�� ��� *������ ��#�����$��$ �� �3����$$� �$ ��� ��<$�� *������ ���$ ���
��<$�� ��##��2��$� ���6
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�- �� ����		� 
����������� 	� ����	�� C = (G, c, E ′)� �.
(G, c) ��� �� �$��	���� �����	� �$��	���� �� 	� 
������������� �� E ′ ∈ P(V × V × R) ���
�� ����
�	� ����5��� ����	�
�������� ��� 	� �$��	����� ��	���� ���� R�


� ;4��� @65 2��$�� �� �+�2#�� �� '��;4���$ ��) �� � �$ �4���$ �� �3����$$� ��� ��<$��
��##��2��$� ���6
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:- �� ����		� ���	� 
���� 	� $������	�� R = (C, E ′′, ν, ψ)� �.
C ��� ��� 
������������ E ′′ ��� �� ���������
�	� �� 	�����
�	� ��� ��5��� �� �$��	����
����	� ����� �� 
�����
����� ν:V → [[1, k]] ��. k ��� 	� ��
��� �� ��

��� �� �$��	�����
��� ��
��������� ��� ��

��� �� �$��	����� �� ψ : Sk → S × R ��� ��� ���
���� ����
���
���� �� �������

���� �##� 3��� ��� �14�� ��� �� #� �$ p �����  2�4� I ��#�����$�� #�� �� 4��#(�) ��
'�22��'��� #�� $���*�� �� ����	4��#(� �� I  ��2��#(� �� �3����$$� S �� �� �14��) $��
3��) � ���� ��$� ϕ �� ��2��#( �2� '�����#�����$) �� � $ ϕ(c) = p) �E c ��$ �� '��$�� ��
�3����$$�6 � �� $�� ����	4��#(� �+ �$�) �� �##� 3�� �� ���'$ �� �� ���$ � ψ ��� �� k	�#��$
'�2#��� ��� �02����� �� '(�'�� ��� ��22�$� �� '� 4��#(� #� � ���� ������� ��;� #�� ��
���'$ �� �� ��2���$�$ �� ν6

��$��� (s, q) �� �����$�$ �� '�$$� �##� '�$ ��6 ����� �� �14�� ���##� 3�� � �$ �����2��$
� q ��$ �$� '$�2��$ #�� $ �6 
�(0#�$(1�� #���� $� ��$ �� 3�����#��$ (ve, E, s, n)) �E 9

M ve = p)
M E = ϕ(E ′′))
M s ��$ �� s #���� $ #�� �� ���'$ �� �� ���$ �)
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���� @6� M �##� '�$ �� ����� �14�� 9 7 4��'(�) �� '��;4���$ �� ��! �$ �� 4��#(� �� $��*� �
��!6 �� �##� 3�� �� �14�� ��� �� ��22�$ '��$��� �� 4��#(�6 
� #��$ � ��� $� 2��$�� ���+
�##� '�$ ��� #��� ����) ��� �'! �������� �$��'$������ ��$ �� 0.2) ��� ��! ���� ��$ �� 0.86

M n = q ·q′) �E q ��$ �� 3��� $� �� '��$���) #���� $� #�� �� ���'$ �� �� ���$ �) �$ q′ ��$ ��
3��� $� �� �� �$��'$���) �$ ��$ �4�� �� '�2#��2��$� �� �� �� ��22� ��� *����$ �� ���
��<$�� ��##��2��$� ��� �� �� '��;4���$ �� 3� �� ���$ #�� #�����$� ���� �� 4��#(�
 2�4� ������� �$��'$������!6

�� #��$ 3��) �� �$ � ���� ���*��$ ��� ���'$ �� �� ���$ � $���� 3�� q = 0 ���� �� ��
#� �$) '���$ 7 � �� 3�� �� �14�� �� ���##� 3���� 3�� ��� �� ���� =�� �� �02�����6 
� 3��� $�
�� ��(0#�$(1�� #���� $� �� ��#��� ����� #��� 3�� �� �������� �$��'$������6 
� ;4��� @6�
����� �� �+�2#�� ���##� '�$ �� ����� $���� �14��6

��� ������ 
�
����
�	��


�� �14��� 2�$ ��) ��'� $�� ���� �� ��'$ �� #��'����$�) ���$ ����$ *�2��$ � '(��) $��$ ��
4�����$ ��� 4����� J�+ � � $�6 ���� ���$ #��$ '�� 1��2��$ ���#$��� 7 ��� ��;� $ �� 2�������
��� �14���) #�� �+�2#�� #�� �� �+#��$6 ���� #��#�����  ' �� �$���� �� ��� ��$�� '����� ��
�14���) #��� � 2#��� �$ ���' #��� ��' ��2��$ 2�� #������� ��$�2�$ 3��2��$) 2� � #��$	<$��
2� �� ���#$��� 7 �� $�� $�2��$ 2�����6

����� $�*	�
�
	


�� �14��� ���2��$� ��� ���$ �� �� $ ��� �14��� 2 � 2����) �� '� ���� 3������� �� #������$
�� '�2#$� 3����� ����� #��#� �$� ���=�'��'�) ����� �� *� � ��4�! 7 �� �� �) �$ 3������ �4 ����$
��� �� ��2��� 2 � 2�� �� ��22�$� ���� �� 4��#(�6 ��� �14��� ��$ ���' ��� �+#���� * $�
����$ *�2��$ ���� $�) �$ ���� �$ � ��$ �� �� 2�� 1��  ����� ���*1�� <$�� ����L � 2 $��6 �����
��* �����$ #��� �$ ��� �$ � ���� �� G 4���#�� �� �14��� H) '�22� ���� �� *������ #�� �� �� $�6

���� $�� $�� �� 4��#(� ����=�'��'� � 2#��) ���� �$ � ������ $�� � �14��� ���2��$� ��� ��
���� 9
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M 
�� �14��� �� �� �$��#��$�$ ��) ��$��� si → sg) ���##� 3���$ 7 $��$ ��22�$ �� �02����
si) �$ ��2#��F��$ '� �02���� #�� �� �02���� sf ) ���� �8�'$��� �� '��$��'$ ��6

M 
�� �14��� �� 2��3��4�) ��$��� si + s′ → sf + s′) ���##� 3���$ 7 $��$ ��22�$ ��
�02���� si #�������$ �� *� � � �� �02���� s′6 
� �14�� ���8�'$�� #�� �� '��$��'$ ��)
2� � ��2#��'� �� �02���� si #�� �� �02���� sf 6

M 
�� �14��� �� '��$��'$ ��) ��$��� si+s
′ → sf ) ���##� 3���$ ��� �� ��22�$ �� �02����

si #�������$ �� *� � � �� �02���� s′) �$ '��$��'$��$ '�� ���+ ��22�$� �� �� ��22�$
�� �02���� sf 6

,���$��� �14��� #��*��$ <$�� �=��$��� #��� $�� � '�2#$� ��� #��$ '���� $� �� �� �$��'$���
�� ������ �8�'$ *�2��$ �$ � ��� #��� ��#�����$�� �� 2�4� ����3�� � �� ���4 $ #�� ���� 4��#(�
����=�'��'�6 � �� ) ���� �� '�� ���� 4��#(� �*�' *� � ��4� �������) ���� #��*��� �=��$��
��� �14�� ��� ������� ��� *� � �� ���� ��22�$) ��$�� si ⊕ (s1, s2, s3) → sf ⊕ (s1, s2, s3))
���##� 3���$ 7 �� ��22�$ �� �02���� si �$ �� $�������2��$ �� �� �02���� sf �� � #���1��
��� *� � �� �� �02����� s1) s2) �$ s3 ���� '�$ �����6 ,� 2<2�) ���� �� '�� ���� 4��#(�
�*�' ����)  � ���� #��� ��� �� '��$�:��� �� '��'�����'� �� ���+ �� $�� � ��<$�� ������ 9 #��
�+�2#�� �� �14�� si − s1 − s2 → sf − s1 − s2 ���##� 3�� � ��� ��4 �� �� �02���� si �$
��=�'��$� 7 ��� ��4 �� �� �02���� s1) ���� 2<2� ��=�'��$� 7 ��� ��4 �� �� �02���� s2) �$
3�� ��� ������ ��� ���+ ��<$�� ��#�����$��$ '�� ��=�'��'�� ���$ '��'�����$��6 ,��� '� '��)
�� �02���� si ��$ ��2#��'� #�� �� �02���� sf 6
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��
�
	 �	 ������ �����	
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� '�22�  �� 3�� #��� (��$) ��� �14��� ���2��$� ���) �2#��0��� ������) ���*1���$ <$��
#�� �+#���� *��) ���$ � ��$ �� �� 4���#�� �� �14��� #��2�$ �� #��� �� '� #����12�6 
� ���4 $
 ' �� ��'�2#���� ��� �14�� '�2#��+�) '�22� #�� �+�2#�� ��� �14�� 2�$ � $���� 3�� ��'� $�
���� �� ��'$ �� #��'����$�) �� �� ����2��� �� �14��� ���2��$� ��� �#�' �� ����6 �� #��'1��
����� �� $�� � $�2#� 9

>6 �� ���� � ������� �� 2��3��� ��� #��$ � �� 4��#(� 7 ��� �� �� �14��� �� 2��3��4�6

�6 &�� #��$ � � �� ��;� � �� �� L��� 2��3��� ��$ ����� '��$��'$�� 7 ��� �� �� �14��� ��
'��$��'$ ��6

@6 ��;�) ��� �02�����  � $ ��+ ���$ ��$��� � ��� ��� L���� 2��3���� 2� � ��� '��$��'$���6

���� #��������  ' '�22� �+�2#�� �� '�� ����� �14�� 2�$ � ���� ��<$� ��'��$�$ *� ����
�� '��;4���$ ��) �$ ���$ �� ��2� �� ��$ ���� $ 7 �� � �4��$��6 ���� �##� 3��� ��� $���� �14��)
 � ���$ ���� �� #��2 �� $�2#� $���*�� �� �##�� �2��$ ��$�� �� '��;4���$ �� ����� $�  ' ��
�3����$$�! �$ �� ����	4��#(� �� 4��#(�  2�4�6 ���� '���) �� �$ � �� ��� �14��� �� 2��3��4�
��$ ����� �14�� �� �� �$��#��$�$ ��!) 3� *��$ ������ ��� �02����� #��' � 7 '(�'�� ���
��22�$� �� ����	4��#(� '�����#�����$6

���� '���) �� '�22��'� #�� 2��3��� �� ��22�$ 3� ���� �##�� � �� '��$�� �� �� �14��
7 ��� �� ����� �14�� �� �� �$��#��$�$ ��6 ��$��� 3�� '�$$� �$�#� #��2�$ ��=7 �� '��$�:���
�� �02���� #�����$ ���� '� ��22�$6 ��##����� 2� �$����$ 3�� �� �3����$$� �� �� �14�� ��$
���� '0'��6 
� ���4 $ ���' ���� �����) 3�� ���� ������ #��'��� � �� #���������6 � '(�3��
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�$�#� �� #��'����) ���� � �� #�����$ �� ���'��$� 3�� #�����$ �� ��2��$��) �� ��� 4�� ��
��22�$ #��'���� �� �02���� #��' �6 
���4�� $(2� �� #��'���� �� #�����$� ���' � �� 9

>6 ��$��� n �� ���� �� ��22�$ 2��3��) �$ s1 �� 2��3�� � �6 ��� �02���� �#�1� 2��	
3��4�!6

�6 ���$ 3�� � ���$� �� ;�� ��� $�� $� 7 n ���� �� '��;4���$ �� 9

��! �(��'(�� �� '��� ��$ n′ ���� �� 4��#(�  2�4� #��*��$ <$�� �##�� � 7 '� ;��6

��! /��3��� n′ �*�' �� �02���� s′1 �$ �##� 3��� ��'��� *�2��$ �� #��'���� ��� n′6

�'! � �� #��'���� ����� $) '(��4�� �� 2��3�� �� n � �6 ��� �02���� #���� �� si 7
si+1!6


�� �$�#�� �� �$ �� #��*��$ <$�� � 2#��2��$ ���� ��� 7 ��� �� ����� �14�� �� 2��3��4�
s+ si → s′1 + si) �E s ��$ �� �02���� �$$���� #��� �� ;�� '��� ����) �$ si ��$ �� 2��3�� �� n
�� 2�2��$ �E ���� ��'(��'(� '� ;�� � �6 i = k ����3�� ���� ��'(��'(� �� ��22�$ 7 �##�� �� ��
k	 12� ;�� �� n!6 ���� '�����#�����$ �� #��2 �� #����4� ����� ���'�����$! ���� �� #��'����
�� #��������� �� �������6


��$�#� �' '�����#��� �� ��'��� #����4� ����� ��'�����$! ���� �� #��'���� �� #�����	
���� �� �������6 ��$$� �$�#� ��� � �� 3�� � �� #��'���� 7 ����� #��� �� ;�� n′ '��� ����)
'���$ 7 � �� � '(�'�� ��� ;�� �� n′ � #� <$�� '����'$�2��$ $�� $�6 �� �� $�� $�2��$ ���� ;��
�� n′ �� $ #����� �� 2��3�� �� s′i 7 s′i+1) �$ n′ ��F� $ �� 2��3�� s′1 �*��$ �� $�� $�2��$ �� ���
#��2 �� ;��6 �� �� ���� $ 3�� �� $�� $�2��$ �� n′ � ����� � �$ �����2��$ � ��� �02����
��$ #���� 7 s′p) �E p ��$ �� ��2��� �� ;�� �$$����� #��� n′6 �� #��$ ���' �8�'$��� ���$�#�
�' 7 ��� �� ����� �14�� si + s′p → si+1 + s′p) �E i ��$ �� �� '� �� ;�� �� '���� �� $�� $�2��$6

��$��� 3�� ��� �14��� � �� ��;� �� �� #��*��$ ���##� 3��� 3���� '��'���) �� 2��3���$
�� #��'(� �� #��'(� $��� ��� ��22�$� �� ����	4��#(� �##�� � 7 �� '��;4���$ �� �� �� �14��
2�$ � 7 #��$ � �� #��2 �� ��22�$6 
� ��0 � ���' #�� �� � �3�� �� '����� ��) $��$ 3����
���� ��22�$ ��F� $ �� 2��3��  � $ ���) '���$ 7 � �� $��$ 3�� �� �14�� �� �� �$��#��$�$ ��
�$ � ��� #��� 2��3��� '� ��22�$  � $ �� ��$ �� #� �� $� #��� �� ��� 3�� ������2��� ��� ��$���
�14��� �$ � ���� #��� � 2���� �� �14�� 2�$ �6 "�2��3���� ���� 3�� � '�$$� '���$��'$ ��
�� ���##� 3�� � ��'$�2��$ 3��7 ��� �14��� 2�$ �� ���$ �� '��;4���$ �� ��$ �� �����) '���
#��$ <$�� �$���� 7 �� 2#��$� 3��� 4��#(� �� '��� �����$ �� ����� '��*���$ �� '� 4��#(�)
#� � �� 2��3���$  �� * ������2��$ '(�'��� ��� ��<$�� ���$��$��6 
� ���$ $��$��� � #�����
7 #��#�4�� �� ����2�$ �� '�22� 3�� '(�'��� �� '�� ��<$�� � � �� �$� 2��3��� =��3����
��22�$ �##�� � �� '��$��6

&�� �� � �� 2��3��4� �8�'$��) �� �14�� #��$ ���##� 3��� � �� '��$�� ��$ ����' � 7 ���
2��3�� #��$ '�� 1��6 
� ��N$ ����� ���##� 3��� ��� ��� � �� �14��� �� '��$��'$ ��) ���##� 	
3���$ ��� �� '��$�� �$ ���� �� ��� *� � ��) �$ �$$� ����$ �� ���*��� ��22�$ �� �02���� 3� 
���* �� ����$��� #��� �� '��$��'$ �� �� *��$� ��� ���� 1�� '��$��'$ �� �$$� ��� �� ��22�$
��$��� �� �02���� �� ���$ � �� �� �14�� 2�$ �!6

&�� �� � ��� '��$��'$ ��� �'(�*���) ��� ��22�$� ��'��� 2��3��� �� *��$ ��'�#���� ����
�02���� ���� 4 ��6 ���� '���) �� �$ � �� ��� �14��� �� �� �$��#��$�$ ��) ��2#��F��$ �� 2��3��
#�����$� ���� '(�'�� ��� ��22�$� #�� ����� �02����� �� 4 ���+6 ���$�� ��2��$ ��+ �14���
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#��'����$�� 3� ���+�'�$��$ �� ��3���'�) '�� ���� 1��� #��*��$ ���+�'�$�� 7 $��$ 2�2��$6

� ��$ ���' ��'���� �� �� ��������� 3�� ���� #� �� $� ��$ #��� �� ��� 3�� '���� ��� �14���
#��'����$��) 7 ���+'�#$ �� �� �� �14�� �� �� �$��#��$�$ ��  � $ ���6 
� ;4��� @6� ����� ��
�+�2#�� �� ��3���'� �� �14��� ���� �� '�� � 2#��6

��� '��� ����$ ��� ��� ��� #� �� $� ��� �14��� ���� ��$ #����� 7 ��� ��#���� �� $�� �
'�$�4�� �� 9

M 
�� �14��� #� �' #����) '��$����$ $��$�� ��� �14���  �� * �������) �$ ��� �14��� �� �� �	
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/ � 7 #��$ '� '(��4�2��$ ���� �� ���� �� #��'����) ����4�� $(2� ��$ � 2 �� �� 7 ����4�� $(2�
#��'����$ 9

M �� #��� µ(0) = n � �6 G′
0 = Gn!6
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M ���� k) ��##����� µ(k) ��;� �) �$ ��$��� G′
k �� 4��#(� Gµ(k)6

���� $��$ i < k) �� ��$� Hi ������2��� ��� (0#�$(1��� �� ����'$ �� #���� $�� #�� ���
�14��� ��� �� 4��#(� Gi �� �� #0��2 �� ���2��$� �� �2� � *��� '�22� ��� (0#�$(1���
��� �� 4��#(� G0!6 �� ��;� $ ����� µ(k + 1) �� #����$ 9

µ(k + 1) = min

{
0 � i < µ(k) : hi+1, . . . , hµ(k)

���$ $��$�� ���� Hi)
�$ ���$ '�2#�$ ����

}

��� '���$��'$ �� �� µ(k + 1)) ���� �*��� µ(k + 1) < µ(k)) ���� ��22�� ���� ���'
������� 3�� �� �� $� (µ(i))0�i�k+1 ��$ �$� '$�2��$ ��'�� ����$�) $��$ �� ���$��$ #�� $ *�
�� �����6

M 
� '���$��'$ �� �����<$� ����3�� ���� ��� *� 7 p $�� 3�� µ(p) = 06

� �� $� (µ(i)) � �� '���$�� $� �$��$ ��'�� ����$� �$� '$�2��$ �$ #�� $ *�) '�$ ��4�� $(2�
���'(1*� � �� �� �� $�2#� ;� ) �� $ ����3�� 0 ��$ �$$� �$) �� $ � �� min 3�� ���� � 7 ��$��2 ���
#��� ���� ��� µ(i) ����$ #�� ��;� 6 ���� ������ 2� �$����$ 2��$��� 3�� � �� '(�B�� ��$
� �� ��4������ #�� ��� �14���) ����� '� ���� �� '�� �� �� #�����$� =�2� �) '���$ 7 � �� 3�� ��
'���$��'$ �� �����<$� ��'���� ��2��$ ��� �� p $�� 3�� µ(p) = 0) �$ 3�� �� #��� '� p �3� ��$
�� (��$��� �� �� #0��2 ��! ��$ 2 � 2�� #��2 $��$�� ��� #0��2 ��� *�� ;��$ ��� #��#� �$��
��3� ���6

��##����� ���' �� '(�B�� ��4������ #�� ��� �14���6 ��� ��;� $ ��) '���  2#� 3�� ���+ �	
$��'� ����� #0��2 �� *�� ;��$ ��� #��#� �$�� ��3� ���6 ��$��� µ′(k) �� �� '� �� k	12� � *���
�� ������� �� ��

�� �� '�$$� #0��2 �� ���� �� #0��2 �� ���2��$� ��) '���$ 7 � �� 3�� ����
��$� Gµ′(h′)) 6 6 6) Gµ′(0) ��� � *���+ �� '�$$� #0��2 �� ��� #��$ '�� ��) µ′(0) = n) µ′(h′) = 0
�$ h′ ��$ �� (��$��� �� �� #0��2 ��!6

��##����� 2� �$����$ #�� ��������� 3�� µ ���$$� 4�� #�� 06 ��$��� p ����$ �� i 2�+ 	
2�2 #��� ��3��� µ(i) ��$ ��;� ��� $�� p �+ �$� '�� µ(i) ��$ �� 2� �� ��;� �� 0) �$ �� ����$
3�� ��� �� ��2��� ;� �� *������!6 ��22� µ ���$$� �$ #�� 0) �� � µ(p) > 06 �� µ′ �$$� �$
0) ���'  � �+ �$� ��� ��$ ��� i $��� 3�� µ′(i) < µ(p) ��$ '�� ���� ��� ���$ �� ��2��� ;� !6
��$��� p′ �� 2 � 2�2 �� '�� ��$ ���) 3� ��$ ��'���� ��2��$ ��� ���) '�� µ′(0) = µ(0) = n6
�� � ���' µ′(p′) < µ(p) � µ′(p′ − 1)6 �� Gµ′(p′−1) = hµ′(p′−1) ◦ · · · ◦ hµ′(p′)+1(Gµ′(p′))6 ��
�� #0��2 �� ��;� � #�� µ′ *�� ;� ��� #��#� �$�� ��3� ���) ���' ��� (0#�$(1��� hµ′(p′)+1 7
hµ′(p′−1) ���$ '�2#�$ ���� ��$�� ����� �$ ���$ 4������� #�� ��� �14��� ��� �� 4��#(� Gµ′(p′)6
���� ��$ ���' �� #��$ '�� �� *�� #��� ��� �14��� hµ′(p′)+1 7 hµ(p)) '� 3�  2#� 3�� 3�� µ′(p′)
�� $ #��$ � �� ������2��� ���$ �� �� $ �*����� �� 2 � 2�2 #��� '��'���� µ(p + 1)6 ��$ ��	
��2��� �$��$ ��� * ��) �� 2 � 2�2 �+ �$� �$ µ(p + 1) ��$ ��;� ) '� 3� '��$��� $ �� '(� +
�� p6 �� �� ���� $ ���' 3�� ��$�� ��4�� $(2� �� $��2 �� � �� ��� �� h $�� 3�� µ(h) = 06


� #���*� 3�� �� (��$��� ��$ 2 � 2��� ��$ � 2 �� ��6 ��##����� #�� ��������� 3�� ��
(��$��� h′ �� �� #0��2 �� ��;� � #�� µ′ ��$ �$� '$�2��$  ���� ���� 7 �� (��$��� h �� '����
��;� � #�� �� µ 3�� ���� �*��� '���$�� $6 ���� � 4� ;� 3�� µ(h′) ��$ ��;� � �$ 3�� µ(h′) >
0 = µ′(h′)6 ��$��� ����� p �� 2 � 2�2 ��� i *�� ;��$ µ(i) > µ′(i)6 �� � ���' 0 < p � (h′))
'�� µ(0) = µ′(0) = n) �$ #�� ��;� $ �� �� 2 � 2�2) µ(p) > µ′(p) �$ µ(p− 1) � µ′(p− 1)6

� 4��#(� Gµ′(p−1) �$��$ ��$��� �� �##� 3���$ ��� (0#�$(1��� hµ′(p)+1 7 hµ′(p−1) ��� ��
4��#(� Gµ′(p)) �� �� ���� $ 3�� '�� ���� 1��� ���$ '�2#�$ ���� �$ ���$ �2 ��� #�� ��� �14���
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7 #��$ � �� 4��#(� Gµ′(p)6 ����$ ���' ���� �� '�� #��� ��� (0#�$(1��� hµ′(p)+1 7 hµ(p−1))
'� 3�  2#� 3�� 3�� µ′(p) �� $ #��$ � �� ������2��� ���$ �� �� $ �*����� �� 2 � 2�2 #���
��$��2 ��� µ(p)) �$ ���' 3�� µ(p) � µ′(p)) '� 3� '��$��� $ ��(0#�$(1�� µ(p) > µ′(p)6 � �� )
�� #0��2 �� ��;� � #�� µ #���1�� � �� ��� (��$��� 2 � 2���6

� �� ) 3����� 3�� �� $ �� 2�$(��� �$ � ��� #��� ����'$ ����� ��� (0#�$(1��� 7 �##� 3���
���� �� #��'����� �� '���$��'$ �� ����� #0��2 ��)  � ��$ #��� ���) �$��$ ������ ��� '(�B��
�� ����'$ �� �� '�$$� #0��2 �� �� ����;� � ��� #0��2 �� ���#�'$��$ ��� �14���) '���$ 7
� �� $���� 3�� '(�3�� � *��� #� ��� �8�'$ *�2��$ <$�� #���� $ �� ���##� 3���$ 3�� ���
(0#�$(1��� '�2#�$ ���� �2 ��� �� � *��� #��'����$6 ,� #���) '�$$� ���*���� #0��2 �� ��$
�� #��� ���� 4����� 3�� �� #0��2 ��  � $ ���6 ��$��� ��;� 3�� '��$�� ��2��$ �� #��2 ��
��4�� $(2� #��#���) '� ���� �� ��'��� $� ���*����� ��� (0#�$(1��� 4������� 7 '(�3�� � *���
�� �� #0��2 �� ���2��$� ��) �$ #�� �����2��$ ��+ � *���+ �8�'$ *�2��$ ��$���� ���� ��
#0��2 �� '���$�� $�6

��$��2��$ � $) �� 2<2� 3�� � ��$ #��� ��� �� ��;� � ��� '(�B�� �� ����'$ �� 7 #��$ �
����� #0��2 ��) �� ��' #��3�� ��$ *�� �) �$ �� #0��2 �� � �� ��$���� *�� ;� ��� #��#� �$��
�� ���� ��� #0��2 ��� '���$�� $�� ���� �� '(�# $�� #��'����$6 ��$�� ��=�'$ � ���� ���')
�#�1� �*� � ��$��2 �� ��� G ����� H '(�B�� �� ����'$ ��) �� *� � '�22��$  �J��� ��� ��
#��'����� �� ����'$ ��) �$ �*��$�����2��$ ��� �� '(� + ��� �14���) �;� ����$�� � �� #0��2 ��
'�����#�����$�6
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�*��$ �� ����  �$������� 7 ���$��� �� ����#�'� ��� '(�B��� �� ����'$ ��) ���� $��2 ������
'�$$� �$��� �� �� ��$ �� �� '(�B�� �� ����'$ �� �� � �$ �4���$ ���+ '�$�4�� �� #��$ '�� 1���
�� '(�B��� �� ����'$ ��) �� #��#����$ �� ��4�� $(2� �� '���$��'$ �� #��� '(�'��� ������6

� #��2 1�� '�$�4�� � '�����#����� ��+ #0��2 ��� '���� 3���) ����� 3�� �� ��'���� �� ����
��� �+$��� ��6
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&�� #��2 1�� '�$�4�� � �� '(�B��� �� ����'$ �� #��$ '�� 1��2��$  �$�������$�� 7 �$�� ��
��$ '����� '�����#�����$ �+�'$�2��$ ��+ #0��2 ��� #���� $�� ���� �� '(�# $�� #��'����$6
�� �8�$) #��� �� 4��#(� �����) ������2��� ��� '(�B��� �� ����'$ ��� �� '�$$� '�$�4�� � '��	
���#��� 7 ������2��� ��� #���2�$��4�� #��� ���� ��� �14���) �$ �� ��'(��'(� ��� 2� �������
'(�B��� '�����#��� ���' 7 �� ��'(��'(� ��� 2� ������ #���2�$��4��6 ,��� '� '��) ����4�	
� $(2� �� ����'$ �� �� �� 2<2� ���$� ���' ;+�) �$ ����� ��� #���21$��� ���$ 7 ��$��2 ���6


� '���$��'$ �� �� $����� '(�B��� �� ����'$ �� �� #��� #�� �� #����12� �� �� 6 
� ���4 $
� 2#��2��$ �� '���$�� �� ��� #0��2 ��) #� � ���� �+$�� �� ��� '(�B�� �� ����'$ �� ��
�$ � ���$ �� 2�$(��� ��'� $� �� ����$ �� '� '(�# $��6 ��� ���+ �$�#�� #��*��$ <$�� �� $��
� 2��$���2��$) #�� �+�2#�� �� �$ � ���$ ����4�� $(2� �� *��$ 9

>6 ��$��� G �� 4��#(�  � $ ��
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�6 ������ R = ∅
@6 ���$ 3�� ���+#����$ �� �� G #���� $ ��� (0#�$(1���)

��! ������ H = ∅
��! ��$��� h ��(0#�$(1�� �� #� �� �� #��� ���$

�'! D� �� H ← H · h �$ R← R · h
��! ��##� 2�� $��$�� ��� (0#�$(1���  �'�2#�$ ���� �*�' h

��! "�#������ �� @� $��$ 3�� � ���$� ��� (0#�$(1���

��! D� �� G← H(G)

�6 �� ��$ ��$ ����� �� '(�B�� �� ����'$ �� ���� R

�� ��2��3���� �� #��$ '�� �� 3���� 2�� ;��$ ��� #� �� ��� �14���) �� #(��� �� ����'$ ��)
 ' ���$�#� @�) �� '(� � �� #�� ��'���� ��2��$ ��� 2<2�� (0#�$(1���) '� 3� '���� �� 7 ��
4�����$ �� ����� '(�B�� �� ����'$ �� � 8����$�6

<0����

� � � 	"��� ��
:
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� ��� '(�B��� ��'� $�� #��� (��$ '�����#�����$ �+�'$�2��$ �� #��'����� �� ����'$ ��
'���� 3��) �$ ���$ ���' ��� #��� �##��#� ��� #��� �$�� �� �� #���2�$��4� �� '� ���� ��) �����
#�����$��$ �� �'��*�� ��$ �� 2��3��� �� G ��4���� $� H6 �� �8�$) ��� � 8����$�� (0#�$(1���
3� ��� '���$ $���$ �� #�����$��$ #�� ��� 2<2�� '���'$�� �$ 3��� 9 '��$� ��� ���$ �2 ���
=��$� �#�1� ��� #(��� ���+#����$ ��) �$ ���##� 3���$ ���' � ��'$�2��$ ��� ��� 4��#(�� #���
���3���� ����� ��$ �$� 4�������) ����� 3�� ����$��� ���$ �2 ��� $��� *�2��$) �#�1� #��� ����
�$�#�� �� ����'$ ��) �$ ���##� 3���$ ���' ��� ��� 4��#(�� 3� �� ���$ #��� '��+ #��� ���	
3���� ����� ��$ �$� �2 ���6 
��� �� ���$��� �� '�� '(�B���) ���� *������ 3�� '�� � 8����'��
 �$���� ���$ �� 2��3�� ���� ���2 $� ���� �� ��F�� ���$ ����#�'� ��� '(�B��� ��$ ��;� 6

�� 2��3�� ���� ���2 $� ��$ �� �� $ �T �� �� $ 3�� �� '���$��'$ �� ��� '(�B��� �� �� $ ��
�� ��# ���$ � ��'$�2��$ �� #��'����� �� ����'$ ��) 3� �#�1� '(�3�� �+#����$ �� ����'$ ����
#��� ���� (0#�$(1���6 ���� #��#����� ���' �� '���$�� �� ��� ��$�� '�$�4�� � �� '(�B���)
� $�� �� ���2��) �� �� 2<2� ��F��) 2� � �� �� ����'$ �����$ 3����� ����� (0#�$(1�� 7 ��
�� �) �� ���$� 3�� '(�3�� (0#�$(1�� �� $ � ��  ���� ����� �+#����$ �� ��� �� 4��#(� ��� ��3���
���� ���##� 3�� 9

>6 ��$��� G �� 4��#(�  � $ ��

�6 ������ R = ∅
@6 ���$ 3�� ���+#����$ �� �� G #���� $ �� ����2��� ��(0#�$(1�� ��� * �� 9

��! ��$��� h ��(0#�$(1�� �2 �� �� #� �� �� #��� ���*�

��! �8�'$���� ����� R← R · h �$ G← h(G)

�6 �� ��$ ��$ ����� �� '(�B�� �� ����'$ �� ���� R
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�� ��$���  ' 3��7 ���$�#� @)  � ��$ ��'���� �� �� �����'�� �� #��'����� ���+#����$ �� �*��$
�� ����'$ ����� '(�'��� ��� (0#�$(1���) '���$ 7 � �� 3�� ���+#����$ �� ���� �8�'$��� ��	
$��$ �� �� � 3�� � 0 � �� � *���+ ���� �� #0��2 �� ���2��$� �� �� ����'$ �� ����' �� 7 ��
'(�B�� '���$�� $�6 �� #��'����� �$��$ ����$ *�2��$ '�T$��+) ��� *�� ��$� '��� �$� 7 �� #��
�8�'$��� ���+#����$ �� ��� ������2��� �� 4��#(�) 2� � �� 3��2��$ ��� �� #��$ � �� 4��#(�
2�� ;�� #�� ���##� '�$ �� �� �� ���� 1�� (0#�$(1�� ����'$ �����) �$ �� '�����*�� ������2���
��� (0#�$(1��� �� ���$�#� #��'����$� 3� ���$ '�2#�$ ��� �*�' '�$$� ���� 1��6

�� ��$��� 3�� '�$$� '���$��'$ ��) ���� �� *��� ��  � $ ���) '���$ 7 � �� �*�' �+#����$ ��
'�2#�1$� 7 '(�3�� �$�#�) '�����#��� �+�'$�2��$ 7 �� '���$��'$ �� ����� #0��2 �� �*�'
�� 2�$(��� '���� 3�� ���� ��3����� �� ���� $ ��2#��'� �� '� $1�� �� ����'$ �� 2�+ 2��� #��
�� '� $1�� �� ����'$ �� 2 � 2���) '(� � ����$ �� 3��2��$ �� 2� ������ (0#�$(1�� 7 '(�3��
�$�#�6 
� ��'���� *��� ��) �E ����� �� #��$ � �� 4��#(� 2�� ;�� #�� ���##� '�$ �� �����
(0#�$(1�� ��$ �+#����� ����� #�������� ����� ���+#����$ �� ��'���! �� ��$ �����2��$ ���
�##��+ 2�$ ��6 �� #��$ '�� ��) ���� #��$ #���� �� ��� '(�B�� 3� ����$ #��) ���� �� ���� �E
���� ���*��� ��;� #��� (��$) ��4������ #�� ��� �14���) �$ ���' 3� �� '�����#��� 7 ��'���
#0��2 �� #��*��$ <$�� 4������ #�� �� #��'����� �� ����'$ �� �� '(�# $�� #��'����$6

� �� #��$	�� �� ��2����� � ��� '(�B��� � �� #���� $�� �����$ ������2��$ �+#�� $�����6
�� #��$ '�� ��) � ���� ��##��� ��� #� �� '����'$�2��$ �=��$�� #��� ��$�� � �� 2� ������
'(�B�� �� ����'$ ��) ��� �14��� � �� ��;� �� ��������$	����� ��'��� �� ���� �����$�$� ����	
3���$ � ���� #�� �� #��'����� �� ����'$ �� �$������ K �� �� $) �� #����12� �� #��� 2<2�
���� �� '�� �E ���+#����$ �� ��$ '�2#�1$�) '�� �� ����'$ �� ���� �� #��'����� �� '���$��'$ ��
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3�� �� ���4���� ��� '(�B��� '�� ����$�� �� �02����� �� $ 2�=����!) ������2��� H �� $��$��
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M 
� ��' �� #���1�� |H| ;��) '(�'�� �$ 3��$� #�� �� ���2��$ �� H6
M �� $ n �� �Y�� ��=7 '���$�� $6 ��$��� Rn �� '(�B�� �� ����'$ �� ����' �� 7 n ����
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���� #��#����� ���' �� ��4�� $(2� 3� ��*���##� ��� ����'(� �� ������� �'���� '��	
���#�����$ �� 2� ����� '��� ��$ �'$���!) $��$ �� ��*���##��$ ����$��� ����'(�� ��$��� ��
'�$$� ���� 1��6 ��� ���� 1��� ���$ �����$ ����2��$ ��� 2� ������� ����'(�� ���$��$��) 2� �
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2�+ 2��� M ���� �Y�� �� 4��#(� '���$�� $) �$ �� ��2��� 2�+ 2�� B �� ����'(�� ��	
*���##���6 
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�6 ���� '(�3�� (0#�$(1�� h �� Hn �� ��$� e(h) = wmax − w(h) �������� ����' �� 7 h)
�E w(h) ��$ �� #� �� �� h �$ wmax ��$ �� #� �� 2�+ 2�� �� $��$�� ��� (0#�$(1��� ����
Hn6

56 �� �� ��� (0#�$(1��� �� Hn #�� ������� '�� ����$��6

�6 � e(n) = 0) �=��$�� �� ;�� f 7 n �$ ���$ 3��$�� #�� ��� (0#�$(1�� h ∈ Hn $���� 3��
e(h) = 06 ��##� 2�� '�$$� (0#�$(1�� �� Hn) �$ ��;� � ��� ������ #�� e(f) = 06
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��� � $�� ��'�� ����$�� ��+ ��$ ��� �� > 7 k) #�� �+�2#�� �*�' ��� #����� � $��
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�'! ���'���� '�22� �� � #��� ����'$ ����� �� #��� B ��� ���� ���� L6

��! ��##� 2�� �� ������� ��� ��� ���� ��� ����'$ ������6
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��$��� �� '�� ���'(�' �� 2 � �� ����� ��3���'�) 2� � #��$:$ ��� �14��� �� �*�� ��$ ��6 ,���
'� '��) $��� ��� 4��#(�� ���'�����$� �� �����$�$ �� ���##� '�$ �� �� �� ��3���'� #��$ ����
'��$ ������$ �� �02����  �*�� ��) �$ ��� ����'(�� �� ������� �� ����'$ �� '�����#�����$ 7
'�� 4��#(�� #������$ <$��  4������) �� ��##� 2��� �� 4��#(�) �*��$ ����$�2�� �� #(���
���##���$ ���4�6

/��(�������2��$) ��� $���� �##��'(� ����$ #��� ��� 3�� ��� �� 4��#(� '�2#��$6 ��
�8�$) �$��$ ����� 3�� �� �14�� ��'���'(��$ ����$��� ���� ��� ��3���'� �� �14��� ���2��$� ��
��$ $�1� #�� ���$� '$ *� �'�22� ������2��� ��� �14��� ���2��$� ���!) �� #��$ ���$$����� ��
#��$ 3�� 7 '� 3�� �� 2�=�� $� ��� ����'(�� �� ������� �� ����'$ ��� �� ��$ ��� ����'(��
 �*�� ���6 ��$�� ��4�� $(2� �� '���$��'$ �� #��$ ���� �� ������� � �3�� ���' �� #��� ���*��$
�� '���$�� �� �� ����� '�2#��� �� 3��2��$ �� ����'(��  �*�� ���) �$ ���'  ��+#�� $����
#��� ���##���$ ���4�6 
� ��$ ���' ��'���� �� ���� ������� 3�� ��� ����'(�� '���$�� $�� #��
��$�� ��4�� $(2�� �� ��$ $��$�� *�� ���) �� �� 2� �� 3����� 4����� #��$ � �� '�� ���� 1���
�� �� ��$6

���� '���) ��##����� $��=���� 3�� ��� �'(�'� �� 2 � �� ����� ��3���'� �� �14��� ���2��	
$� ��� �� ��$ 2��3���� #�� ��� �14��� �� �*�� ��$ ��6 � ) ���� �� ���$�#� @ �� ����4�� $(2�
#��'����$) ��� (0#�$(1�� �� �*�� ��$ �� ��$ �2 ��) '�$$� ���� 1��) �� 2<2� 3�� $��$�� ���
(0#�$(1��� �� #� ��  ���� ��� �� ���$ #��  �'����� ���� ������2��� Hn6 
� �Y�� ��$ �����
2��3�� '�22� �$��$ #�$��$ ����2��$  �*�� ��6 � ������2��� Hn ��$ * ��) �� �Y�� ��$ ��#	
#� 2�) �$ ���� $��$� �� '���$�� �� ��� ��$�� ����'(� 7 #��$ � �� ���� �� ��� ��'<$��� * �
�� 2�$(��� ��'��� *�6 ��$��� p �� #1�� �� n) � Hp ��$ ��� * ��)  � ��N$ ���� ����'$ �����
�� ���2��$ �� #��'����$ �� �� 2<2� ��F�� 3�� #��'���22��$6 � ���) �� ��'�22��'� ���
�� #1�� �� p) =��3��7 �$$� ���� �� ��' ��6 ,� #���) � n �$� $ �� ���� ;�� �� p �$ � p �$� $
#�$��$ ����2��$  �*�� ��) ����� '� ���� �� ��$ ��##� 2� �� �������6 ��$��� 3�� ��(0#�$(1��
���� �Y�� #�$��$ ����2��$  �*�� �� ����$ #�� �� �=�'$�� ���� �� � �$� Hp ��� (0#�$(1��� ��
��� #1�� ����3�� 3�� � ��$ ��##� 2�) '� 3� ���� 4����$ $ 3�� �� #��'����� ;� $ ��� ��2���
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,� #���) �� *� ����� #��$ '�� 1��2��$ 7 '�����*�� ��� ����'(� �#$ 2��� ���� �������)
'���$ 7 � �� 3��7 '(�3�� � *���) �� 2� �� �� �Y�� n �� $ �*� � ��� ������ e(n) �����)
������ 3� �� $ ���� 2<2� <$�� '��� 4�� ���� ��� ��##���� ��� �� �Y���6 � �� ) ����3����
�Y�� #�$��$ ����2��$  �*�� �� n ���$ ��(0#�$(1�� ��$ �������� ����� ��$ ��##� 2�) �� wmax

 �$��*����$ ���� �� '��'�� ��� ������� ����' ��� ��+ � 8����$�� (0#�$(1��� �� Hn #��$
<$�� 2�� ;�6 ��$$� 2�� ;'�$ �� ��$��B�� ���' �� '(��4�2��$ ��� ������� �� ������2���
��� �Y��� ���'�����$� �� n6 �#�1� ���*����$ �� ��� �������)  � ��$  2#��$��$ 3�� � ���$� ��
2� �� ��� ����'(� �������� ����� �'���$ 7 � �� ��� ����'(� �#$ 2���! ���� ������� '���$�� $6
� '� ����$ #�� �� '��)  � ��$ ���' ��'���� �� ���� '���$�� �� ���6

"�2��3���� ����� 3�� � �� �Y�� ��##� 2� #���1�� ��� ������ �����) ��� #1�� p #���1��
��'���� ��2��$ �� ���� ��� ������ �����6 
� ��N$ ���' ���� '� '�� �� ��*���##�� ���
����'(�  ���� �� p �� �� #�����$ 3�� ��� (0#�$(1��� �� #� �� 2 � 2�� 7 '(�3�� �$�#�) 3����
�Y�� �$ 3��$� #�� '�$$� (0#�$(1�� �+ �$� ��=7 ���3��� '�� �� �� '��$��$� �� �� *�� ���
����'(� ��=7 �+ �$��$� �� �������! �� ��� ���3��� '��) �� ��*���##� ��� ���*���� ����'(�!)
=��3��7 �$$� ���� �� � *��� �� '���� �� '���$��'$ �� �� ������� �� �� �$�$ ;��� #��� ���)
'���$ 7 � �� �� �Y�� 3� ����$ #�� #�$��$ ����2��$  �*�� �� �$ ���$ �� � �$� ��(0#�$(1�� ��$
* ��6 � '��� ����$ #�� #��� ���) �� �� $1�� �� #��'����� ��� �� #����$ �� p) �$ '�) =��3��7
�$$� ���� �� ��' ��6

� �� ) �� � ��$ #��� ��� �� '���$�� �� ��� ������ �� ����'$ ��� #��� ��� ��3���'�� ��
�14��� ���2��$� ���) '�$$� '���$��'$ �� �� ��*1�� <$�� �� #��$ 3�� ����$ *�2��$ '�2#��+�6
�� #��$ '�� ��) ���� ��'��� $� �� 2�2�� ��� ��� ����2���� ��(0#�$(1��� Hn #��� '(�'��
��� �Y��� �� �������) '� 3� #��� ��# ��2��$ ��� #����12�� �� #��'� 2�2� ��6 &�� ��$��
����$ �� '��� �$��� $ 7 ��'��'���� ��� Hn 7 '(�3�� �� � 3���� �Y�� ��$ $��*����6 ��$�� ��
$�2#� �� '��'�� ���*�) ��� Hn �� ���$ ������2��$ �4��+ ��+ �����$�$� ��� �+#����$ ��� 3��
���� �� #��2 �� #����4� ��� �� �Y�� 9  � ��$ ���' ��'���� �� �� 2�2�� ��� ��� (0#�$(1���
7 ��##� 2�� �� '(�'�� ��� Hn ���� �� '(�3�� #����4� ��� �� �Y�� n6 ��$$� ���� 1��
�##��'(� ���$� '�#�����$ �� ����� �$ � ����� �� #��$ 3��) �� �$�'W�4� �� ������2��� ��� Hn
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#� �$ �� *�� $(��� 3�� ���� �� ���2� ����� ��'(��'(� ���� 2�+ 2�2 4�����) #� � #��$ 3��)
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��� �14���) � �� 4��#(� G′ ��$��� �� �##� 3���$ �� #��'����� �� ����'$ �� '�����#��� ��
4��#(� ;��� ���(� $� �*�� $� $���� �!6 ��$�� ��=�'$ � ��$ ����� �� $���*�� ��� *����$ �� ���
�14��� 3� 2�+ 2 �� �� ��2��� �� 4��#(�� '����'$�2��$ ���� $�6
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4��#(�� �� �� #0��2 �� '���$�� $� �$ �� 4��#(� ;���  �� 3�� #�� �� *�� $� $���� �6 ����
'���) �� ��##��� ������ ��� � �$��'� d ��$�� ��� 4��#(�� � � #����� ���4 � ����� � �$��'�
���� $ ��) �� �� $��$� ��$�� � �$��'� � '$�� #�� ��� �##� '�$ �� #��$ '�� 1��!6 �� �##����
����� ������ �� ����'$ �� ���� 4��#(�  � $ �� G �� 3���$ $� 9

e(G) = min
G′∈P(G)

d(G′, Gf)

�E P(G) ��$ ������2��� ��� 4��#(�� �� �� #0��2 �� '���$�� $� 7 #��$ � �� G) �$ Gf ��$
�� 4��#(� ;��� �� �� *�� $� $���� �6 &�� 2����� �� 3��� $� #��$ <$�� ��;� � �� #�����$
� 2#��2��$ �� �*���� �� �������� 9 q(G) = 1/(1 + e(G))6

��$$� 2����� �� $ ��$ $��$��� � #�� '�2#$� �� �� (��$��� ���� ��3����� �##���B$ ��
4��#(� �� #��� � 2 �� �� ���� �� #0��2 ��6 ���� #��$ <$�� ��N���$) 2� � ���� #����� #�������
��� '�� �E �� �����$�$ �##���B$ �� #��� ��� #��� ��� ���� �� #0��2 ��) �� ��F�� 7 #��*� �
*�� ��� �� 2�+ 2�2 �� �14���6 �� ��$��$ n �� � *��� ��3��� �##���B$ �� 4��#(� �� #���
� 2 �� ��) �$ h �� (��$��� �� �� #0��2 ��) ���� #���� ��� ����;� � �������� #�� 9

e′(G) =
h · e(G)

n

��#�����$ ��� $���� ��;� $ �� �� $ ��$ #�� '�2#$� ��� � *���+ �� *��$ �� � *��� �#$ 2��6
� �� ) ��� #0��2 �� ���$ �� 2� ����� � *��� ���� $ ����$ *�2��$ ��� 4�� �� ��22�$) 2� �
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���$ �� � *��� ;��� ���� $ $��=���� $�1� ��� ���� $ #���� ��� �� �� $ �� �� #�� $ �� �� 2� �����
� *��� #�� ��##��$ 7 ��� #0��2 �� ���$ �� 2� ����� � *��� ���� $ �� ��22�$) 2<2� � '�
���� �� ��$ �� 3��� $�  ���� ���� 7 '��� �� �� #0��2 �� #��'����$�6

��$�� �##��'(� ���� ���' #��$:$ �� '��� ����� �� 3��� $� 2�0���� �� $��� ��� � *���+
�� �� #0��2 �� 7 #��$ � ���� � *��� n ����� =��3���� ��22�$6 ��$��� Pn(G) ������2���
��� 4��#(�� �� �� #0��2 �� 7 #��$ � �� � *��� n6 ����� �������� ���� ��;� � #�� 9

ẽ = min
n�h

1

1 + h− n
∑

G′∈Pn(G)

d(G′, Gf)

� �� �� ���� �� � *��� ��$ $��=���� #� � �� '�2#$�) 2� � � '��$� �� � *���+ ���*1���$ <$��
�� 2� ������ 3��� $�  �� #������$ �� �� �� ���� �� 2�0���� �$ �������� ���� #��� �� ���6 ��
#��$ '�� ��) �������� ��$ $��=����  ���� ���� �� �4��� 7 �� � �$��'� ��$�� �� ��22�$ �� ��
#0��2 �� �$ �� *�� $� $���� �6

%����� 3�� �� $ �� 2����� �������� '(� � �) ����=�'$ � �� #��'����� ��$ �� ������ 2�+ 2���
�� 3���$ $� 9

Q =
∑
G∈Gi

q(G)

�E q(G) = 1/(1+e(G)) ��$ �� 3��� $� �� 4��#(� G) �$ Gi ��$ ������2��� ��� 4��#(��  � $ ��+
�� �� ���� ���##���$ ���4�6 �� ���� $�) ���� �$ � ������ ��� 2�$(���  �'��2��$��� 9 �$��$
������ ��� *����$ �� ��� �14��� �$ �� 4��#(�  � $ �� G �� �� ���� ���##���$ ���4�) ����
'(��'(����� 7 2�� ;�� ��41��2��$ �� *����$ �� ��� �14��� �� ��F�� 7 ��42��$�� �� 3��� $�
�� G6 
�� 4��#(�� �� ����'$ �� �$��$ '���$�� $ #��� �� 4��#(� G �����)  � ��$ � N' ��
�� 2������ �� 2#�'$ ����� $���� 2�� ;'�$ �� ��� ��� 3��� $� ��� ��$��� 4��#(�� �� �� ����
���##���$ ���4�6 ���� ���$�� ����� ���' #�� �� '��*��4��'� �� ��$�� ��4�� $(2� ���� ��
'�� 4������) 2� � �� 3��2��$ #��� �� 4��#(� G �����6

!���� "
���� 
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��##����� ���� �� #��2 �� $�2#� ������2��� �� ������� �� ����'$ �� '����6 ,� #���)
���� ��##������� 3��7 '(�3�� (0#�$(1�� h �$ 3��$��$ �� �Y�� �� ������� �� ����'$ ��
'�����#��� ��� �� 3�� �14�� R(h) �3� $$� 7 ��#�����$�� #��� ���� �� � �� 2<2� (0#�$(1��
�� ����'$ �� � ���� ��$ 4������ #�� #��� ���� �14��� � 8����$��!6 �� �� ����� ���� ���
*����$ �� ��� #� �� ��� �14��� �� ����'$ ��6 ��$�� ��=�'$ � 2� �$����$ ��$ �� 2�� ;�� '��
#� �� �� 2�� 1�� 7 �2�� ���� �� �����$�$ �� �� ����'$ ��6

�� ��$��� ������� 3�� � $��� ��� '(�2 �� �� ������� �� ����'$ ��� ���$  �$��*�� � ���
(0#�$(1���  ����� �� ���##� '�$ �� ��� �14���) ��� #� �� ����$ �� �� '�� ���� 1��� �� ���$ #��
#� ��� �� '�2#$�) �$) #�� '����3���$) '��$� ��� ����'(�� #��*��$ �� #�� '�����#����� 7
��� '���$��'$ �� ���� �����6 ��22��F��� #�� �+�2 ��� 3������ ���$ '�� ����'(�� 9 �� $
B = n0 . . . nk ��� ����'(� �� ������� �� ����'$ ��) �E n0 ��$ �� ��' �� �� �������6 ����
'(�'�� ��� ni) �� ��$� Hi ������2��� ��� (0#�$(1��� �$ 3��$��$ ��� ;�� �� ni) �$ #��� i > 0)
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�� ��$� hi ��(0#�$(1�� �� ni6 �� $��$� ����� �� ��;� � �� ����� #��$ �� ≺B ��� ��� �14���
�� #����$ 9

∀i � 0, ∀h ∈ Hi, R(h) ≺B R(hi−1)

)�*�
�

� ��  ��� B ��� ����
)� �� 	������ �� ����
����� 9���� ����
)� ��� ���� 
�)������
�� 	������ ������	 ≺B ��� ���� ����� ��� ����� ���� �� ����� ������	��


� ��$ ����� � �� �� 2��$�� 3����� ����'(� '�����#��� 7 ��� '���$��'$ �� ���� ����� � 
�$ �����2��$ � ���� ��$ '�(����$�6 �� �8�$) � B ��$ ��� ����'(� '�(����$�) ��� *����$ ��
#��� ��� ��� �14��� #��� '���$�� �� ��� $���� ����'(� '��� �$� 7 �$����� ������� #��$ �� ��
�� ����� $�$��) #�� �+�2#�� �� �8�'$���$ �� $� $�#���4 3��) #� � �� ������$ �� #� �� �4��
7 ���� #�� $ �� ���� '�$ �����6 "�' #��3��2��$) � B #��$ <$�� '���$�� $� #�� ��� '��$� ��
*����$ �� ��� �14���) �� ��;� $ �� �� ������� #��$ �� ����� #��� (��$ ��$ '�2#�$ ��� �*�'
������� $�$��  ��� $ #�� ��� #� �� ��� �14��� ��� ��##����$ 3�� � ���+ �$� #�� ���+ �14��� ��
#� ��  ���$ 3���!) ���' ������� #��$ �� ��$ � �� ��;� �$ ��$ �� ����	����� �� '�$ ����� $�$��6

��$��� �� #��� 3�� �� '���$��'$ �� �� ����	����� �� ������� �� ����'$ �� �� '��$����$
3�� ��� ����'(�� '�(����$� ����$ #�� #��� '�2#��+� 3�� �� '���$��'$ �� '�2#�1$� '�����	
#�����$�6 �� �8�$) �� '���$��'$ �� �� �� ���$ �� �� ��' �� *��� ��� ��� ����)  � ��$ #��� ���
�� '���$�� �� ������� #��$ �� #��� '(�3�� ����'(� �� ��� �$ 7 2����� �� �� '���$��'$ ��) �$
�� �$��� �� �� ����'$ �� ��� (0#�$(1��� �� ���#�'$��$ #�� ������� #��$ �� ��=7 �� #��'� ���
#��$ '�� ��) ���� �� '�� �� �� '���$��'$ �� �� ������� #��$ ��) �� '��'�� �� wmax �� �� $ #��
�� ��  �$��*�� � '�� (0#�$(1���!6

R$��$ ����� �� 4��#(� G �� �� ���� ���##���$ ���4�) '���$�� ���� ��� ����� �� ����'	
$ ��� �3� #����� <$�� '�2#��$ �� �� '��$�� � 3�� ��� ����'(�� '�(����$��) '�22� ���� ��
*������ #��� ���!) �$ '��� ������ ������2��� ��� 4��#(�� '�����#�����$ ��+ �Y��� �� '�$
����� �'���$ 7 � �� ��� 4��#(�� ��$���� �� �##� 3���$ 7 G �� '(�B�� �� ����'$ �� 3� �$ 3��$$�
��� �Y��� �� '(�2 � �� �� ��' �� �� �Y�� '��� ����!6 ���� ������ 2� �$����$ �$ � ��� '��
4��#(�� #��� ��$��2 ��� ��� 3���$ $�� 7 �=��$�� ��+ � 8����$� #� �� ��� �14���6 ��$���
3���$��$ ������ 3�� ���� � �#����� #��� �� ��$��$ ����� * � �� ������2��� �� ������� ��
����'$ ���) ���  �'��2��$� �����$  ���#�����$� �� �� #������$ �� �'$�����) �$  �� �����$ ��
�� $ #��#��$ ������ 7 ��� #������$ �� �#$ 2���6 �� 3�� ���� '(��'(��� 7 ��$��2 ��� ��$
���' ��� #������$ �� �#$ 2��� ��� �14���6

� ��$�� ��=�'$ � ��$ � 2#��2��$ ����$�� � �� #���2�$��4� '�#���� �� #���� �� ��
2� ������ ����'(�) ��� ����$ �� � 2#�� '��� �$� 7 2�$$�� �� #� �� ��� 7 '(�3�� �14��) ����
'����� �� �� ����'(� �#$ 2��� 3� ��F� *��$ ��� #� �� �$� '$�2��$ #�� $ �� �$ ��'�� ����$�
�� �� ��' �� *��� ��� ��� ���� � � ��$ �*��$�����2��$ ���� $� #��� ��� �� G '��$��� H ��� #� ��
�� �) �� ����$��0��$ 7 '(�'�� �� 2�0���� �� ������2��� ��� #� ��!6 
� �'��*�� ��$ �����
$���� 2�$(���) '���$ 3������ �� $ ��$ '�2#$� 3�� �� �� ����'(� �#$ 2��� 9 �� '�2#��$�2��$
� ��� #� �� ���$ ���� $� 2�� ;�� #��� $�� $�� �� ��$�� 4��#(� ��� ����� ��'��� �� ��� ��
���$�� #��'(� �� ���#$ 2��) ���� ��� $���� 2�$(��� �� #��$ ������ �� ���� �����$�$�6 ��
#��$ '�� ��) � ���� $��*� ��� ��� �� ����� '�2#��$) ���� �� ���� �E ���� �� �� � 2 $� #�� ��+
����'(�� '�(����$��) �� �����$�$ ��$��� ����$ 4�������2��$ #�� �+#�� $����6
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�� ��2��3���� '�#�����$ 3�� #��� ��$�� � �� ��� �����$�$ �*�' �� 2�$(��� #��'����$�)
 � �� ��N$ #�� �� ������'�� ��� �Y��� �� �� ����'(� �#$ 2��� 9 ��� #� �� �� *��$ <$�� ������'��
�� 2�� 1�� ��'�� ����$� �� ��� �$ 7 2����� 3�� ���� ���'��� ���� �������6 ���� '�����*�����
'�$$� #��#� �$� ���� ��� �##��'(�� �� *��$��6

�� � �� �� �� '��$��$�� �� $�� $�� �� ����'(� �#$ 2���) ���� #��*��� �+�'�$�� �� ��	
4�� $(2� � 2 �� �� 7 ����4�� $(2� #��'����$ ��� '(�3�� ����'(� �� �������) �� �$$� ����$
7 '(�'��� ��� #� �� #��#��$ ������ 7 ���� 3��� $�6 
�$� $ *�2��$) � ��� 2�� ;'�$ �� ��	
$�� ���� ��� #� �� � � �� �$ ���� �� $ 3� $$�� �� ����'(� �#$ 2���) �� '���$��'$ �� ��*�� $
���� #��2�$$�� �� '���$�� �� �� 2� ������ ����'(�  ���� �� '� '(�2 � ��� *�6 �� #��$ 3��)
'� �� ���� � �� ��$���� #�� $��=���� �� '��) '�� ��� 2<2�� �14��� ��$���$ �� '��'�����'�
��� � 8����$� '(�2 �� 9 �� #� �� ���*� #��� ��*�� ��� ��� ����'(� �� 3��� $� ���*�� ����
��� #��$ � �� 4��#(� #����� ���� �� ����*�� ��� ��� ���� ��� ��$�� #��$ � �� 4��#(�6

���$:$ 3�� �� ��*�� ��� � ��'$�2��$ ��� 2� ������� ����'(��) ���� �*��� ���' #��$:$
'(� � �� ��*�� ��� ��� 2� ������� � ��'$ ���) '���$ 7 � �� ��� � ��'$ ��� ���� ���3������ ��
$���*��$ �� 2�+ 2�2 �� ����'(�� �� 3��� $� ���*��6 � �� ) #�������	���� ���� �$$�����
7 '� 3���� ��4�� '(��4�2��$ ���� ��� #� �� ��� �14��� ���� '���� ���$ $��=���� ��� ���
����'(� �� 3��� $� ���*��6 �� ��*��'(�) �� #������$ �� '(� � � �� '�����#��� #�� $��=����
7 �� ����'(� �#$ 2���6 
���4�� $(2� �$ � �� ��$ �� �� *��$ �w0 �$ k �$��$ ��� '���$��$��
#����;� ��! 9

>6 ��$��� n �� ��' �� �� �������) �$ w = w0

�6 �� ��$� Q(n) �� 3��� $� 2�0���� ��� ����'(��  ����� �� n) �$ �� 2<2�) #��� '(�3��
;�� f �� n) �� ��$� Q(f) �� 3��� $� 2�0���� ��� ����'(��  ����� �� f 6

@6 ���� '(�3�� ;�� f �� n) �� �=��$� �� #� �� w(f) 7 �� �14�� �� f #��#��$ ����� ��
��##��$ ��� 3��� $�� �$ 7 w 9 w(f) = w′ · Q(f)/Q(n)) �E w′ = w #��� �� ��� ��� 3� 
2�+ 2 �� Q(f) ��� ����� ����$�� ���� '(� � � ��� $�� ��2��$ �� � 0 �� � #��� ����!) �$
w′ = w/k � ���6

�6 �� ��'�22��'� �� � #��� '(�'�� ��� ;�� f ) �� #����$ n← f �$ w ← w(f)/k

� ���$�#� @) �� #� �� ����' �� 7 ��� �14�� ��$ ����$��$ #��� 4���� 3�� �� 3��� $� 2�0����
��� ����'(�� 3� ���$  ����� �� '� ���� �� ��$ ���*�� ��� ����2 ��$��� #��2�$ �� ���2�� ���
'�$$� 3��� $�) �� $���� ���$� 3�� �� ��22� ��� #� �� �� $ �4��� 7 1!6 
��$�#� � � 2 ��� ��
*����� �� w �� ��� �$ 7 2����� 3�� ���� ���'��� ���� �������) '�22� ���� ���* ��� �� $
��2��3��� #��� (��$6

��$��� 3�� ' �� ��'�� ����'� ��$ 4��2�$� 3�� �*�' �� ��'$��� k) 2� �  � ��$ $��$ 7 �� $
#��� ��� ����* ��4�� ��� ��'�� ����'� � ��� �� �� �8�'$���$ #��$:$ w ← w(f)− k �� $��$�
��$�� #��4���� �� ��'�� ����$�6 ��#�����$) �� '(� +  ' ����� #��4���� �� 4��2�$� 3�� �$
���$ � ��$ �� �� w′ �� � �� �� � 2#��2��$ w ����$ #��  ���'��$ 9 �� '(� � ����$ k �$� '$�	
2��$ ��#�� ��� 7 ���� $� 2�+ 2��� ���� �Y�� �� �������) ���� #��*��� ���� ������� 3��
�� #��2 �� �Y�� $��*���� #�� �� '(�2 � '���$�� $ 7 #��$ � �� '�� #� �� 2�+ 2 �� $��=����
�� *����� �� Q(n) ��� ������2��� ��� �Y���  ���� �� �� ��' ��6 ��$$� #��#� �$� ����$ #���
��'���� ��2��$ *�� � 7 #��$ � �� ��'��� �Y�� �� '(�2 �) �� #��$ '�� �� � ��� #��� ����
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��������� AA

�Y��� ��$ ��� Q(n) #��'(�� �� ���#$ 2��) 2� � �� ����* ��$ �� #�����$ �� k ��#�� ��� ��
'���� �� ���� $� 2�+ 2���6

,���� 2�� 1�� 4�������) � a ��$ ���� $� 2�+ 2��� �� ������� �� ����'$ ��) '(� � � k = ai

4����$ $ �� #��#� �$� #��'����$� #��� ��� i #��2 ��� �Y��� ���� '(�2 � '���$�� $ �*�' ��
*����$ �� ��� �14��� � �� ��;� �6 � �� )  � ��$ #��� ���) �� =����$ ��� k) �� =���� ��� ��
� 4 � $� �� 2��1�� 9 �*�' �� k ���*�) �� 3��� $� �� �� #������$ �� ���� #��� ���� ��� ��+
2�� ;'�$ ��� ��$��B���$ �� '(��4�2��$ ��� #��2 ��� �Y��� #��'�����) 2� � ���� 2� ������
�� $�2#� ���2�� �� �� $� � ��� 2�� ;'�$ ��� ��$��B���$ ��� '(��4�2��$� ��� ��� ���� ���
�Y��� #��'����� #�� ��##��$ 7 �� k #��� �� ���6

��$$� ���� 1�� '���$��'$ �� ���� ��2��� �� #��� �##��#� �� #��� 4���� ���##���$ ���4�
��� #� �� ��� �14���) '�� 2<2� � ���� �� '���� $ #�� ��'���� ��2��$ 7 ���#$ 2�2) ���� ����
�##��'(� $��$ �� ���������$ 3�� ��� '(�2 �� G *� � �� H �� '(�2 � '���$�� $) �����$��$
����� ��41�� 2�� ;'�$ �� ��� #� �� ��� �14���) ���$� '����'$�6

��$��� 3�� '�$ ��4�� $(2� #��$ ���##� 3��� ���� � �� ��� ������� '�2#��$ 3�� ��� �������
��$��� �� �� '��� �����$ 3�� ��� ����'(�� '�(����$��6 � '� ���� �� #��$ ��2���� 2� �����)
'�� �� �� ���$  �$��*�� � 3�� ��� ����'(�� '�����#�����$ 7 ��� '���$��'$ ��� �������) �������
'�2#��$ ����$ #�� ����  �$��<$6 �� �8�$)  � #��$ ��� *�� 3�� ��� 2� ������ �����$�$� �� '�����	
#�����$ #�� 7 ��� #������$ �� #��$ '�� 1��) #�� �+�2#�� #��'� 3����� �14�� ��$ 2� ������
3����� ��$�� ���� �� '��) 2� � 2� �� ����� ���� �� ��$��6 &� ����� �� '��$����$ 3�� ���
����'(�� '�(����$� �� #��$ �� �� �##���B$�� '�� � $��$ ���) �$ ���' ��� �� ��  �$��*�� � ����
�� #��'����� ���##���$ ���4�) ����� 3������� �##��� ����$ '�� ��2��$ ���� �� ����� '�2#��$6
� �� ) 2<2� � ��� ����'(�� ��� '�(����$�� �� �����$ =�2� � '���$�� $�� �� #��$ 3��) ����
#�����'� #��$ � ��� �� �0�$12� 7 �� � � 4�� ���� �� ����� � ��'$ ��6 "�2��3���� �� #���
3�� �� #��'����� �����#$�$ �� ���$ ���� #�������� �� '(�# $�� �� *��$ #��2�$ =��$�2��$
���+#����� ��� ����'(�� ��� '�(����$�� �� ������� �� ����'$ ��) ���� 2<2� � ���#$ 2�� * ��
#�� ���##���$ ���4� ��� �� ����� '�2#��$ ��2���  ��''��� ��� #�� ��� '���$��'$ �� �$������)
 � #����� ��<$�� 7 �� �� $� ����� #(��� �����#$�$ ��6

!���� /������
�
	 ���
����


�� ��4�� $(2�� ��'� $� #��� (��$ ��##����$ '���� ������� �� ����'$ �� '�2#��$6 ��#��	
���$) ���� �*��� ���� *� 3�� � ���$� $ #�� #��� ��� �� 4������ �� ��#�����$�� '�2#�1$�2��$
������� �� ����'$ ���6 ���� ) ���� ��*���� �� #��$ 3�� �##� 3��� ��� ��4�� $(2�� ��� ���
������ #��$ ���) '���$�� $� '�22� ���� �� #��$ � �6�6�6 ���� ��##������� ���� '�$$� ��'$ ��
3�� ����4�� $(2� ���##���$ ���4� '(� � ��$ �� ���� �� #�����$� ���� �� ��'$ �� #��'����$� 9
'���$ �� �8�$ '��� 3� ���� ��2��� �� 2� ����� ���� �� $�� '��$�+$� �E �� *�� $���� ����'(�
G �#$ 2��� H ����$ #�� ��'���� ��2��$ ��#�����$�� ���� �������6 
�� ��$��� ��4�� $(2�� #��	
���$�� #��'���22��$ #������$ <$�� ���#$�� �� 2�� 1�� � 2 �� �� �� $��*� � ��� �� �����
#��$ ��6


� #� �' #�� #����12� 3�� #��� ���$ � ��$ �� ���� ����� #��$ �� ���$ �� ��2��� 2�+ 2��
�� ����'(� ��*���##� ��$ ;+� ��$ 3�� ������� � �� '���$�� $ � $�����'� 7 <$�� $�1� #��
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���� �65 M ����� �� ����'$ ��� #��$ �� #��� ���##���$ ���4�6 
� �Y�� '��� ���� ��$ 4� �� 9
 � #���1�� ��� �� $� ���*�� �5! ����� 3�� ��� ��$��� �Y��� #���1���$ ��� �� $� �� ��� �> ��
�!6 
�� ����� �Y��� #�������$ ��� �� $� � ���$ ��� ���'�����$� �� �Y�� 4� ��) �� ��F�� 7
��42��$�� �� ��2��� �� ����'(��  ����� �� '� ���� ��6 ,��� '�$ �+�2#��) �� '���$��'$ ��
��$ $���� 3�� '(�3�� ;�� �� �Y�� ��$ 7 ���� 4 �� �� 2<2� ��2��� �� ����'(�� � ' ���+!)
�� ��F�� 7 '���� �� '��$� � �3� � ��� ��� #��$ 3��) �� #����� #��$:$ ���(� $�� ��*���##��
�� #� �� $� ��� ����'(��  ����� �� �Y��� �� 2� ������ 3��� $� �� ��$� 2��$ �� ���3� � ��� ��
�������!6

�����) '���$ 7 � �� 3�� $�1� #�� �� �Y��� ��$ #��� ���� ;��6 �� ����4�� $(2� ���##���$ ���4�
3�� ���� �*��� #��#��� ���'$ ���� #� �' #���2��$ �� '�2#����$ ��� � 8����$�� ����'(��
 ����� ���� 2<2� �Y�� ��$�� �����) �� ���$� 3�� 2� �� ��� �Y��� #���1���$ �� ;��) 2� ��
���##���$ ���4� ���� �N'�'�6 �� #��$ '�� ��) ����4�� $(2� ���##���$ ���4� ��'� $ #��� (��$
�� #��2�$ #�� ���##������ 3�� 3�� '� �� $ 7 #��$ � ���� �Y�� 3� �� #���1�� 3����
���� ;��6 �� #����12� #��$ <$�� ������ �� ���+ ��F��� � 8����$�� 9 �� '���$�� ���$ �������
#��$ �� �� $�� ���$� 3�� '��$� �� �Y��� � ��$ ��� 4����� �� $�) �� �� 2�� ;��$ ����4�� $(2�
���##���$ ���4� �� ��F�� 7 #��*� � ���� �##������ ��� ��� �Y��� �� �� ��� �� $�6


� #��2 1�� �##��'(� '��� �$� ���' 7 #� * ��4 �� �� '��$� � �Y�� n #��$ '�� �� ��
�������) 7 #��$ � ��3��� �� 4���� ��2��� �� ����'(�� �����$ ��� *���6 ���'�1$�2��$) '���
� 4� ;� 3�� ���� $� �� '(�3�� �Y�� �� ������� ���� �� ��� C �� �� ���+ 2�+ 2�2 C 7
���+'�#$ �� �� �Y�� '��� ���� ���$ ���� $� ��*�� <$�� ���*��6 ,� #���) �� #�������� �$$� 	
���� ��� #��� 4����� �� $� ��+ �Y��� ���'�����$� �� n 3����+ ��$��� �Y���) �� ��F�� 7
��42��$�� �� ��2��� �� ����'(��  ����� �� n6 ��;�) �� #����� '(��'(�� 7 G �3� � ���� H
��� � 8����$�� ����'(��  ����� �� n) '�22� ��� �� ;4��� �656 � '�� '� $1���) #��$��$ ��� ��
�$��'$��� �� ������� '���$�� $) ���� �=��$��� �� '� $1�� ��##��2��$� �� ���� ��� �� '��$���
�� ������� 9 ��$�� ��=�'$ � �$��$ ���2�� ���� �� '���$��'$ ��) ���� ����  �$���������� ��
#� �� $� ��+ ����'(�� �� 2� ������ 3��� $�6
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���� #��' ��2��$) ���� �� �� ����'$ �� ��� ����'(�� '�����*��� ���� �� '���$��'$ �� ��
������� #��$ �� ��$�#� ? �� ����4�� $(2� �� '���$��'$ �� �� ������� #��$ �� ��'� $ #��� (��$!)
�� '(� + �� �� �� $ #�� �� 3��2��$ �� ���'$ �� �� �������� �*����� e) 2� � ���� �� ��
3��� $� �� �� ����'(� q = q(G) ��E G ��$ �� 4��#(� ����' � 7 �� ��� ��� '�����#�����$ 7 ��
����'(� '��� �����!) �$ ���� ��'$��� k � � 7 �� �$��'$��� �� �������) 3�� ���� �+#� ' $�����
���� �� #���4��#(� �� *��$6 &�� �� � '�� $�� � 3���$ $�� �*������) �� ����'$ �� �� �� $ �����
� 2#��2��$ �� '��� �����$ �� 3���$ $� e′ = e/(k · q) �� � �� �� e ���� ����4�� $(2� ��
'���$��'$ ��6


� ��;� $ �� �� ��'$��� k ��#��� �� �� ����'(� '��� ����� b 9 �� � ���4 $ �� �� ����'(�
#� �' #���) '���$ 7 � �� '���� '�����#�����$ 7 ���##� '�$ �� ��� �14��� �*�' ����� #� �� �'$����)
����� k = 16 ,��� �� '�� '��$�� ��) '�22��F��� #�� ��$�� n0 �� ���� �� �Y�� �� �� ����'(�
'��� ����� '�22�� �*�' �� ����'(� #� �' #��� �n0 �+ �$� $��=����) '�� ���+ ����'(�� ��$
�� 2� �� �� ��' �� �� '�22��!) �$ #����� 9

κ =

⎧⎨
⎩

κ0 � n0 = n
κ1 � n0 ��$ �� ���'�����$ �� n
κ2 � ��� ����� n0 ��$ �� ��'<$�� �� n!

�E κ0 > κ1 � κ2 ���$ $�� � '���$��$�� #��2�$$��$ �� ��;� � �E �� �����$ ��� �2����	
'(�2��$�6 �0# 3��2��$) �� ;+��� κ0 7 1 #��� ��*�� ��� ��� �2����'(�2��$� �� � *���
�� �Y�� n '(� � ) �$ κ2 7 0 #���  �$��� �� ��� �2����'(�2��$� �*��$ �� �Y�� '(� � 6 
�
'���$��$� κ1 3���$ 7 ���� ���� '(� � � � ���2��$ ���� �� �$��*���� ]0, 1[ ��;� �� ��*�� ��� ���
�2����'(�2��$� ��+ � *���+ �� n) �� '(� � �� 4�������2��$ ��� *����� �� ��� #��� κ1!6
��$���  ' 3�� �� �Y�� n �� $ <$�� '(� � ��� �� ����'(� #� �' #���6

��$��� ����� n′
0 �� ��''������ �� n0 ���� �� ����'(� '��� ����� b �#�� ��;� $ �� �� n0)

�� �Y�� n′
0 �� #��$ �##��$�� � 7 �� ����'(� #� �' #���!) '��� ������ ������2��� B0 ���

����'(�� �� '���� �� '���$��'$ �� '��$����$ n′
06 "�2��3���� 3�� B0 '��$ ��$ b6 ���2 

$��$�� ��� ����'(�� �� B0) ��� ����'(� #� �' #��� b0 ��$ ��;� � '�22� �� ����'(� 3� 
2 � 2 �� �������� e(b0)6 � ����� b �= b0) �� ��$� n1 �� ���� �� �Y�� '�22�� 7 b �$ b0 � �
�+ �$� $��=����) '�� n′

0 ��$ �� �Y�� '�22�� ��+ ���+ ����'(��!) �$ �� �� $1�� ���#���$ ��
�� ��F�� 7 '���$�� �� ��� �� $� n0) n1) 6 6 6) np �� �Y��� �� b � � ���4 $ �� $��� ��� �Y��� 7
#��$ � ���3���� �� ����'(� b �� ��#��� �� �� ����'(� #� �' #��� �� '����!6


� '���$��$� k #��$ ����� <$�� ��;� � �� �� 2�� 1�� �� *��$� 9 � p = 0) ����� k = κ)
'���$ 7 � �� 3�� �� � 0 � �� ���� �2����'(�2��$ k �� ��#��� 3�� �� �� #�� $ �� �� '�$
�2����'(�2��$ #�� ��##��$ �� �Y�� '��� ����6 � ���) �� #��� 9

k =

{
κ · κ′2p � κ = κ2

κ · κ′1p � ���


�$� $ *�2��$) �� #��2 �� '�� '�����#��� 7 ��� #��2 1�� � ���'�$ �� �*��$ �� �Y�� n) �$
���' $��$�� ��� � ���'�$ ��� '�����#�����$ 7 ��� �Y��� 3� �� ���'�����$ #�� �� n 9 ���
#���� $� κ = κ2 ��$ '�2#$�� #��� �� #��2 1�� � ���'�$ ��) �$ ��� #���� $� κ′2 ��$ �=��$��
#��� '(�3�� � ���'�$ �� �� *��$ �� #��2 1�� ��� 4������) �� #��� κ′2 = κ2!6 
� ���+ 12�
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'�� '�����#��� 7 ��� #��2 1�� � ���'�$ �� �� � *��� �� n �� ���� �� ��� ���'�����$� 9
��� � ���'�$ ��� �� *��$�� ��$ ����� � �� �� � *��� �� ���'�����$� �� n6 � �� #���� $� κ ∈
{κ0, κ1} �� �� #��2 1�� � ���'�$ �� ���=��$� ����� ��� #���� $� κ′1 #��� '(�3�� � ���'�$ ��
�� *��$�) �*�' �� 4������ κ′1 = κ16


������ � �� '���$�� $ ����$ '��� ��$��� ���� �3����$$� '�����#�����$ 7 ��� '���$��'$ ��
����� ��� ���$�$ �'$��� ��� #� �� ��� �14���) �$ ���$ ��� � 8����$�� � ���'�$ ��� ����4�� ���$
�� $���� ���$� 3���� 2�+ 2�2 �� ����'(� �� $ ��� *��� �� �Y�� n '(� � 6 
��$��� �� '�� � �	
�����$�� ����'(�� #��2�$ ���' �� �##���$ ���4� �� � *��� �� �Y�� '(� � ��� ����4�� $(2�
#�����$� #��� (��$) �� '(� � ����$ =�� ' ����2��$ �� �Y�� #��$ '�� �� 7 '(�3�� �� �6 ����
'���) ���� #��*��� ��$�22��$ '���$�$�� 3�� ��� ��4�� $(2�� ���##���$ ���4� #�����$�� #���
(��$ �''���� ��$ ���  2#��$��'� #��#�������$� ��+ �Y��� � $��� �� (��$ �� �������6 
�	
$� $ *�2��$) '��� ��* ��$ 7 � �� 3����� ������ ���� ��� #��2 1��� �$�#�� �� ����'$ ��� ��$
� N' ��2��$ ��'�#������6 � �� ���� ��2���	$	 � #��� =�� ' ��+ �� '�22��'�� �� ' ����$
���##���$ ���4� ��� �� ��' ��) #� � �� ���'�����$ #�� 7 #�� ���� ������� �� ��� �$ 7 2�����
3�� ��� #��2 ��� �Y��� �� ������� ���$ ��$��2 ���6

&�� ��$�� �##��'(� #��� #��2�$$�� ���##���$ ���4� ���� �� ����� #�������$ #�� ��
����'(�� '��� �$� 7 2�� ;�� �� #��'����� ���##���$ ���4� �� ��F�� 7 ������ #��� ��� ���#	
#���$ ���4� ��� ��� �Y��� �� �� ��� �� $�6 ���� '���) ���� ���� ������ $��=���� ��� ��
'�2#��� ��� ��� 3��� $�� ��� � 8����$� ;��  ���� ���� �Y�� #��� �=��$�� ��� 3��� $�� ���
� 8����$�� �14���  2#� 3���� ���� �� 4�����$ �� �� '(�'�� �� '�� ;��) 2� � �� �� ���$  �$��	
*�� � ��� ;�� �� ������� �� ����'$ �� '�2#��$ ���##��$����$ #�� ��'���� ��2��$ 7 �������
#��$ ��6 ,��+ �##��'(�� ���$ ����� #��� ����) ����� ������� $ ���� ������� �E ���� ��$ '�#����
���*����� ��� 3��� $�� �� 2�� 1�� ;���� 9

M � ���� �� $ �*����� �� 3��� $� 7 $��$ � *��� �� �������)  � ��$ #��� ��� �� '�2#����
� ��'$�2��$ �� 3��� $� �� '(�'�� ��� ;�� '(� � � �'���$ 7 � �� '��+ �� ������� #��$ ��)
�$ 3���3��� ��� �� ������� '�2#��$) #�� �+�2#�� '��+ '���$�� $  � $ ���2��$ 2� �
�� 2 ��� ���� �� �� ���� 1�� #(��� �� �� '���$��'$ �� �� ������� #��$ ��!6

M � ���)  � ���$ '���$�� �� ��� ����'(�� �� ������ G $�2#��� ��� H #��� '(�'�� ��� ;��
��$����6 ��� ����'(�� �� ���*��$ 3��7 �*����� �� 3��� $� ��� ;�� 9  � ����$ ���' #��
��'���� �� �� ��� 2�2�� ��� ��� �� � '(�3�� 3��� $� �*�����6 ��$��� 3�� '�� ����'(��
#��*��$ <$�� ���� $�� �� ���� '(�2 � #� �' #��  ��� �� '(�3�� �Y�� '��� ����) ��
#��*��$ �� '��$�� �� <$�� ��� ������ �� ����'$ ��� #��$ ���  ���� �� '�� �Y���) ��
3��� $� ����' �� 7 '(�3�� �Y�� '�����#�����$ ����� 7 �� 2�0���� ��� 3��� $�� ���
��� ���� �� �������  ��� �� '� �Y��6 ��$$� ��'���� �##��'(�) � �� 3�� #��� #��' ��)
���*1�� ���� � �� #��� '�T$����) ���� ��� ������ '���$�� $� �����$ 4�������2��$ ��
��2��� ���� $ �� ����'(��6

,��� ��� ���+ '��) ��$��� 3�� ��� �Y��� ��##��2��$� ��� �� ���*��$ 3��7 ;�� � ��� ���#	
#���$ ���4� �� #��2�$$��$ �� '�2#��� ��� ��$�� ��� 3��� $�� ��� �Y��� �� ������� #��$ �� ��$
'����� ���� '��$� � ��2��� ����$��� �Y���6 ��� ���� ��� �� ���$ ���' #�� #��$ � �� �������
�$ #��*��$ <$�� G ���� �� H ��� �� � ����� 3��� $�� �*������6 ,� #���) ������ ��� �14���  �$��	
*����$ ���� ������� #��$ �� �� ����'$ �� ���$ 2�� ;��� #�� �� #��'����� ���##���$ ���4� 9
��� �14��� �$ � ���� #��� '���$�� �� ��� �Y��� ��##��2��$� ��� �� ���$ ���' #�� � ��'$�2��$
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�8�'$��� #�� '� #��'�����6

&�� �##��'(� 2 +$� ��$ #��� ��� 9 �� �Y�� #� �' #�� ��$ ;+� �$ ������� #��$ �� ��$
'���$�� $ #��� ��*�� ��� ���##���$ ���4� �� � *��� �� '� �Y��) '�22� ��'� $ #��� (��$6 ����
��� ��$��� �Y���) �� 2�$(��� #��'����$� ��$ �##� 3��� �;� ���8�'$��� �� �##���$ ���4�
#��� ��4��) �� �$ � ���$ ��� ������ $�2#��� ��� �*�' $�1� #�� �� ����'(�� ���� ����� #���
��� �Y��� ���##��$����$ #�� 7 �� ����'(� #� �' #���) �$ ��� *����� d ;+�� #��� ��� �Y���
�� �� ����'(� #� �' #���!6

��� '��	�������� ���� �	
��� �� 	
��������

,��� �� ��'$ �� #��'����$�) ���� �*��� #��#��� �� ��#�����$�� ��� '(�B��� �� ����'$ ���
���� �� ���2� ���� �����) �$ � ����� ���� $� #��� �##������ ��� #� �� ��� �14��� �� ��*�� ���$
'����� �##��$����$ ��+ '(�2 �� 2����$ ��+ 2� ������ �����$�$� �$ �� ����*�� ���$ '�����
�##��$����$ ��+ '(�2 �� 2����$ ��+ �����$�$� �� #��� �� ��� 3��� $�6 ��$$� �##��'(� ��$
�� ��$�� '(�B��� �� ����'$ �� �$ ��� 4��#(�� �����$��$� ��� � *����� ����'$ ��� 9 �� �8�$)
���� ��� 4��#(�� ;���� ���$ '�2#����) �� ���$� 3�� ���+ ����	'(�B��� #���� ���$ ��� 2<2�
����'$ �� ���� 4��#(� G1 *��� �� 4��#(� G2 �� ���$ #��  ���$ ;��� � 2<2� � 8����' ���
�� ���+ ����	'(�B��� '���� ���$ 7 ���+ ������ � 8����$�6

��) #��� ������ ���##���$ ���4� #��� �N'�'�)  � #��$ <$�� �$ �� �� ��'����B$�� ���+
'(�B��� #��2�$$��$ ����$�� � �� 2<2� 4��#(� ����3���##� 3���� �� 2<2� 4��#(�  � $ ��6
��##����� #�� �+�2#�� 3�� ���+ '(�B��� c1 �$ c2 #���� ���$ $��$�� ��� ���+ �� 2<2�
4��#(� G′ = c1(G) = c2(G) 7 #��$ � �� 4��#(� G6 � ���� #�����4� c1 �� ��� '(�B��
c′1 = c1 · f1 �$ �� 2<2� c2 �� ��� '(�B�� c′2 = c2 · f26 ����� � ��� 3��� $�� ��� 4��#(��
c′1(G) = f1(G

′) �$ c′2(G) = f2(G
′) � 81���$) '�$$� � 8����'� �� #��$ <$��  ��� $� 3�� #�� f1

�$ f2 9 �� '�2#��� ��� ��� ���+ 4��#(�� �� �� $ ���' #��2�$$�� 3�� �����#$�� f1 �$ f2) �$
��� c1 �$ c26

!�!�� ������ �� �����
�
	 ���	 ������ G


� ��$ #��� ���) ���� '��$� �� '��) �� ���$ ;�� � 2#��2��$ ���+ '(�B��� �� ����'$ ���
#���� ���$ �� 2<2� 4��#(�6 � �� �*��� ���� �� #��#� �$� �� *��$� 9

��
��
��� !  ����� c1 = h1·h2 · · ·hn �� c2 = hϕ(1)·hϕ(2) · · ·hϕ(n) ���� 
)�6��� �� ����
�����
���� ����)� G ��		�� $�� h1� � � �� hn ������ ��� )����)���� ���� * ���� 
�
�����	��� ��
ϕ: [[1, n]]→ [[1, n]] ���� ��� ���
������� �� [[1, n]]� !	��� c1(G) = c2(G)�


� '�� 4������ ��$ #��� '�2#��+�) ��$��� �� #��$ '�� �� 3����� #��2�$�$ �� ��(0#�$(1���
 �'�2#�$ ���� �� ����� #�� ��'���� ��2��$ �� 2<2� 4��#(� ;���6 
�*����2��$) ���+ '(�B���
�� ����'$ ��� '�2#����� �� �14��� � �$ �'$�� �'���$ 7 � �� 3�� ����� �� ���'� $ #�� '�22� ���
#��2�$�$ �� ��� (0#�$(1��� �� ����$��! #��*��$ #���� �� �� 2<2� 4��#(� 7 ����� *��6 ����
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#��*��� '�#�����$ '���'$�� ��� ��� '(�B��� �� ����'$ ��� 3� #���� ���$ �����$ ����2��$ ��
2<2� G �8�$ H6

���� '���) ��$��� κ(h) �� ��0�� �� '��$��'$ �� ����� (0#�$(1�� h ����� �� ���2� �� ����	
��2��� ��� ��22�$� '��$��'$��) �*��$�����2��$ ���� $ �� ���� ��22�$ ��� ��3��� ���##� 3��
��(0#�$(1�� �� � ��0 � #�� �� '��$��'$ ��!) �$ σ(h) �� �02���� �� ���$ � �� ��(0#�$(1�� �'��� 
����' � ��+ ��22�$ ��� ��3��� ���� ���##� 3��) ��� �� � ���*��$����� '��$��'$ �� �+�'�$��!6
�� $ ����� ��� '(�B�� �� ����'$ �� c = h1 · h2 '�2#���� �� ���+ (0#�$(1���6 ,��+ '�� ��
#�����$��$ 9

M � κ(h1) ∩ κ(h2) = ∅) ����� ��� ���+ (0#�$(1��� ���$ '�2#�$ ����6 �+�'�$�� �� '(�B��
��* ��$ 7 '��$��'$�� ��#���2��$ κ(h1) �$ κ(h2)) #� � 7 ������ ���#�'$ *�2��$ ��+
��22�$� �����$��$� �� '�� ���+ '��$��'$ ��� ��� �02����� σ(h1) �$ σ(h2)6

M � κ(h1) ∩ κ(h2) �= ∅) ����� ��� ���+ (0#�$(1��� ���$  �'�2#�$ ����6 
�� ���+ (0#�	
$(1��� �� #��*��$ ���' ���##� 3��� � 2��$���2��$ ��� �� 4��#(�  � $ ��6 ���� �*���
'�#�����$ *� 3�� � �$� $ #��� ��� �� �� �$��#��$�� �� ��'���� (0#�$(1�� '�22� ���
(0#�$(1�� ���##� 3���$ ��� �� 4��#(�  ��� �� ���##� '�$ �� �� �� #��2 1�� (0#�$(1��
��� �� 4��#(�  � $ ��6 ��$��2��$ � $) ���+�'�$ �� �� h1 ��* ��$ 7 '��$��'$�� κ(h1) #� �
7 ������ �� �02���� σ(h1) �� ��22�$ �����$��$6 
��+�'�$ �� ���� $� �� h2 ��* ��$
7 '��$��'$�� ��� ��22�$� �� κ(h2) 3� ���$� ��$ #�� ���� κ(h1) �*�' �� ��22�$  ���
�� �� #��2 1�� '��$��'$ ��) #� � 7 ������ �� �02���� σ(h2) �� ��22�$ �����$��$6
�� ;���) ���+�'�$ �� �� c ��* ��$ ���' 7 '��$��'$�� κ(h1) ∪ κ(h2)) #� � 7 ������ ��
�02���� σ(h2) �� ��22�$ �����$��$ �� '�$$� '��$��'$ ��6

,���� 2�� 1�� 4�������) �� #��$ ���' *� � ���8�$ ����� '(�B�� �� ����'$ �� ��� ��
4��#(� '�22� �� ����2��� �� '��$��'$ ��� �� #��$ �� � �$ �'$�� �� 4��#(� �� * �� �� '(� +
��� �02����� ����' �� ��+ ��22�$� '��$��'$��6 �� ��;� $ ���' ���8�$ E(c) ⊂ P(V) × S
����� '(�B�� �� ����'$ �� c '�22� �� ����2��� �� '��#��� (Ki, si)) �E Ki ��$ �� ����2���
�� ��22�$� ���0�� �� '��$��'$ ��) �*��$�����2��$ ���� $ 7 �� �� 3�� ��22�$!) �$ si ��$ ��
�02����) �$ $��� 3�� ��� Ki �� ��$ ���+ 7 ���+ � �$ �'$�6 � �� ) ���8�$ ����� '(�B�� '�2#����
����� �� 3�� (0#�$(1�� h ��$ E(h) = {(κ(h), σ(h))}6 ��22� ���� ���*��� *� #��� (��$)
���8�$ ����� '(�B�� c = h1 · h2 '�2#���� �� ���+ (0#�$(1��� ��$ 9

E(h1 · h2) =

{ {(κ(h1), σ(h1)), (κ(h2), σ(h2))} � κ(h1) ∩ κ(h2) = ∅
{(κ(h1) ∪ κ(h2), σ(h2))} � κ(h1) ∩ κ(h2) �= ∅

���� #��*��� ����� ��$��2 ��� ���8�$ ��� '(�B�� �� n + 1 (0#�$(1��� �$��$ ��##���
'���� ���8�$ �� �� ����	'(�B�� '���$ $��� ��� n #��2 1��� (0#�$(1���6 �� �8�$) �� $ c =
h1 · · ·hn · hn+1 ��� '(�B�� �� ����'$ ��) �$ ��##����� '���� E(h1 · · ·hn) = {(Ki, si) : i ∈
[[1, p]]}6 �� ��;� $ ����� E = E(h1 · · ·hn+1) �� �� ��F�� �� *��$� 9

M � #��� $��$ i ∈ [[1, p]]) �� � Ki ∩ κ(hn+1) = ∅) �����

E = E(h1 . . . hn) ∪ {(κ(hn+1), σ(hn+1))}
M �� � �+ �$� �� �� 3�� i1 $�� 3�� Ki1 ∩ κ(hn+1) �= ∅ ���$��� 3�� � ���4 $ ���� '��

#��$ '�� �� �� '�� �� *��$) ����3�� k = 1!) �� � �����

E = {(Ki, si) : i �= i1} ∪ {(Ki1 ∪ κ(hn+1), σ(hn+1))}



���� ���
�������� ���� �
�
�� �� 
��������� >�5

M �� � �+ �$� i1) 6 6 6) ik $��� 3�� Kip ∩ κ(hn+1) �= ∅ #��� $��$ p ∈ [[1, k]] �$ $��� 3��
Ki ∩ κ(hn+1) = ∅ #��� $��$ i /∈ {i1, . . . ik}) ����� �� �

E = {(Ki, si) : i /∈ {i1, . . . ik}} ∪ {(Ki1 ∪ · · · ∪Kik ∪ κ(hn+1), σ(hn+1))}

� ��$ ���' ��' �� �� ��$��2 ��� E(c) #�� ��'�����'� #��� $��$� '(�B�� �� ����'$ �� c6

/ ��+) '�� '(�B��� �$��$ 4�������2��$ '���$�� $�� �� �=��$��$ ��''��� *�2��$ '(�3�� (0	
#�$(1��)  � ��$ #��� ��� �� ��$��2 ��� E(c) �� 2<2� $�2#� 3�� �� '(�B�� ��$ '���$�� $�) ��
2�$$��$ 7 =��� ���8�$ 7 '(�3�� �� � 3����� ���*���� (0#�$(1�� ��$ �=��$�� 7 �� '(�B��6 ����
�*��� ����� �� #��#� �$� �� *��$� 9

��
��
��� �  ����� c1 �� c2 ���� 
)�6��� �� ����
���� ���� 
5
� ����)� G� !	��� ��
E(c1) = E(c2)� 	�� ���� 
)�6��� ���������� 	� 
5
� ����)�� 
���� * ���� c1(G) = c2(G)�

��$��� 3�� �� ��' #��3�� ����$ #�� $��=���� *�� � 9 ���+ '(�B��� ���$ ���8�$ ��$ � 8����$
#��*��$ ��4������ �� 2<2� 4��#(�) 2� � ��� '(�2#� ��'�#$ �� ��� � 8����$� ��22�$� ��
4��#(� ;��� �� ���$ ����� #�� ��� 2<2�� #��� ��� ���+ '(�B���6 
�*����2��$) � ��� ���+
'(�B��� ��$ �� 2<2� �8�$) ��� '(�2#� ��'�#$ �� ��� ��22�$� �� 4��#(� ;��� ���$ ��� 2<2��
#��� '(�'��� ��� ���+ '(�B��� � � ���4 $ �� �� $ ��� � 8����$� Ki �� ���8�$ ��� '(�B���!6

�� �14�� 4�������) � ���+ '(�B��� ���8�$� � 8����$� #���� ���$ �� 2<2� 4��#(�) ��
#��$ '��� ����� '��� '�22� �� G �'' ���$ H #��� 3�����  ����2�$ �� #��$���� �� ����
��� #��$ '�� ��) ��� 2����� �� �� 3��� $� ��� 4��#(�� ��$���� $����$ '�2#$� ��� � 8����$�
'(�2#� ��'�#$ �� ������� ��� 2����� � 8����$� #��� �� �����$�$ ��� ���+ '(�B���) 2<2� � 
�� 4��#(� ;��� ��$  ���$ 3��!6 ���� '(��'(����� ���� 7 ��$�'$��) ���� �� 2����� �� #��� ���)
��� '(�B��� #���� ���$ �� 2<2� 4��#(� �*�' ��� 2<2�� '(�2#� ��'�#$ ��) '���$ 7 � �� '�����
#��$�4���$ �� 2<2� �8�$6 ��$��� 3�� �� ����$ �� G �*� � �� 2<2� �8�$ H ��$ ��� ����$ ��
���3� *����'� ��� ��� '(�B��� �� ����'$ ���) ���� � ���� ���� #�� �� �� $� 3�� ���+ '(�B���
c1 �$ c2 ���$ �3� *����$�� �'� 3�� ���� ��$��� c1 ∼ c2! � �$ �����2��$ � E(c1) = E(c2)6

���� ��#�����$�� �N'�'�2��$ �� ��$ �� �� '(�B�� #���� ���$ �� 2<2� 4��#(�) ��� ������
�� ����'$ ��� ���*1���$ <$�� $��# � 2 $��6 
� ��$ �� �� $ ��'���� �� �� ���$ ;�� ��� �Y��� ��
'�$ ����� '�����#�����$ ��+ '(�B��� �� ����'$ ��� �3� *����$��6 ���� #��' ��22��$) � s
��$ �� �Y�� �� ������� �� ����'$ ��� �$ 3�� s1 �$ s2 ���$ ��� ���'�����$� �� s $��� 3�� ���
'(�B��� �� ����'$ ��� ����' ��� �� '(�2 � �� s 7 s1 �$ �� '(�2 � �� s 7 s2 ���$ �3� *����$��)
����� ��  ���$ ;� s1 �$ s26


���=�$ ����� ��$��� ����$ #��� �� �����) 2� � �� 4��#(�) 3�� ���� #��$ ��$������2��$
�� ��$�� �� ����' ���� ��' �� *��� ��� ��' ����� ��� ����6 ���$:$ 3�� �� ��;� � ��$ '���$�� ��!
�� 4��#(� �� ����'$ ��� 7 #��$ � �� ������� �� ����'$ ���) ���� #��*��� �� ��;� � � ��'$�2��$
�� �� 2�� 1�� �� *��$� 9

)�*�
�

� �� �� ����		� ����)� �� ����
����� ���� ����)� G 	� ����)� ������� Gr =
(Vr, Er) ���� 	�����
�	� ��� ��

��� Vr ��� 	�����
�	� ��� 
	����� ���$����	��
� ��� 
)�6���
�� ����
����� ��� G �
)�6�� ���� ��
	���� ���� 	� ��	����� , ����� 	� 
5
� �:�� -� �� �.
(v1, v2) ��� ���� Er �� �� ���	�
��� ���	 ������ ��� 
)�6�� �� ����
���� c ��� G �� ���
)����)��� h ��� G ��		�� $�� v1 = c �� v2 = c · h ��. c ������� 	� 
	���� ���$����	��
� �� c��
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���� �6� M �+�2#�� �� 4��#(� �� ����'$ ���

��$��� 3�� �� '(� + �� ��#�����$��$ c �� �� '����� ���3� *����'� v1 ���� �� ��;� $ ��
' 	������ ��� #�� �� 2#��$��'�) �� �8�$) � c′ ��$ �� ��$�� ��#�����$��$ �� v1) ����� #��
��;� $ �� c ∼ c′ �$ ���' E(c) = E(c′)6 �� �� ���� $ ����� 3�� E(c · h) = E(c′ · h) #��
'���$��'$ �� �� E) �$ ���' 3�� c · h ∼ c′ · h6 �� � ���' � �� $��=���� v1 = c′ �$ v2 = c′ · h6
��$��2��$ � $) ���+ �$��'� ����� ��<$� ��� ��$ �� ��22�$ v1 7 �� ��22�$ v2 �� ��#���
3�� �� ���+ �$��'� ����� (0#�$(1�� #��2�$$��$ �� #����� �� �� '����� v1 7 �� '����� v26

"�2��3���� 3����� 2�� 1�� � 2#�� �� ��#�����$�� ��� '������ ���3� *����'� ��� '(�B���
�� ����'$ ��) �$ ���' �� ��#�����$�� ��� ��22�$� �� 4��#(� �� ����'$ ���) '��� �$� 7
��#�����$�� ��� �8�$� E(c) ��� � 8����$�� '(�B���) ���� �� ���2� ���� ��$ �� k) #� � �� k
� �$�� �� ��22�$� ���� ��0��+ �� '��$��'$ ��! �$ ��;� �� k �02����� ���� �02����� ����' ��
��+ ��22�$� �����$��$� ��� '��$��'$ ���!6 �;� �� � 2#� ;�� ��� '�2#��� ����) '�� ��=�$�
#��*��$ <$�� ���2�� ���) �� $� ��$ ��� ��22�$� ��� k ��0��+ �� '��$��'$ �� #��  �� '��
'�� ����$�) #� � �� $� ��$ ��� ��0��+ �� '��$��'$ �� ��+ 2<2� 7 #��$ � ���  �� '�� ���
��22�$� 3� ��� '�2#����$) #�� ����� ��+ '�4��#( 3��6


� #����� ���� ���� ��� *�� �� ��#�����$�� ��� ��22�$� �� 4��#(� �� ����'$ ��� #�� ��
4��#(� ��$��� �� �##� 3���$ ����� ��� '(�B��� ��#�����$��$ �� �� '����� ���3� *����'� ��	
#�����$�� #�� '(�3�� ��22�$ �� 4��#(�  � $ �� ��� ��##���� �� �8�$ 3�� ���+ ��#�����$��$�
����� 2<2� '����� ��$ �� 2<2� �8�$) ���' #���� ���$ �� 2<2� 4��#(� 7 #��$ � �� 4��#(�
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 � $ ��!6 
� ���4 $ ���$��$ ����� 2�� 1�� �� * ���� ��� �� 4��#(� �� ����'$ ���) #��� 3�� �� ��
��#�����$��6 �� �8�$) ���� �*��� *� 3�� ���+ '(�B��� ���8�$� � 8����$� #��*��$ #���� �� ��
2<2� 4��#(�) '� 3� � 4� ;� 3�� #��� ���� ��22�$� �� 4��#(� �� ����'$ ��� #��*��$ <$��
����' �� �� 2<2� 4��#(� 9 �� '��$��$�� �� 4��#(� ����' � 7 '(�3�� ��22�$ �� #��2�$ ���'
#�� �� ��#�����$�� '����'$�2��$ �� 4��#(� �� ����'$ ���6 ,� #���) ��� $���� ��#�����$�$ ��
��$ #��� � N' ��2��$ �+#�� $���� 9 #���  ���$ ;�� ���+ 4��#(��)  � ��$ ��'���� �� �� $��$��
�� �� ���$  ��2��#(��) '� 3� ��$ ��� �#���$ �� � �� #��� '�T$���� 3�� �� *�� ;�� ���4�� $�
��� ���+ �8�$� �� ��#�����$�$ �� ���2�� ���6 
� ;4��� �6� ����� �� �+�2#�� �� 4��#(� ��
����'$ ��) �E ��� ��22�$� ���$ ��#�����$�� #�� ��� 4��#(��6

!�!�� 4
�����
�
	 �� ������ �� �����
�
	�

,��� '�$$� #��$ �) ���� ��##������� 3�� ���+ (0#�$(1��� �0��$ �� 2<2� �8�$ ���$
 ���$ 3���6 �� ��##���� 3����� (0#�$(1�� �� ����'$ �� ��$ ��;� � '�22� �� 3�����#��$
(vc, E, s, n)) �$ ���� �*��� *� 3�� ���8�$ ����� '(�B�� �� ����'$ �� ���� $� 7 ��� (0#�$(1��
��$ ������2��� '���$ $�� �� ���� '��#�� (K, s)) �E s ��$ �� �02���� �� ���$ � �� ��(0#�$(1��
�$ K ��� ��22�$� �� ��0�� �� '��$��'$ �� �� '�$$� ���� 1��) '���$ 7 � �� ������2��� ���
��22�$�  �' ���$� ��+ ��<$�� �� ���$ #��$ � �� E) �� � �� �� � �4��$�� {vc} � E ��$ * ��6
�� ��$��� 3�� ���� $��� ��� '��) vc �� $ #��$ � �� K6 ,��+ (0#�$(1��� ���8�$� � 8����$� ��
#��*��$ ���' � 8���� 3�� 9

M �� '(� + �� vc #��2 ������2��� ��� ���2��$� �� K 9 '� '(� + ��� �� #��$ 3�� ��'���
 �J���'� ��� �� '���$��'$ �� �� �� #0��2 ��) ���� ����$	 � #�� 4<���$ �� �� #�� ��
$�� � '�2#$� #�����$ �� #(��� ���##���$ ���4�)

M �� '(� + ��� ���2��$� �� E #��2 ������2��� ��� ��0��+ �� '��$��'$ �� #��� ����
'����+�� �$ ��2�$$��$ �+�'$�2��$ ��� ��22�$� �� K '�22� ��22�$�  �' ���$� 9 �7
��'���) $��$ ��0�� *�� ;��$ '�� #��#� �$�� '���� �� 7 �� 2<2� '��$��'$ ��) �� ���$�
3�� '� '(� + ��� #�� �� �J���'� ��� �� '���$��'$ ��)

M �$ �� �� *����� �� �� 3��� $� n ��$ 2�� �� ��(0#�$(1�� 9 '��$�� ��2��$ ��+ ���+ '��
#��'����$�) '�$$� 3��� $�  �J�� ��� �� '(� + �� ��(0#�$(1�� 7 �##� 3���) �$ ���' ���
�� '���$��'$ �� �� �� #0��2 ��6 ,� #���) '���$ #��' ��2��$ ��� '�$$� *����� 3�� #��$�
���##���$ ���4�6

� �� ) ��  ���$ ;��$ ��� (0#�$(1��� �0��$ �� 2<2� �8�$) �� �����  ����2�$ ��  2#��$��$�
#����� ���� �� 3��� $� ����' �� 7 '�$$� ���� 1��6 ���� ����' ����� ���� 7 '(�3�� (0#�$(1��
hi ����� '(�B�� �� ����'$ �� ������2��� ��� *������ #��� ���� ��� 3��� $�� ��� (0#�$(1���
�*��$  ���$ ;'�$ ��) � �� 3�� ��� �14��� 3� ��� ��$ �2 ���6


� $(���12� �� *��$ ���� 2��$�� 3��) ���� '�� '��� $ ���)  � ��$ #��� ��� ���$ � ��� ��
4��#(� �� ����'$ ��� ���� 4��#(� #��� ��#�����$�� '�2#�1$�2��$ ����#�'� ��� '(�B��� ��
����'$ �� ��� '� 4��#(�) $��$ '�22� '��$� $ �� '�� �*�' ������� �� ����'$ ��� �� '� ���� �� 9

� �
�%�� ��  ��� G �� ����)�� �� Gr 	� ����)� �� ����
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���(�
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�	� ��� 
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��� ����
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�� ���:�� , ��	 -�� �� ��		� $�� ���� ����� 
)�6�� �� ����
���� c�
�� ��� e(ϕ(c)) = E(c) �. e(C) ���������� 	� ��
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� � ��� '���$��'$ ��) ��� ��<$� (v1, v2) �� $ #��$ � �� 4��#(� �� ����'	
$ ��� Gr � �$ �����2��$ �� � �+ �$� ��� '(�B�� �� ����'$ �� c �$ ��� (0#�$(1�� h0 $��� 3��
v1 = c �$ v2 = c · h06 ��$��� ����� Hv2(c) ������2��� ��� (0#�$(1��� h $����� 3�� v2 = c · h6
��$ ����2��� ��$ ��� * ��) '��  � '��$ ��$ �� 2� �� h06 ���� �*��� �� #��� *� 3�� #���
$��$ c′ $�� 3�� c′ = c = v1) � c · h = v2 ����� c′ · h = v26 ��$��2��$ � $) #��� $��� c, c′ $���
3�� v1 = c′ = c) �� � Hv2(c) = Hv2(c

′) 9 '���$ ��� 3���$ $� 3� �� ��#��� #�� �� c 2� �
�� 3��2��$ �� v1) ���� #��*��� ���� ���� �� ��$�� Hv1→v2 6

�� $ 2� �$����$ v1 �� ��22�$ �� 4��#(� �� ����'$ ��� Gr) �$ v2 �$ v3 ���+ ��22�$� � �	
$ �'$� ��=�'��$� 7 v16 �� $ ����� h2 ∈ Hv1→v2 �$ h3 ∈ Hv1→v3 ���+ (0#�$(1��� �� ����'$ ���
'�����#�����$ 7 ���+ ��<$�� � �$ �'$�� ���� 4 �� v16 ����� �� � ��'���� ��2��$ h2 �= h3) '��
� c ��$ ��� '(�B�� �� ����'$ �� $���� 3�� v1 = c) ����� �� � c · h2 = v2 �= v3 = c · h36

���� �$ 3��$��� ����� '(�3�� ��<$� (v1, v2) �� 4��#(� �� ����'$ �� #�� ������2���Hv1→v2

��� #���) �� 2�2�� �� #��� '(�3�� (0#�$(1�� ������2��� ��� �14��� #��*��$ �� 4������) � �� 
3�� ��� 3��� $�� ����' ���!6 ���� #��*��� ����� '���$�� �� �� ���=�'$ �� ϕ �� $(���12� #��
��'�����'� ��� �� ���4���� ����� '(�B�� �� ����'$ ��) �� �� 2�� 1�� �� *��$� 9

M X �� '(�B�� * ��) �� ����' � �� '(�2 � �$�$ ���� �� 9 ϕ(ε) = (∅)6
M X �� '(�B�� c ���� $� 7 ��� (0#�$(1�� h1) �� ����' � ���� 3�� v1 $�� 3�� h ∈ H∅,v1

) �$
���' ϕ(h1) = (∅, v1) ����+ �$��'� �� v1 ��$ 4����$ #�� '���$��'$ �� �� �������) �$ ���
�� ' $� #�� �� ��2���$��$ �� ' 	������!6 �� ��$� ����� 3���� � � �� e(ϕ(c)) = v1 =
E(c)6

M ��##����� '���� ϕ ��� ������2��� ��� '(�B��� �� ���4����  ���� ���� �� �4��� 7 n
��*�' n > 0!) �� $ ����� ��� '(�B�� c = h1 · · ·hn · hn+1 ��� '(�B�� �� ���4����
n+ 16 ��$��� (∅, v1, . . . , vn) = ϕ(h1 · hn) �� '(�2 � ����' � 7 �� ����	'(�B��  � $ ��� c′

�� ���4���� n6 ��� (0#�$(1�� �� ��'�����'�) �� � e(ϕ(c′)) = E(c′) = vn6 ,��') #��
'���$��'$ �� �� 4��#(� �� ����'$ ���) vn #���1�� �� *� � � vn+1 $�� 3�� E(c′ ·hn+1) =
vn+1 9 '��� *��$ ���� � �� 3�� hn+1 �##��$ ��$ 7 Hvn→vn+1 ) '� 3�  2#� 3�� ���� ' $�
�� vn+16
� �� ) ���� #��*��� ��;� � ϕ(c) 7 #��$ � �� ϕ(c′) = (∅, v1, . . . , vn) �� #����$ ϕ(c) =
(∅, v1, . . . , vn, vn+1) �E vn+1 ��$ ���� 3�� ��22�$ $�� 3�� hn+1 ∈ Hvn→vn+1 6


� ���'$ �� ϕ ����' ��$ �� �� 3�� '(�2 � ���� 4 �� ∅ ���� Gr 7 $��$� '(�B�� �� ����'$ �� c
��$ ���' � �� ��;� �6 ,� #���) � C = (∅, v1, . . . , vn) ��$ �� '(�2 � ���� Gr ���� 4 �� ∅)
�� $ ����� h1 �� ���2��$ �� H∅→v1

) �$) #��� $��$ i ∈ [[2, n]]) �� $ hi �� ���2��$ �� Hvi−1→vi
6

����� �� '(�B�� c = h1 . . . hn *�� ;� ϕ(c) = C) ���E �� ���=�'$ * $� �� ϕ6

���� �*��� ���' ��;� ��� '�����#�����'� ��$�� ��� '(�B��� �� ����'$ �� �$ ��� '(�2 ��
#��� ���� ���� �� 4��#(� �� ����'$ ���6 ,� #���) ���� �*��� *� 3�� � �$� $ #��� ��� ������' ��
�� 4��#(� G  2�4� H 7 '(�3�� ��22�$ �� 4��#(� �� ����'$ ���) '�����#�����$ 7 ���##� 	
'�$ �� �� ���8�$ ����' � �� ��22�$ �� 3���$ �� ��� �� 4��#(�  � $ ��6 
��8�$ ����� '(�B��
�� ����'$ �� c '�����#�����$ �� ���� �� ��22�$ �� '(�2 � ϕ(c) ����' � 7 '�$$� '(�B��) ��
4��#(� �� ����'$ ��� #��$ ���' <$�� �$ � ��) $��$ '�22� ������� �� ����'$ ���) #��� �� ��
�� � �� ��$�� ��� '(�B��� �� ����'$ �� �$ ��� 4��#(�� �����$��$� �� ����� �##� '�$ ���6

� �� ) ���� �� '�� ���� �##���$ ���4� 4� ��) ���� '(��'(����� 7 ��*�� ��� ��� '(�2 ��
2����$ 7 �� �����$�$ #��'(� �� �� *�� $� $���� �) �� ������F��$ ��� �14��� ���E ���$  ����� ���
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(0#�$(1��� �##��� ����$ ��� '� '(�2 �) �� ��$� 2��$ ��� �14��� ���$ ��� (0#�$(1��� �2 ���
�� $���*��$ ��� ��� '(�2 �� ����� 4���$ �� �� *�� $� $���� �6 ���� �$ � ������  ' �� 2<2�
$0#� ���##��'(� 3�� ���� �� '�� ��� ������ �� ����'$ ���6
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� '���$��'$ �� ��$ � 2 �� �� 7 '���� �$ � ��� ���� �� '�� ��� ������ �� ����'$ ���6 
�
#� �' #��� � 8����'� ��$ 3�� �� ����'$ �� ����� (0#�$(1�� ����$��B�� #�� ��'���� ��2��$ ��
'���$ �� ���� ���*��� ��22�$ 9 � ���=��$ �� ��(0#�$(1�� 7 �� '(�B�� �� '���� �� '���$��'	
$ �� #���� $ �� �8�$ ��=7 '����) �� ��22�$ ��#�����$��$ '�$ �8�$ ��$ �$ � ��) �$  � ����$ ���'
#��� ��'���� �� �� '��$ ���� ���+#����$ �� �� '�$$� ����'(�6 ���� #�����$� ���+ �*��$�4��
#� �' #��+ 9

M 
� #�����'� �� ���'��� �� #��$���� #�� �� '���$��'$ �� �� 4��#(� �� ����'$ ��)
'��$�� ��2��$ 7 '� 3�� ���� �*� $ �*�' ��� ������ �� ����'$ �� �E ���� #��*� $ ��
��$���*�� �*�' ��� ����'(�  �;� �6 � �� $����� ���'��� ���$ �� #� �' #� �+'���� ��
#��'����� �� '���$��'$ �� �� �� $ �� 4� � �����$��'$ �� ��� 4�$� �� #��� '(�3�� ��	
��'$ ��) ���� �*��� *� 3������� �$� ��$ $��$��� � ��'���� ��� #��� $�� $�� '��$� ���
� $��$ ��� ���$��� �� ��� 1�� �� '�� ���'(�' ���� �� ���##� '�$ �� ����� ��3���'� ��
�14��� ���2��$� ���!

M 
���3�� ���� �$$� �$ �� ��22�$ ��=7 �+#����) ��� ��''������� ���$ ��=7 '����� 9  � ����$
���' #��� ��'���� �� �� #����� *�� ���+#����$ �� �� '�$$� ����'(�6 ,��� �� '�� �E ����
'���$�� $ �� 4��#(� #��$ ��) �E ��� ��4�� $(2�� �$ � ��� �� #��*��$ �+#����� 3����
��2��� ����� ��$ 4�������2��$ �� ���! �� ����'(�� 7 �� �� �) '��� #��$ ���' � �����
��� �������'�� #��� ���+#����$ �� ����� ��$�� ����'(� �3� #��$ �*��$�����2��$ <$��
��� ����'(� ��� �+#����� �� ��22�$ *����$ ��<$�� �$$� �$!6

,���� 2�� 1�� 4�������) ��� 4��#(�� �� ����'$ ��� ���$ #��� #�$ $� 3�� ��� ������ ��
����'$ ���) �� �� $ �� �� ���$ ;'�$ �� ��� ��22�$� '�����#�����$ 7 ���##� '�$ �� �� '(�B���
���8�$�  ���$ 3���6 
� ��$ $��$��� � � N' �� �� ��$��2 ��� �� ��2��� �� ��22�$� ��'���� ���
#��� ��#�����$�� �� 4��#(� �� ����'$ ��� '�2#��$ 9  � ��#��� ��� �����2��$ �� ��2���
�� ��22�$� �� 4��#(�  � $ ��) 2� � ���� �� ��2��� �� �02����� ��$ #��� #��' ��2��$
�� �� ���4���� 2�+ 2��� ����� ��3���'� �� �02����� ���$ �� � *��� �����$��'$ �� '��B$
�$� '$�2��$!) �$ �� �� $� ��� ��� ��0��+ �� '��$��'$ ��6 ��#�����$) �� #��#� �$� �� *��$�
���� 2��$�� 3�� 2<2� �� �� '��� �����$ 3�� ��� '��$��'$ ���) �� �� #��$ �* $�� �� ��2���
�+#����$ �� �� ��22�$� ���� �� 4��#(� �� ����'$ ��� #�� ��##��$ �� ��2��� �� ��22�$
�� 4��#(�  2�4� 9
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� � ,������ ���� �� ����� ≺ ��� ������2��� ��� ��22�$� �� 4��#(�  2�4�6
�� $ c ��� '(�B�� �� ����'$ ��) �$  �$�������� ���� ��+ � 8����$� ��0��+ �� '��$��'$ ��
#�����$� ���� ��� �8�$ E(c)6 �(�3�� '��$��'$ �� � 2 ����$ �� 4��#(�  2�4� ���� 2� �� ��
��22�$) ���� ��*��� 3�� E(c) '��$ ��$ �� #��� n−1 ��0��+ �� '��$��'$ ��6 �� $ �� ��0��
K = {v1, . . . , vp} #�����$ ���� E(c) �$ $�� 3�� p � 26 ���� #��*��� ��##���� ���  �� '��
'(� � � �� $���� ���$� 3�� v1 ≺ · · · ≺ vp) �$ ��'�2#���� K �� �� �� 3�� ����2��� �� p− 1
'��#��� K ′ = {(vi, vi+1) : i ∈ [[1, p− 1]]}6 ��$$� ��'�2#�� $ �� ��$ �� 3��) �$ #��2�$ ���� 
�� ��'���$ $��� K6

,� #���) � ���� �8�'$�� '�$$� ��'�2#�� $ �� #��� ���+ ��0��+ K1 �$ K2) ���� �*���
K ′

1 ∩K ′
2 = ∅) �$ 2 ��+) �� ���� �� K ′

1 ∪K ′
2 #��2�$ �� ��'���$ $��� K1 �$ K2 ���� ��0��+

K1 �$ K2 �$��$ '�2#�$ ����)  � ����$ #�� �� ��22�$� �� '�22��) �$  � ��$ ���' #��� ��� ��
��#���� ��� '��#��� �� �� ���� �� �� '��+  ���� �� K ′

1 �$ '��+  ���� �� K ′
2!6 ��$$� #��#� �$�

���$� *�� � #��� �� ��2��� 3���'��3�� �� ��0��+ �� '��$��'$ ��) $��$ 3�� '�� ���� ���
'��$ �����$ �� 2� �� ���+ ���2��$�6

� ���� �� '��� �1�� 3�� ��� '��$��'$ ���) $��� ��� ��0��+ �� '��$��'$ �� #�����$� ����
E(c) ���$ 7 ���+ ���2��$� �� 2� ��) �$ ���� #��$ ���' �##� 3��� �� �����$�$ #��'����$ 7
������2��� ��� ��0��+ �� '��$��'$ �� �� E(c)6 
�����2��� ��� ��0��+ �� '��$��'$ �� ��
E(c) #��$ ���' ���'� �� ���� �� ���2� ���� ����2��� �� '��#��� K ′ ⊂ {(v1, v2) ∈ V2 : v1 ≺
v2, } ��E V ��$ ������2��� ��� ��22�$� �� 4��#(�  2�4�!) �$ '�$ ����2��� K ′ #��2�$ ��
��'���$ $��� K6 ��$��2��$ � $) ���##� '�$ �� 3� 7 �� ����2��� �� ��0��+ �� '��$��'$ ��
���� E(c) ����' � �� K ′ '�����#�����$ ��$  �=�'$ *�6 ���� � 4� ;� ���' 3�� �� ��2��� ��
*������ � 8����$�� #��� ���� #��� E(c) � ����  4���� ��� '(��4�2��$� �� �02����� �'���$ 7
� �� � ���� �� '��� �1�� 3�� ��� ��0��+ �� '��$��'$ ��! ��$ 2�=��� #�� �� ��2��� �� *������
3�� #��$ #������ K ′6

�� � K ′ ⊂ Kf = {(v1, v2) ∈ V2 : v1 ≺ v2, }) �� |Kf | = n(n − 1)/26 �� #��$ ���' ��
���� �� 3�� �� ��2��� �� #��� � � $� p #��� ��� *������ �� K ′ ��$ 2�=��� #�� 2|Kf |) '���$ 7
� �� 3�� 9

p � 2(n2−n)/2 =

√
2n2

2n
�
√

2
n2

&�� 2� ������ 2�=���$ ��) � �� 3����� 2 ����$ �� ��$ $��$��� � #��� ���) �� ����0���$
�� ��F�� ���$ K ′ ��$ ��;� 6 �� �8�$) '(�3�� '��#�� (v1, v2) #�����$ ���� K ′ '�����#��� 7
��� '��$��'$ �� �� ���+ ��22�$� 9  � �� #��$ ���' 0 �� �*� � 3�� n− 1 �� #���6 ,� #���)
'(�3�� ��22�$ �� #��$ �##���B$�� 3�� ���� ���+ '��#��� �� #���) ��� �� � ���� �� #��2 ��
��22�$ ���� '��#��) �$ ��� �� � ���� �� ��'���6 �� #��$ '�� ��) ��� v1 �� '(�3�� '��#��
���$ � 8����$�) �$ ���') �� � 0 � k '��#���)  � 0 � n(n− 1) · · · (n− k+1)/k! ��F��� �� '(� � �
��� v16 ,� 2<2� #��� ��� v2) 3� �� *��$ �� #��� <$�� � 8����$� ��� v1) '� 3� ����� ���'
(n− 1) · (n− k) #��� � � $�� � � ���4 $ �� 3��2��$ ����� 2�=���$ ��) '�� �� �� $ ��$  ' #��
'�2#$� �� �� $ 3�� v1 ≺ v2 ���� '(�3�� '��#��!6 � �� #��� ��;� � ��� k '��#���)  � 0 �
��$�� n(n− 1) · · · (n− k + 1)/k! �$ n(n− 1)2 · · · (n− k + 1)2(n− k)/k! #��� � � $��6
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�� #��$ ���' �'� �� 9
n−1∑
k=0

n(n− 1) · · · (n− k + 1)

k!
� p �

n−1∑
k=0

n(n− 1)2 · · · (n− k + 1)2(n− k)
k!

n−1∑
k=0

Ck
n � p �

n−1∑
k=0

Ck
n(n− 1) · · · (n− k + 1)

n−1∑
k=0

Ck
n � p �

n−1∑
k=0

Ck
n(n− 1)k−1

2n−1 � p � nn−1

n− 1

�� #��$ �� 2<2� 2��$��� 3�� ��� '(��4�2��$� �� �02����� #��*��$) ���� �� # �� ���
'��)  �$���� �� �� ��2��� �+#����$ �� ���#�� ��� 7 sn �E s ��$ �� ���4���� 2�+ 2��� �����
��3���'� �� �02����� �� � *���+ �����$��'$ �� �$� '$�2��$ '�� ����$�! �� ��22�$� ����
�� 4��#(� �� ����'$ ���6 ��� ���+ �����$�$� ���� 2��$���$ 3��) '�22� '��$� $ �� '�� ����
�� '�� ��� ������ �� ����'$ ���)  � #����� �� #�� <$�� #��� ��� �� '���$�� �� �� 4��#(�
�� ����'$ ��� '�2#��$) �$  � ���� ���' ��'���� �� �� '���$�� �� ��� 4��#(�� �� ����'$ ���
#��$ ���6 
� '���$��'$ �� �� $��� 4��#(�� ��$ � 2 �� �� 7 '���� ��� ������ �� ����'$ ���
#��$ ���) �$ ����$ ���' #�� ��$� ����  ' 6
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,� 2<2� 3�� #��� �� '���$��'$ ��) ���##���$ ���4� 7 ��� �� ��� 4��#(�� �� ����'$ ��
��$ � 2 �� �� �� '�� ��� ������ �� ����'$ ���) �$ ��� ��4�� $(2�� � 2 �� ��� 7 '��+ �$�� ��
#��� ��� ������ �� ����'$ ��� #������$ ���' <$�� �$ � ���6 
� #� �' #��  �$��<$ �� 4��#(� ��
����'$ ��� ��� ��� ������ �� ����'$ ��� ��$) '�22� ���� ���*��� *� #��� (��$) �� #��� � � $�
�� �$���� �� ���+#����$ �� ����� ���*���� ����'(� '(�3�� �� � 3����� ����'(� �� G ��''���� H
7 ��� ����'(� ��=7 �+#�����6 
� �� ��� ��2��� �� ����'(�� �+#������ ���� ��� '�� ��� ������
�� ����'$ ��� �$� $ �� #� �' #�� ��'$��� � 2 $��$ ��� #��� � � $�� ���##���$ ���4�) ���� ��
#��� � � $� �� ��$�'$�� ��� '(�2 �� ��=7 �+#����� #��� #��*� � �� �+#����� ����$��� ���*1��
<$�� �� �*��$�4� '��$� �6 ��#�����$)  � ����$ #�� #��� ��� �� 4����$ � 3�� '� 4� � �� $ ���
��4� 4�����6

�� �� $) �� #� �' #�� #����12� ���� �� '�� ��� ������ �� ����'$ ��� �$� $ 3�� �� ��2���
�� ����'(�� �+#������ �$� $ �� #��� ���*��$ ��4� 4����� #�� ��##��$ 7 �� (��$��� �� �������6
,��� �� '�� �� 4��#(� �� ����'$ ���) �� 2<2� #����12� �##���B$) '���$ 7 � �� 3�� �� ��2���
�� ����'(� �+#������ ��$ ��4� 4����� #�� ��##��$ �� ��0�� �� 4��#(�) 2� � ��� '(�2 �� ����
�� 4��#(� ���$ 2 ��+ 2�B$� ���) �� ���$� 3�� ���� ��� *��� #��� ��' ��2��$ 7 �� � * ��� ��
����	'(�2 �� #��� '���$�) �$ ���' #��� ��' �� 7 �##������ 7 #��$ � ���� ��2��� � 2 $� ��
����'(�� �+#������6

��$��� ������� 3�� '��$�� ��2��$ ��+ ������ �� ����'$ ���) #���*� 3�� �� *�� $� $��	
�� � #��' �� ��� '(�2#� ��'�#$ �� �� '(�'�� ��� ��22�$� �� 4��#(� ;���) ����� �� ��22�$ 7
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�$$� ���� ���� �� 4��#(� �� ����'$ �� ��$ �� 3��6 � �� ) �� ��'(��'(� 2� �$����$ �� '(�	
2 � ��$�� ���+ ��22�$� #��' � �� 4��#(� �� ����'$ ��) �$ ��� �� '(�2 � ��$�� �� ��' ��
�$ �� ����
�	� �� �Y��� '�22� ���� �� '�� ��� ������ �� ����'$ ���6 
� ��$ ����� #��	
� ��� ����$ 2�� �� � �$��'� ���� �� 4��#(� �� ����'$ �� ��$�� �� ��22�$ 3���'��3�� �$ ��
��22�$ ��=�'$ �) #��� ��N��� �� 2����� �� 3��� $� '(� � � � � ��$ 2<2� #��� ��� ���$ � ���
� ��'$�2��$ �� �*���� �� '�$$� � �$��'� '�22� 2����� �� 3��� $�!6

�� $ 2� �$����$ s1 �$ s2 ���+ ��22�$� �� 4��#(� �� ����'$ ���) $��� 3�� $��$ '(�2 �
 ��� �� s1 #���� ��'���� ��2��$ #�� s26 ����� �� � �� 3�� s2 ��$ �� ��''������ ���'� �� s1)
�$ ���� '� '�� ��� #� �� ��� �14��� ����$ ��'���  �J���'� ��$�� s1 �$ s26 �� #��$ '�� ��) � s2

��$ �� ��22�$ ��=�'$ �) �����  � ��N$ ���$$� ���� s1 #��� ����� � ���##���$ ���4�6 ,� 2<2�)
� s1 ��$ �� ��22�$ �� ��#��$)  � ��$ #��� ��� �� 4����� '� 3�� � �� #���� ��$�� s1 �$ s2 �$
�� '�22��'�� ���##���$ ���4� �� '��� �����$ s2 '�22� �� ��22�$  � $ ��6 ,���� 2�� 1��
4�������) �� ��$�'$ �� �� ��''������ ���'� ���� ��22�$ ���� �� 4��#(� �� ����'$ �� #��2�$
���� �� �� $� ��� �� '(�2 � ����0�� �$ ���' �� ��0�� G �##����$ H �� 4��#(�) ��' � $��$ � �� 
���##���$ ���4�6

��$��� $��$��� � 3�� ��� ��22�$� #�������$ �� ��''������ ���'� ���$ 4�������2��$ #��
��2����+ � ��� �14��� ���$ ��N��22��$ � '(��6 ,� #���) �� ��$�'$ �� ���� ��''������ ���'�
��2���� �� 4������ ������0�� �� 4��#(� '�2#��$) 3� ����$ #�� �''��� ���6 
� ��$ �� ��*��'(�
#��� ��� ���8�'$��� '�$$� ����0�� ���� �� 4��#(� #��$ �� �;� �� ��$�'$�� ��� ��''�������
���'�� �##����$�6 ,� �� $ �� ��2��� � 2 $� �� ����'(�� #�����$�� ���� �� 4��#(� #��$ ��) ��
#����� � $� 3���� ��22�$ � $ �� ��''������ ���'� �##����$ ��$ � �� #��� 4����� 3�� '����
3�� � � $ �� ��''������ ���'� ����6 
�$� $ *�2��$) � �� 4��#(� #��$ �� ��$ '���$�� $ '�22�
���$� ��$ ��� ������ #��$ ��� ���� �� ��'$ �� #��'����$�) � �� ��22�$ s #���1�� �� ��''������
���'� �##����$ s′) '��� � 4� ;� 3����� ��41�� 2�� ;'�$ �� ��� �14��� �� '(��4��� #�� �� �� $
3�� s′ ��''1�� 7 s 9 #��� �* $�� s′)  � ��$ ���' ��'���� �� �� 2�� ;�� 4�����2��$ ��� �14���6
�� '��$�� ��) � s′ ���*1�� <$�� ��� ����� $���� $ ��)  � ���� #��� ��� �� 2�� ;�� ��41��2��$
��� �14��� �� ��F�� 7  �J��� ��� ��� ����'$ ��� �#�1� s′ ���� #��� ��$��$ #����� �� $���� $ ��
�� s *��� s′6

� �� ) ���� �8�'$������ ���##���$ ���4� �� �� 2<2� 2�� 1�� 3�� ���� �� '�� ��� ������ ��
����'$ ���) 2� � �� ����0��$ �� ��$�'$�� �� �*��$��� ��''������ ���'� �##����$ �� ��22�$
�� '���� �� '��� ����$ �� �'���$ 7 � �� '��� #��� ��3��� �� ���� � �� ��� *�� �� 2�+ 2�2
�� ����'(�� ���� �� �� '���$��'$ �� �� 4��#(� #��$ ��!6 � �� $�� ��''������ ��$ $���*�)
�� $��$� ����� �� '���$�� �� ��� ����'(� 3� G �* $� H '� ��''������ ��� '��� �����$ ���
$���� $ ��� #��� ���� *��� ��� ��22�$� ��� �+#�����!6 � '�$$� '���$��'$ �� �'(��� �#�1�
�� ��2��� ��$��2 �� �� $��$�$ *��) �� ��''������ ��$ '��� ���� '�22� �� ��''������ ���'�
����) �$ ���##���$ ���4� #��$ ����� ��#������ 7 #��$ � �� '� ���� ��6

,��� �� '�� '��$�� ��) ���+ � $��$ ��� �� #�����$��$) �� *��$ �� 3��� $� ��� ��$����$ *��
$���*��� �� ��''������ ���'� �##����$ 9

M � �� ��''������ ���'� �##����$ ��$ �� 2� ������ 3��� $� 3�� $��$�� ��� ��$����$ *�
$���*���) '��� � ��$ $�� $� '�22� �� ��''������ ���'� ���� 9 ���##���$ ���4� ��#����
7 #��$ � �� '� ���� ��6

M � ���) ��� #� �� ��� �14��� ���$ 2�� ;�� �� ��F�� 7 � � 4�� �� '���$��'$ �� *��� ��
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2� ������ ��$����$ *�6 
��##���$ ���4� ��#���� ���� $� 7 #��$ � �� ��22�$  � $ ��6
��$��� 3�� #��$:$ 3�� �� �0�$�2�$ 3��2��$ '��� ����� �� 2� ������ ��$����$ *� $���*��)
�� #��$ #������� '��� ����� �� ��''������ ���'� �##����$ '�22� �� ��''������ ���'� ���� � 
�� 3��� $� �� �� 2� ������ ��$����$ *� $���*�� ����$ #�� ��N��22��$ �� ������ �� '���� ��
��''������ ���'�) �� ��F�� 7 #��;$�� �� �� �$�� � $� ��+ ��4��� '(��4�2��$� �� �14��� ���$
����;' � '� ���� ��6

� �� ) ����3���� ��''������ ���'� ��$ ��$�'$�)  � '���$ $�� ��� ���$� �� #� �$ �����<$ #���
�� #��'����� ���##���$ ���4�6 � '� ���� �� ����$ #�� =�4� ��N��22��$ ���) �� #��'�����
���$� ���3�� 7 �� #�� $ �� �� '���� =��3��7 $���*�� ��� 2� ������ ����$ ��6 �� ��*��'(�) � ��
��''������ ��$ =�4� ;����) ���##���$ ���4� #��$ � ��'$�2��$ #����� 7 '� ���� �� ��  4�����$
$��� ��� ��22�$�  �$��2�� � ��� ��� �� '(�2 � ��$�� �� ��22�$  � $ �� �$ ��� ��''������6
���� �*��� ���' �� �##���$ ���4� #�� ���'� �� $� ���� ���� $�� '(�3�� �� � 3���� ��''������
���'� ��$ $���*�) �� ���$� 3�� �� ��2��� �� ����'(�� �+#������ ����$ #��� ��'���� ��2��$
��4� 4����� ��*��$ �� ��0�� �� �� #��$ �  �$�������$� �� 4��#(� �� ����'$ ���6 �� #��$ ���'
���$$����� 7 ��$�� � �� 2� ����� �##���$ ���4� 3�� ���� �� '�� #��'����$6
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.��3��7 #�����$) ���� ���*��� �$�� � 3�� ��� �$��'$���� #��2�$$��$ �� ��#�����$�� ����	
#�'� ��� '(�B��� �� ����'$ ��� ����' ��� 7 �� 4��#(�  2�4� �����6 ���� ���(� $��� '�	
#�����$ #��*� � ���� �� �� 2#��$� 3��� 4��#(�  2�4� 7 #��$ � �� #��'����� ��;� ���� ��
#��$ � #��'����$� �$ ��� �14��� � �� �##� ���6 �� �������'� ���� 2��1�� G 4����� H #���
��#�����$�� ������2��� ��� '(�B��� �� ����'$ ��)  � ����$ #�� #��� ��� �� 2��$��� � ���##� 	
'�$ �� ��''��� *� ��� ��4�� $(2�� ��'� $� #��� (��$ 7 �� ����2��� �� 4��#(�� � ������2��$
�� ���� �� ���6 ���� #�����$��� ���' 2� �$����$ �� 2��1�� #��� 4�����) ���� �� ���2� ��
4��#(� �� ����'$ ��� ���� ����2��� �� 4��#(��6


� ��� ��$ �� �� *��$� 9 #��$:$ 3�� �� �� ��;� � �� 4��#(� �� ����'$ ��� 3�� #��� ��
�� 3�� 4��#(� G0) ���� ������ ��;� � �� 4��#(� �� ����'$ �� #��� '(�3�� 4��#(� G ��
������2��� '��� ����) �$ ����  ���$ ;����� ��� ��22�$� �3� *����$� �� '�� � 8����$� 4��#(��
�� ����'$ ���6 
� #� �' #�� #����12�  ' ��$ �� ��'����B$�� ��� ��22�$� �� ���+ 4��#(��
� �$ �'$� 3� ���$ �8�'$ *�2��$ G �3� *����$� H6

���� '���) ���+ �##��'(�� ���$ ��* ��4������ 9
M '��� ����� ��� ��22�$� ��� 4��#(�� �� ����'$ ��� ��� #�� '�22� ��� �8�$� ��� '(�B���

�� ����'$ ��� ����' ���) 2� � '�22� ��� 4��#(�� �����$��$� �� ���##� '�$ �� �� '��
'(�B��� ��� �� 4��#(�  � $ ��)

M �� � �� '��� ����� $��� ��� 4��#(��  � $ ��+ '�22� �� �� �$� ��$ ��+ 2<2� ��� *��
���� 4��#(� G ��'<$�� H '�22��6

���� �*��� ��=7 � �'�$� �� �� #��2 1�� �##��'(� ���� �� '�� ��� 4��#(�� �� ����'$ ���
� 2#���) �$ ���� �*��� *� 3������ #���1�� �� '��$� � ��2��� �� �'��*�� ��$�) �� #��$ '�� ��
'��� �� ���$ ;�� ���+ 4��#(��  ���$ 3��� #�� G �'' ���$ H) �� ��'��� �� � N'��$� �''���
#���  ���$ ;�� ���+ ��22�$�  ���$ 3��� � � ��$ ��'���� �� #��� '��� �� ��$��2 ��� � ���+
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4��#(�� ���$  ��2��#(��) '� 3� ��$ #��� '�2#��+� 3�� �� � 2#�� '�2#��� ���� � $ 7 � $
���� �� '�� �$������!6

���� �� #���������� ���' �� ��'���� �##��'(�) 3� ���� ��2��� #��� � 4� ;'�$ *�) ��
2� �� $��$ 3���� ��'<$�� *������ #��$ <$�� ��$��2 ��6 ,��� �� '�� �����  2�4� � �'�1$�) '�$
��'<$�� #��$ � 2#��2��$ <$�� �� 4��#(� ��#�����$��$ �� 4� ��� �� # +�� ���� �� #��� (��$�
������$ �� �$ � �����) �$ ���� ��3��� '(�3�� ��22�$ ���� $ �� 2<2� �02���� �#�' ��) ��;� 
'�22� �$��$ �� �02���� �� � *��� �����$��'$ �� �� #��� ��� �$ ���$ ��� *��� ��$ $��� ���
��$��� �02�����6

,��� �� $�� 4��#(� �� ����'$ ��) '(�3�� 4��#(� Gi �� �� ���� ���##���$ ���4� �� $
#��*� � <$�� *� '�22� �� ��22�$ si �� 4��#(� �� ����'$ ��6 ,��� �� '�� �E �� #��2 1��
�##��'(� ��$ �$ � ��� #��� ��#�����$�� �� 4��#(� �� ����'$ ���) '��� ��$ $� * ��6 [� ����$ 2� ��
���� �� '�� �E �� ��'���� �##��'(� � �$� '(� � � 9  � ���$ �� �8�$ '����B$�� �� ��F�� ���$
�� 4��#(� ��'<$�� �� ���� $ �� Gi6 ,��� �� '�� �����  2�4� � �'�1$�)  � ��N$ #�� �+�2#��
�� '����B$�� ������2��� ��� # +��� ��#�����$�� #�� '(�3�� ��22�$ �� 4��#(�  2�4�  � $ ��6

���=�'$ � �� ���##���$ ���4� ��$ ����� �� 2�� ;�� ��� #� �� ��� �14��� �� ��F�� 7 2 � 2 ���
�������� $�$��� ����' �� ��+ � 8����$� �$�$� ;����6


��� �� ���##���$ ���4�)  � ��$ #��� ��� ���##� 3��� ��� ��4�� $(2�� ��'� $� ���� �� #��	
$ � #��'����$� ��''��� *�2��$ 7 '(�'�� ��� ��22�$�  � $ ��+ si6 � '(�3�� �$�#�) ��������
����' �� 7 �� ����'$ �� �� si � 2 ���) 2� � '����� ����' ��� ��+ ��$��� ���2��$� �� �� ����
���##���$ ���4� #��$ ��42��$��6 &�� ��$�� �##��'(�) #��� ;����) 2� � �� #��*��$ <$��
2 �� �� #��$ 3�� 3�� ���� �� '�� ���� ��2��� � 2 $� �����2��$� ���� �� ���� ���##���$ �	
��4�) '��� �$� 7 ��*���##�� � 2��$���2��$ ��� ����'(�� �� 4��#(� �� ����'$ ���  ����� ��
'(�'�� ��� �$�$�  � $ ��+6 
� '���$��'$ �� ��$ � 2 �� �� 7 '���� ��'� $� #��'���22��$) ����
'(��4� �� �� $ 3�� �� #� �$ �� ��#��$ ����$ #�� �� 3��6 
��##���$ ���4� �� �� $ ����� �� '(��	
'(��$ 7 2 � 2 ��� �������� 2�0���� ��� �������� 3�����$ 3��! �� ������2��� ��� ����'(��6

� ��$ � �� ��� #��� ��� �� '�2� ��� '�� ���+ �##��'(�� �� �8�'$���$ ��''��� *�2��$ ���
�##���$ ���4�� ��� � 8����$� ���� ����2���� �� �� ���� ���##���$ ���4�) � '�$$� ���� 1��
��$ $��# 4����� #��� #��*� � <$�� �##� �� * � �� ��'���� �##��'(� �� 3��2��$6

��$��� ��;� 3�� ��� � 8����$�� ����'(�� �+#������ ���$ #��$ � ���� 2<2� 4��#(�6 
� ��$
���' �� #��$ '�� �� #��� ��� 3�� ���+ ����'(�� �� ���'��$���$6 � $�� ��$ �� '��) ��� ���+
����'(�� �� #��*��$ #��� �� ��#����) �$ ��� �����$�$� ��� ���+ ����'$ ��� �����$ ���' ���
2<2��6 �� #��$ '�� ��) � ���+ ��22�$�  � $ ��+ s1 �$ s2 �� *��$ �� ���� �� �� ��� 4��#(��
$�1� � 8����$�) �� ��� �� ��� ���+ ����'(�� �� $ ����� <$��  �$��#��$�� '�22� ��� 2��*� ��
����'$ ��6 
�*����2��$) � ��� ���+ ��22�$�  � $ ��+ �� *��$ �� ���� �� �� ��� 4��#(��
 ���$ 3��� �� $�1� #��'(��) �� ��� �� ��� ���+ ����'(�� �$ 4�������2��$ ��� �����6 � �� )
���� �� ���##���$ ���4�) �� #����� ���' ��*�� ��� �� ����*�� ��� �� ��*���##�2��$ �� $�����
����'(�� ��� ������) �� 2�� 1�� 7 �� �2�� ���� ���N'�' $�6
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,��� ��� #��$ �� #��'����$��) ���� �*��� #�����$� �� 2��1�� �� '���$��'$ �� �$ ��
��#�����$�$ �� �����  2�4�) �$ ���� �*��� #��#��� � 8����$�� 2�$(���� #��� �##������
'��$� �� #���21$��� ��� �14��� ��$���$ �� =�� ���� �� #��'����� �� '���$��'$ ��6 ,���
'�$$� #��$ �) ���� ������ #�����$�� �$ �$�� �� � 8����$�� 2�$(���� #��� �� �� �*����� ��$��
2��1�� �� 2�� 1�� �0��2 3��) �� ���'$ �� ��� ������� #�����$�� �� ��$���) �� ��'��� ����
��=�'$ � #��'$���6 ���� � 81�� ���' ��� #��'����� ���##���$ ���4� #��#���� ���� �� #��$ �
#��'����$� �� �� $ 3�� ���� ���*���  ' #�� �� ���� ���##���$ ���4� 7 #��#��2��$ #����� 9
 � ���4 �� �����#$�� �� 2 ��+ ��� �14��� �� '���$��'$ �� ��+ ������� �� �� #����12� $�� $�6

���� ����  �$���������� ���' #� �' #���2��$ 7 ���+ $0#�� �� #��'����� 9 �����#$�$ ��
�� #��'����� �� ����'$ �� 7 �� 2�4� �� '���� �� $�� $�2��$ 7 ��� �� ���� #��'����� �� ��$��	
#��#�4�$ ��) �$ �� ' ���4� �� �� '���$��'$ �� #�� ��##��$ 7 �� #����12� �����6 ���� ����
 �$���������� ���� 7 �� #��'����� 7 2 	'(�2 � ��$�� ���##���$ ���4�) $�� 3�� ��'� $ ����
�� #��$ � #��'����$�) �$ �����#$�$ ��) ��'� $� ���� �� �� $� '�$$� #��$ �) * ���$ 7 �''������
�� '���$��'$ �� ����� #0��2 �� ��  �$���� ���$ ��� �14��� �� G �0�$(1�� H6 ��$��� ��;�
3�� ���� �$ � ������ ����� ��� '�� ��� ���2�� �2�� �� #0��2 ��� �� 4��#(�� �� �� '(�B���
�� ����'$ ��6
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,��� '�$$� ��'$ ��) ���� #��#����� ��� 2�$(��� #��� �''������ �� #��'����� �� ��	
��'$ �� ��  �$���� ���$ ��� �14��� �� G �0�$(1�� H) �2�$$��$ ��� (0#�$(1��� ���$ ���8�$
��$ �3� *����$ 7 '��� �� ���##� '�$ �� ��''��� *� �� #��� ���� (0#�$(1���6 � �� ) � #��
�+�2#�� h1 · · ·hn ��$ ��� '(�B�� �� ����'$ ��) ���� #�������  �$���� �� ��� �14�� �2�$$��$
��� (0#�$(1�� H $���� 3�� E(H) = E(h1 · · ·hn)6 �� �##� 3���$ H �� � �� �� '(�'��� ���
(0#�$(1��� h1 7 hn)  � ��$ ���' #��� ��� ����$�� � �� ��� ����� �#���$ �� �� 4��#(� �����$��$
�� ���##� '�$ �� ��� n (0#�$(1��� 9 �� ��2��� �� $�������2�$ ��� 7 �8�'$��� ��$ ���' ���� $6
,� #���)  � ��0 � #��� 3����� ����� �$�#� �� ����'$ ��) '� 3� � 4� ;� 3�� ���+#����$ ��) 3� 
��$ �� #(��� �� #��� '�T$���� �� #��'����� �� ����'$ ��) ����$ �8�'$��� 3����� ����� �� �
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#��� ���� �� ������2��� �� �� '(�B��6

� �� �$��<$ #� �' #�� ����� $���� �#���$ �� ��$ ���''������ �� #��'����� �� '���$��'$ ��)
���� #��$ ���� <$�� �$ � ��� #��� ;�� � ��� ���##���$ ���4�) � ���� �� #��'� ���� �� '���� ����
�##���$ ���4� �$ � ���$ �� 4��#(� �� ����'$ ��) '�22� ���� ���*��� �$�� � ���� �� #��$ �
#��'����$�6 �� ��$ n �$ n′ ���+ ��22�$� �� 4��#(� �� ����'$ ���6 ��##����� ����� 3��
n′ ��$ �� ��''������ ���'� �� n 9 #�� ��;� $ �� �� ��''������ ���'�) $��$ '(�2 �  ��� ��
n =��3��7 �� ��22�$ ;��� #���� #�� n′6 
���=�'$ �  ' ���� �� �$���� �� ��� �14�� '�#����
���2�$$�� ��� (0#�$(1�� #��2�$$��$ �� #����� � ��'$�2��$ �� n 7 n′ 9 �� ��''������ ���'�
#��$ ����� <$�� �$$� �$ �� ��� ����� �$�#�) ���E �� 4� � �� * $����6 /� � �� 2<2� #��'�����
#��$ <$�� �##� 3�� 7 �� ��''������ ���'� �##����$6 ���� �*��� �� �8�$ *� 3�� ���� '��	
$� �� '��) �� ��''������ ���'� �##����$ �$� $ '��� ���� '�22� �� ��''������ ���'� ����) '�
���� �� �$��$ �$$� �$ 2<2� �#�1� ��� ��41�� 2�� ;'�$ �� ��� #� �� ��� �14���6 ��#�����$)
��� 2�� ;'�$ �� $��#  2#��$��$� ��� #� �� #��$ ��2#�� '�$$� (0#�$(1��) �� ���$� 3��
�� ��''������ ���'� �##����$ ����$ #��� �$$� �$) �������$ � �� ��� ����'$ ��� �� *��$��6 ��
 �$���� ���$ ��� �14�� �� #� �� ���*� �$ #��2�$$��$ ���$$� ���� � ��'$�2��$ �� ��''������
���'� �##����$)  � ��$ #��� ��� �� 2�� ;�� #��� � ���2��$ ��� #� �� ��� ��$��� �14��� $��$ ��
���$��$ ������ 3�� �� ����'$ �� #��*�� ���� � �� � ��6

�;� �� ��;� � ��� �14��� 3�� ���� ������ �$ � ��� #��� �''������ �� '���$��'$ �� �� ;�� 	
� ��� ���##���$ ���4�)  � ���� ���$ ���� �� #��2 �� $�2#� #��' ��� ���� 3���� '�� '�� �14���)
� $�� �� �0�$(1��) ��*���$ <$�� �##� 3����6 ,��+ ���2��$� #� �' #��+ ���$ 7 '��� ����� 9

M &�� �14�� �� �0�$(1�� �� �� $ �2�$$�� ��� (0#�$(1�� H 3�� �� � ��$ #��� ��� ��
'���$�� �� 7 #��$ � ��� ��$��� �14��� ��� '(�B�� h1 · · ·hn 3� �� $ $���� 3�� E(H) =
E(h1 · · ·hn)6

M 
� ���$ $�� � '�2#$� ���  �$���'$ ��� ��$�� ��� (0#�$(1��� 9 ��##����� 3�� ���+ '(�B���
r1 = h1 · · ·hk · h(1)

k+1 · · ·h(1)
n �$ r2 = h1 · · ·hk · h(2)

k+1 · · ·h(1)
n′ #� ����$ <$�� �2 ��� #��

��� �14���) �$ 3�� � �+ �$� ��� �14�� �� �0�$(1�� #��� r1) ���'�#$ ��� ���' ���2�$$��
��� (0#�$(1�� H $���� 3�� E(H) = E(r1)6 � 2� �$����$ h(2)

k+1 ���2#��$� ��� h(1)
k+1)

��(0#�$(1�� H �� �� $ #�� ���##� 3��� 9 �� �14�� �� �0�$(1�� �� �� $ ���' #�� �2�$$��
��(0#�$(1�� ���� '� '��) �� ���2�$$�� �*�' �� #� �� ��N��22��$ �� ��� #��� 3������
�� �� $ #�� ����'$ �����6

��$��� 3�� '� ��'��� #� �$ �� �� $ <$�� �$� '$�2��$ *�� ;� 3�� ���� �� '�� �E ��� �14��� ��
�0�$(1�� ��$ #��� ��$ ���''�����$ �� �� #��'����� �� ����'$ ��6 �� �8�$) ����3������� ���$
�$ � ���� #��� ;�� � ��� ���##���$ ���4�) �##� 3��� ��(0#�$(1�� �� �0�$(1�� 2<2� � ��� #� ��
��� �14��� ��*�� ���$ ���+�'�$ �� �� �� '(�B�� r2 �� � �� �� �� '(�B�� r1 #��2�$ �� ���'��
���+�'�$ �� �� r1 ��� #��$:$ ����� �� 3�� (0#�$(1�� ���$ ���8�$ ��$ �� 2<2� 3�� '��� 
�� �� '(�B�� r1! ����3�� �� ��22�$ �� 4��#(� �� ����'$ ��� '�����#�����$ 7 ���##� '�$ ��
�� r1 ��� �� 4��#(� �� '���� �� $�� $�2��$ ��$ �� ��''������ ���'� �##����$ �� ��22�$
'�����#�����$ �� 4��#(� '�����$6

,��� �� �� $� �� '�$$� ��'$ ��) ���� ������ ���' �+�2 ��� #��� �� ��$� � ���� 3���� '��
��� �14��� �� �0�$(1��� ��*���$ �� �� ��*���$ #�� ���##� 3���6 ���� #��#������� ���� $�
���$ � ��� ��� �14��� ������ ��� ��� �14��� G 2�$ �� H �$�� ��� ���� �� $�� � 12� #��$ � ��
'�$$� $(1�� #��� ��;� � ��� �14��� �� �0�$(1���6 ���� #��' ������ ���� $� ��� �#�' ;' $��
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���� �� ��;� $ �� ��� �14��� �� �0�$(1��� ����� 3�� ���� �:�� ��$ �� 3��2��$ ���''������
�� '���$��'$ �� �� ��'��� �� ;�� � ��� ���##���$ ���4�6 ,��� $��$� '�$$� ��'$ ��) ���� ����
#��'����� ���� �� '���� ��� '(�B��� �� ����'$ ��� �� ���2��) '���$ 7 � �� 3��7 '(�3�� �$�#�)
�� 2� ������ (0#�$(1�� ��$ �##� 3���6

#���� /������
�
	 ��� ������ �� ��	
����

��$��� ���� �� #��2 �� $�2#� 3�� ��� �14��� �� �0�$(1�� ���$ ����� 2<2� ��� �14���
G �$������ H) �� '� ���� 3�� ��� (0#�$(1��� �2 ��� ��$ �� 2<2� ���2� 3�� '���� #��*��$ <$��
�2 ��� #�� �� 2#��$� 3����� ��$�� �14��6 �� #��$ '�� ��) ����� ���$ '���$ $���� ���� �� 3��
��0�� �� '��$��'$ ��) �$ ���� �� 3�� �02���� �� ���$ �6 
� ����$ ���' #�� #��� ��� ���$ � ���
'� ���2�� �2� #��� ��;� � ��� �14��� '�#����� �� '��$��'$�� #��� ���� #��$ �� � 8����$�� ��
4��#(�) �� ��'��� �� 2�� ;�� ��� �02����� �� #��� ���� ��22�$� �� '� ���� ��6 � �� ) ���
'(�B�� �� ����'$ �� r = h1 · · ·hn #����� <$�� ���� $� �� ��� (0#�$(1�� �� �0�$(1�� � �$
�����2��$ � ��� �8�$ E(r)) $�� 3�� ��;� ���� �� #��$ � #��'����$�) ��$ ���� $ 7 �� � �4��$��6
���� ���� #��#����� ���� �� #��2 �� $�2#� ����$�� � ��� 2� ������ '���'$�� ��$ �� ���
'(�B��� #��*��$ <$�� ���� $��6

�� $ r = h1 · · ·hn ��� '(�B�� �� ����'$ ��6 �� $ ����� h ����� ��� (0#�$(1��� �� '�$$�
'(�B��6 ���� ������ ���##� '�$ �� 9

ιr:

( {h1, . . . , hn} → P({h1, . . . hn})
h 	→ {hi, i ∈ [[1, n]] : κ(hi) ∩ κ(h) �= ∅}

3� 7 ��� (0#�$(1�� h ����' � ������2��� ��� (0#�$(1��� �� �� '(�B�� 3� ���$  �'�2#�$ ����
�*�' h6 
� ��$�$ �� κ(h) �� $  ' �������'� �� ��0�� �� '��$��'$ �� ��;� '�22� ���� ��
#��$ � #��'����$�) '���$ 7 � �� '�22� �� � �$� ��� ��4 ��� '��$��'$��� #�� ��(0#�$(1�� h6

�� #��$ ����� �$����� ιr �� ��� �##� '�$ �� ῑr ��;� � ��� �� ����2��� ��(0#�$(1��� ��
#����$ ῑr(H) =

⋃
h∈H ιr(h)6 ���� #��*��� ����� ��;� � ιkr ) �� '�2#���� k	 12� �� ιr) ��

#����$ 9
M ι0r = Idr ��$ �� ���$ $� ��� ������2��� ��� (0#�$(1��� #�����$�� ���� �� '(�B�� r)
M ι1r = ιr ��$ ���##� '�$ �� 3� ����' � 7 ��� (0#�$(1�� $��$�� ��� (0#�$(1���  �'�2#�	

$ ���� �� �� '(�B�� �� ����'$ �� r)
M �$ ιk+1

r = ῑr ◦ιkr ) #��� k � 1) ��$ ���##� '�$ �� 3� ����' � 7 ��� (0#�$(1�� h ������2���
��� (0#�$(1��� h′ G  �'�2#�$ ���� 7 � �$��'� k + 1 H �*�' h) '���$ 7 � �� $����� 3�� �
�+ �$� ��� ��3���'� ��(0#�$(1��� h = hp1) hp2 ) 6 6 6) hpk+2

= h′) �E #��� $��$ i) hpi
�$

hpi+1
���$  �'�2#�$ ����6

��$��� 3�� #��� $��$� (0#�$(1�� h) �� � h ∈ ιr(h)) �$ #�� '����3���$ H ⊂ ῑr(H)6 ��
�� ���� $ 3��) #��� ��� $��$� (0#�$(1�� h) �� �� $� (ιkr(h))k∈N ��$ '�� ����$� �� ���� ��
�� �'��� ��6 ,� #���) '�$$� �� $� ��$ 2�=���� #�� ������2��� �� $��$�� ��� (0#�$(1��� #�����$��
���� r) '���$ 7 � �� #�� �� ����2��� ;� 6 �� �� ���� $ ���' 3�� �� �� $� �$�$ ����) �$ ����
��$� ι+r (h) �� � 2 $�) 3�� ���� �##���� '�:$���  �'�2#�$ ��� �� h ���� r6 ��$��� 3�� 9

ι+r (h) =
⋃
k∈N

ιkr(h) = lim
k→+∞

ιkr(h) = ιn−1
r (h)
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���� 2��$��� �� ���� 1�� �4�� $�)  � ��N$ �� ��2��3��� 3�� h′ ��$ ���� ιkr(h) � �$ �����2��$
�� � �+ �$� ��� ��3���'� ��(0#�$(1��� #�����$� ���� r) '�22��F��$ #�� h �$ ;� ����$ #��
h′) �� ���4���� k + 1) �$ $���� 3�� ���+ (0#�$(1��� '����'�$ *�� �� ��$  �'�2#�$ ����6
���� ������ ����� �� #��� #�$ $� ��3���'� '�22��F��$ #�� h) ;� ����$ #�� h′ �$ $���� 3��
��� (0#�$(1��� '����'�$ *�� �� ��$  �'�2#�$ ����6 ��$��� hp1 ) 6 6 6) hpl

'�$$� ��3���'�) �E l
��$ �� ���4���� �� '�$$� ��3���'�6 ��##����� 3�� l > n)  � �+ �$� ����� ��'���� ��2��$ i < j
���+  �� '�� $��� 3�� hpi

= hpj
) '��  � ��0 � 3�� n (0#�$(1��� � 8����$�� ���� r6 /� � ��

��3���'� hp1) 6 6 6) hpi
) hpj+1

) 6 6 6) hpl
*�� ;� ��� (0#�$(1��� �$ ��$ �$� '$�2��$ #��� #�$ $� 3�� ��

��3���'�  � $ ���) '� 3� '��$��� $ ��(0#�$(1�� �� 2 � 2�� $�6 ��� '����3���$) �� ���4����
2 � 2��� l ����� ��3���'� *�� ;��$ ��� (0#�$(1��� ��'� $� #��� (��$ ��$ ��'���� ��2��$
 ���� ���� �E �4��� 7 n) '� 3� � 4� ;� 3�� � h′ �##��$ ��$ 7 ιkr(h))  � �##��$ ��$ ���� 7
ιl−1
r (h) �*�' l � n) �$ ���' 7 ιn−1

r (h)6


� #��#� �$� �� *��$� ���� #��2�$ ����� �� '���'$�� ��� ��� '(�B��� #��*��$ <$�� ���� $��
�� ��� (0#�$(1�� �� �0�$(1�� 9

��
��
��� #  ��� r = h1 · · ·hn ��� 
)�6�� �� ����
���� ���� ������ !	��� ��� �:�� E(r)
��� ������ * �� ����	���� �� �� ���	�
��� 	� 
	<���� ��
�
�����	� �� 	���� ��� )����)���� ���
���	� * 	�����
�	� ��� )����)���� �� r� +����� �� �	�� $�� �� 	� 
	<���� ��
�
�����	� ��
	���� ��� )����)���� ��� ���	� * 	�����
�	� ��� )����)���� �� r� 
�	� ��� ���� ���� ������ 	��
)����)���� �� r� �����
��� ��� "

E(r) ��� �� ����	����⇐⇒ ∃i, ι+r (hi) = H(r)⇐⇒ ∀i, ι+r (hi) = H(r)

��. H(r) ���������� 	�����
�	� ��� )����)���� $�� ������������ ���� r�

)��
����	�

� � /��$���� ������� 3�� ∃i, ι+r (hi) = H(r) ⇔ ∀i, ι+r (hi) = H(r)6 ��##�	
���� ���' ���+ �$��'� �� hi $���� 3�� ι+r (hi) = H(r)6 �� $ 2� �$����$ j 3���'��3�� ����
[[1, n]]) �� � #�� ��;� $ �� hj ∈ H(r)) ���' hj ∈ ι+r (hi)6 
� �+ �$� ���' ��� ��3���'� ��(0	
#�$(1��� �� H(r)  �'�2#�$ ���� �� #��'(� �� #��'(� �� hi 7 hj 6 �� � ���$ '�$$� ��3���'�
G 7 ����*��� H)  � �+ �$� ���' ��� ��3���'� ��(0#�$(1��� �� H(r) �� hj 7 hi  �'�2#�	
$ ���� �� #��'(� �� #��'(�6 �� $ ����� h ��� (0#�$(1�� 3���'��3�� �� H(r)) �����  � �+ �$�
��� ��3���'� ��(0#�$(1��� �� H(r)  �'�2#�$ ���� �� #��'(� �� #��'(� �� hi 7 h �'��
h ∈ ι+r (hi) = H(r)6 �� '��'�$����$ '�� ���+ ��3���'��) ���� �*��� ���' ��� ��3���'� ��
hj 7 h *�� ;��$ ��� #��#� �$� ��3� ���) '���$ 7 � �� 3�� h ∈ ι+r (hj)6 ��' �$��$ *�� #��� $��$
h ∈ H(r)) �� �� ���� $ 3�� ι+r (hj) ⊃ H(r)) 2� � '�22� ι+r (hj) ⊂ H(r) #�� ��;� $ ��) ��
� � �� ι+r (hj) = H(r) #��� $��$ j ���� [[1, n]]6 
� ��' #��3�� ��$ $� * ���) '�� �� '(�B�� ��$
��� * ��6

/��$���� 2� �$����$ 3�� E(r) ��$ �� � �4��$�� ⇔ ∃i, ι+r (hi) = H(r)6 �� $ hi $�� 3��
ι+r (hi) = H(r)) �$ ��##����� #�� ��������� 3�� E(r) '��$ ���� �� 2� �� ���+ ��0��+ ��
'��$��'$ ���6 �� $ s1 �$ s2 ���+ ��22�$� #� � ���� '(�'�� �� '�� ���+ ��0��+ �� '��$��'	
$ ��) �$ hs1 �$ hs2 ���+ (0#�$(1��� ��2�$$��$ s1 �$ s2 ���� ����� ��0��+ �� '��$��'$ ��6
�� � ����� hs2 ∈ H(r) = ι+r (hs1)) ���'  � �+ �$� ��� ��3���'� ��(0#�$(1��� hs1 = h′1) 6 6 6)
h′k = hs2  �'�2#�$ ���� �� #��'(� �� #��'(�6 ���� $��$ p ∈ [[1, k − 1]]) ���� �*��� h′p �$ h′p+1
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 �'�2#�$ ����) ���' �� #��$ $���*�� �� ��22�$ s′p #�����$ ���� ��� ��0��+ �� '��$��'$ ��
�� h′p �$ h′p+16 �� �#�1� �##� '�$ �� ����� (0#�$(1��) ������2��� ��� ��22�$� ���� ��0��
�� '��$��'$ �� �� ��$���*��$ '��$��'$�� ���� �� 2<2� ��22�$ ;���) ���' ���##� '�$ �� ��
��(0#�$(1�� h′p '��$��'$� s′p−1 �$ s′p ���� �� 2<2� ��22�$) #��� $��$ p ���� [[1, k]] ���
#����$ s′0 = s1 �$ s′p = s2!6 �� �� ���� $ ���' 3�� s1 �$ s2 ���$ '��$��'$�� �� �� 2<2�
��22�$ #�� �� '(�B�� �� ����'$ ��) '� 3� '��$��� $ ���� �##��$����'� 7 ���+ ��0��+ � �	
$ �'$�6 �� �� ���� $ ���' 3�� E(r) �� '��$ ��$ 3���� ��0�� �� '��$��'$ �� �$ ��$ ���'
���� $ 7 �� � �4��$��6

��;�) #��� 2��$��� �� ��' #��3��) �� ������� #�� ��'�����'� ��� �� ���4���� �� ��
'(�B�� �� ����'$ �� '��� �����6 ���� ��� '(�B�� �� '��$����$ 3����� ����� (0#�$(1��) ��
�����$�$ ��$ $� * ��6 ���� ������ ���' ��� '(�B�� �� ���4���� n) �$ ��##����� �� �����$�$
*�� #��� $��$� '(�B�� �� ���4���� �$� '$�2��$  ���� ���� 7 n6 ��##����� 3�� � �+ �$� ��
hi $�� 3�� ι+r (hi) �= H(r)6 
� ���� ���$ 2��$��� 3�� ���� '�� '��� $ ���) E(r) ����$ #��
���� $ 7 �� � �4��$��6 ���� ������ ����� �� '(�B�� �� ����'$ �� r′) ��$���� �� ��##� 2��$
�� r $��$�� ��� (0#�$(1��� ���##��$����$ #�� 7 ι+r (hi)6 
� '(�B�� r′ �$��$ �$� '$�2��$ #���
#�$ $� 3�� r) �� #��#� �$� ��$ *�� � #��� r′) #�� (0#�$(1�� �� ��'�����'�6 ����� E(r′) ��$
��'���� ��2��$ ���� $ 7 �� � �4��$��6 �� �8�$) � '��� ���$� $ #�� �� '��) ���� ��� ���
ι+r (hi) = ι+r′(hi) �= H(r′)) '� 3� '��$��� $ �� ��;� $ �� �� r′6 /� � � E(r′) ��$ �� � �4��$��)
����� #�� '���$��'$ �� E(r) �� #��$ <$�� �� � �4��$�� 3�� � �� 2� �� ����� ��� (0#�$(1���
h �� H(r) \ ι+r (hi) ��$  �'�2#�$ ��� �*�' ��� (0#�$(1�� �� H(r′) = ι+r′(hi)6 /� � ���� '�
'��) �� � h ∈ ι+r (hi)) '� 3� '��$��� $ �� ��;� $ �� �� h) ���E �� �����$�$6


� ��$ ���' #��� ��� �� '���'$�� ��� ��� '(�B��� 3� #������$ <$�� ���� $�� �� ��� (0	
#�$(1�� �� �0�$(1�� �� '��'����$ ι+r (h)) #��� ��� (0#�$(1�� h 3���'��3�� �� �� '(�B��
'��� �����) �$ �� $��$��$ � $��$�� ��� (0#�$(1��� �� �� '(�B�� �� ���$ #��$ �6 &�� 2�$(���
� 2#�� #��� �� �� '��� '��� �$� 7 $��'�� �� ����)� ����
�
������	���� �� �� '(�B��) '���$ 7 � ��
�� 4��#(� ���$ ��� ��22�$� ���$ ��� (0#�$(1��� #�����$�� ���� �� '(�B��) �$ $�� 3�� � �+ �$�
��� ��<$� ��$�� ���+ ��22�$� h �$ h′ � �$ �����2��$ � h �$ h′ ���$  �'�2#�$ ����) #� � 7
$��$�� �� '����+ $� �� '� 4��#(� ��� �8�$) ι+r (h) ����$ ��$�� 3�� �� '�2#����$� '����+� ��
h ���� �� 4��#(� �� �'�2#�$ � � $��!6

���� �*��� *� '�22��$ '���'$�� ��� ��� '(�B��� ���'�#$ ���� ��<$�� ���� $�� �� ���
(0#�$(1�� �� �0�$(1��6 
� ��$ $��$��� � ���� ��'���� �� �� ��$��2 ��� ��� '��� $ ��� ���#	
#� '�$ �� �� �� �14�� �� �0�$(1��6 �� �8�$) �� � ��$ #��� ��� �� ��;� � ��� �14��� �� �0�$(1��
'�22� ���##� 3���$ 7 �� 4��#(�  ��2��#(� �� 4��#(� ��� ��3��� �� '(�B��  � $ ��� ���#	
#� 3��)  � ���4 $ �7 ����� '��$�� �$� $��# ���$� #��� #��2�$$�� ��� 3���'��3�� 4������ ��$ ��6

�� �14��� �$������ �� $��*� ����$ 3�� ��'���2��$ �� *� � ��4� �� ��22�$ ��� ��3��� �����
���##� 3���$)  � ��$ ��$���� �� #��#���� �� 2<2� $0#� �� ���'$ ����2��$ #��� ��� �14��� ��
�0�$(1��6 ��22� ���� ���*��� �����'� #��� (��$) ��� �14�� �� �0�$(1�� �� $ ���##� 3���
����3�� �� 4��#(� ��$ $�� 3�� '(�'��� ��� (0#�$(1��� '���$ $���$ �� '(�B�� �� ����'$ �� 7
���� �� #� ��� <$�� �2 ��) �$ 3�� '�� (0#�$(1��� ���2#��$��$ ��� ��� ��$��� (0#�$(1��� ����
�� �� ����'$ ��6
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���� 56> M ���J $ ��$�� ��� '(�B�� h1 · · ·h6 �$ ��� (0#�$(1�� h′′′  ���� �� ���##� '�$ ��
��(0#�$(1��� 7 � �$��'� � ' h′ �$ h′′!6 
� #����12� �##���B$ ����3�� �� #� �� �� h′′′ ��$
��#�� ��� 7 '��� �� h4) �$ 3�� h′ �$ h′′ ��$ �$� �##� 3���� �#�1� h1 9 h′′′ ����$ ���' #��
��$�'$���� ����3�� h1 ��$ �##� 3���

�� #��� 4�������2��$ #�� �� #����12�) �� 2� �� ����3�� �� ��4 �� �� 4��#(� G �+�2 ��� H
#�� �� �14�� ��$ ��'��� �$ ;+��) ���� �� ���� �E ���� �� ��#��� #�� �� #���21$��� � ����������
'�22� ��� �02����� #�����$� ���� '��$� �� ��22�$�) '� 3� ��$ �� '�� �*�' ��� �14��� 3��
���� �*��� #�����$���) 3�� '� �� ��$ ��� �14��� 2�$ �� �� ��� �14��� ���2��$� ���6 �� $ r =
h1 · · ·hn ��� '(�B�� �� ����'$ ��) �$ ��$��� Ri �� �14�� 7 ���� 4 �� �� ��(0#�$(1�� hi ���
#��$ �*��$�����2��$ �*� � Ri = Rj #��� '��$� �� i �= j!6 
� ��N$ ����� �� '��� �����)
#��� '(�3�� (0#�$(1�� hi) �� ����	4��#(� Gi �� 4��#(�  2�4� �+�2 �� #�� �� �14�� Ri6

� 4��#(� �+�2 �� #�� �� �14�� �� �0�$(1�� ���� ����� �+�'$�2��$ �� ����	4��#(� G′ ��
4��#(�  2�4�) ��$��� �� ���� ����$ $��� ��� Gi) '���$ 7 � �� �� 4��#(� ���$ ������2��� ���
��22�$� ����#6 ��<$��! ��$ �� ���� �� ��� ����2���� ��� ��22�$� ����#6 ��<$��! �� '(�'��
��� Gi6 ���� #��*� � �##� 3��� �� �14�� �� �0�$(1��)  � ��N�� ���' �� $���*�� ���� �� 4��#(�
 2�4� '��� ���� �� ����	4��#(�  ��2��#(� �� 4��#(� G′ � �� ��;� ) �$ ���$ ��� �02�����
�$ 3��$��$ '(�3�� ��22�$ '�����#�����$ ��+ �02����� �$ 3��$��$ ��� ��22�$� �� G′6


� ��$ �� ��*��'(� #��� ��� '�$ �� ��$�'$�� ���+ �$��'� ��(0#�$(1��� ��$���$ �� '��J $ �*�'
��� (0#�$(1�� �� �0�$(1��6 �� �� $)  � ����$ �� 4������ #�� #��� ��� �� ��$�'$�� $��� ��� '��
�� '��J $ �� �� '��$��$��$ ���8�'$��� ��� ����0�� �� 3��2��$ ��'���6 �� �8�$) �� #�����'�
����� (0#�$(1�� ���##� 3���$ 7 ��� � �$��'� 3���'��3�� ��� ��22�$� ��� ���3���� ���##� 3��
��� (0#�$(1�� �� �0�$(1�� #��$) #�� �� �8�$ ��2 ��)  �$����2#�� ���+�'�$ �� �� �� '(�B��
�� ����'$ �� '�����#�����$ 7 ��(0#�$(1�� �� �0�$(1��6 ,��� ��� $���� � $��$ ��) ���##� '�$ ��
�� ��(0#�$(1�� �� �0�$(1�� �� #���� $ #�� �� 2<2� �����$�$ 3�� ���##� '�$ �� ��� 7 ���
��� (0#�$(1��� �� �� '(�B�� �� ����'$ ��6 
� ;4��� 56>  ����$�� '� #����12� 9 � �� '(�B��
h1 · · ·h6 � �$� ���� $� �� ��� (0#�$(1�� �� �0�$(1�� h) '�$$� ���� 1�� �� #��$ ���##� 3��� � 
h′′′ ���2#��$� ��� h4) 2� � h′′′ ����$ �2 �� ��$ ���' '�����! 3���#�1� ���##� '�$ �� ��''��� *�
�� h′ �$ �� h′′6 &�� ����$ �� 7 '� #����12� '��� �$� ����� 7 ������ 7 ��(0#�$(1�� �� �0�$(1��
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���� 56� M ���J $ ��$�� ��� '(�B�� �$ ��� (0#�$(1�� h′  ���� �� ���##� '�$ �� ����� ���
(0#�$(1��� �� �� '(�B�� 9 �#�1� ���##� '�$ �� �� h0) ��(0#�$(1�� h′ ��$ �2 �� �$ ��$ �� '��J $
�*�' ��(0#�$(1�� �� *��$� �� �� '(�B��

�� #� �� �4�� �� 2 � 2�2 ��� #� �� ��� (0#�$(1��� �� �� '(�B�� ���� $�) �� ���$� 3������
�� #� ��� <$�� �+�'�$�� 3�� � $��$�� ��� (0#�$(1��� �� �� '(�B�� ���� $� ���$ 2� ������� 3��
$��$�� ��� ��$��� (0#�$(1��� �� �� ) ���� ���+�2#�� �� �� ;4��� 56>) ����3�� ��(0#�$(1�� ��
�0�$(1�� ��$ �##� 3���) h1) h2) h3 �$ h4 ���2#��$��$ $��� ��� h′) �� ���$� 3�� h′′ �$ h′′′ ��
#� ����$ <$�� �2 ��� �*��$ ���##� '�$ �� �� h4!6

&�� $���� �##��'(� ���8�� $��$��� � 3�� ��� �*��$�4�� ����$ *�2��$ � 2 $��6 �� �8�$) ���
�14��� �� �0�$(1��� � �� ��;� �� �� #���� ���$ 3�� ��� (0#�$(1��� �� �� ��� #� ��) �$ '��
���� 1��� �����$ ���' #�� ���*��$ �$ � ����6 &�� ��$�� �##��'(� '��� �$� 7 $�� � '�2#$�
�� �� � �$��'� 7 ��3����� �� $���*� ��� (0#�$(1�� ���'�#$ ��� �� #��$����� ���##� '�$ �� ��
�� '(�B��) � �� 3�� �� �� #�� $ �� ���� �� '(�B�� �E '�$$� #��$����$ �� � �3�� ���*� � � ��6
� �� ) 2<2� �� � �+ �$� ��� (0#�$(1�� h �� #� �� #��� ���*� 3�� ����� ��� (0#�$(1��� �� ��
'(�B��) '�$$� ���� 1�� ���������� ���##� '�$ �� �� ��(0#�$(1�� �� �0�$(1�� 3�� � �� � �$��'�
#�� ��##��$ ��+ ��22�$�  2#� 3��� ���� ��(0#�$(1�� �� �0�$(1�� ��$ ��N��22��$ �� ���)
��� � �3��� �� #��$����$ �� #�� �8�$ ��2 �� �$��$ ����$��$ #��� �� ��� 3�� ��(0#�$(1�� h ��$
7 4����� � �$��'�6 ,� #���) '�$$� ������$ �� ���� #��� �� '(��'�� ���*� � � �� � ��(0#�$(1��
�� �� '(�B�� ���$ �� #� �� ��$  ���� ��� 7 '��� �� ��(0#�$(1�� h �##���B$ $:$ ���� �� '(�B��6

�� �� #��#��� ���' ���$$� ���� 7 ��(0#�$(1�� �� �0�$(1�� �� #� �� �4�� ��� �� $ ��41��	
2��$ ��#�� ���! 7 �� #��2 1�� (0#�$(1�� �� �� '(�B��) #� � �� '��'���� ��� ��$ 2�$ �� ��
� �3�� 3� ) � ���� ��#���� �� '��$� � ��� �) ���3���� ���##� '�$ �� �� ��(0#�$(1�� �� �0�$(1��6
��22� ��$ 2�$ �� �� � �3�� R(h) '���� #�� ��� (0#�$(1�� h 3���'��3��) ���� #��#�����
���$ � ��� 9

R(h) =
w(h)

|H<h(r)|
∑

h′∈H<h(r)

1

d(h, h′) · pr(h′) · w(h′)

�E H<h(r) ��$ ������2��� ��� (0#�$(1��� �� �� '(�B�� ���$ �� #� �� ��$  ���� ��� 7 '��� ��
h) w(h) ��$ �� #� �� �� h) d(h, h′) ��$ �� � �$��'� ���� �� 4��#(�  2�4� ��$�� ��� ��22�$�
��� ��0��+ �� '��$��'$ �� �� h �$ h′) �$ pr(h

′) ��$ �� #�� $ �� �� h′ ���� �� '(�B�� r6

���$ 2�$ �� �� � �3�� R ��$ ����� ��;� '�22� �$��$ �� 2�+ 2�2 ��� ��$ 2�$ ��� R(h)
#��� $��$�� ��� (0#�$(1��� h #�����$�� �� 2�2��$ �E ���� $��$� ���##� 3��� ��(0#�$(1�� ��
�0�$(1��6
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���� 56@ M &$ � ��$ �� �� ���+ �14��� �� �0�$(1��� #��� $�� $�� �� '��J $ 9 � h′ � �� #� ��
��#�� ��� 7 '��� �� h) ��(0#�$(1�� �� �0�$(1�� s′ ��*�� �*� � �� #� �� ��#�� ���� 7 '��� 
�� s ��$ * '�	*����!6

�� #��� ��� '��J $� 4�����+) � �� 7 �� #�����'� ��(0#�$(1��� ���'�#$ ���� ��<$�� �##� 	
3���� #�����$ ���+�'�$ �� �� �� '(�B�� ���� $� �$ �� #��$����� �� ;� �� ��� �+�'�$ ��)
'�22� ���� ���*��� *� #��� (��$)  � �+ �$� ���� ��� '��J $� ��'��+) �T� 7 ���##�� $ �� ��
���*����� (0#�$(1��� �#�1� ���##� '�$ �� �� '��$� ��� (0#�$(1��� �� �� '(�B�� ���� $�6 
7
��'���) '�� (0#�$(1��� ���$ ���'�#$ ���� �� ���2#��$�� ��� ��� ���� 1��� (0#�$(1��� �� ��
'(�B�� ���� $�) �$ ���' �� �*�� ��� ���+�'�$ �� �� ��� ����� �$�#� �� ��(0#�$(1�� �� �0�$(1��
'�����#�����$ 7 '�$$� '(�B�� ���� $�6 
� ;4��� 56�  ����$�� �� #����12� 9 �#�1� ���+�'�$ ��
�� h0) ��(0#�$(1�� h′ �� $ '��J $ �*�' ��(0#�$(1�� �� *��$� �� �� '(�B�� �(0#�$(1�� h!6 � 
�� #� �� �� h′ ��$ ��#�� ��� 7 '��� �� h) �� '(�B�� �� #��$ <$�� ��$ 1��2��$ �+�'�$��) �$
���' ��(0#�$(1�� �� �0�$(1�� �� #��$ ���##� 3��� � ���� �� ���(� $� #�� 2�� ;�� �� �����$�$
�� �� '���$��'$ ��6 
� ��$ ���' ��'���� �� �� ��$�'$�� '�� '��;4���$ ��� �� ��F�� 7 �� #��
�##� 3��� ��(0#�$(1�� �� �0�$(1�� ����3������� �� #�����$��$6

���� #��#����� $�� � �##��'(�� #��� ���� #��� 4���� '�� � $��$ ���6 
� #��2 1�� '��� �$�
7 �� #�� �##� 3��� �� $�� $�2��$ #��$ '�� �� #��� #������ �� '(��4� '�� '��J $�6 �� � ��
�� '���) ��� (0#�$(1��� �� �0�$(1�� ���$ �2 ��� #��� ��� ���+ ����'$ ��� #��� ����) �$
�� 2� ������ ��$ '(� � � ���� �� �� #(��� �� ����'$ ��6 ���� � 4� ;� ���' 3�� �� #� �� ��
'�� (0#�$(1��� �� �0�$(1�� �� $ <$�� '(� � �� $���� ���$� 3�� '���� �� #� �� �� #��� ���*�
'�����#���� �� '(�2 � '����'$6 
� ;4��� 56@ #�����$� �� �+�2#�� ���� �� 2<2� � $��$ ��
3�� ��� �� ;4��� 56�6 ,��� '�$$� � $��$ ��) ��� #� �� �� s �$ s′ �� *��$ ��J�$�� ��� *������
����$ *�� �� '��+ �� h �$ �� h′6 ,���� 2�� 1�� 4�������) ����3�� ���+ (0#�$(1��� �� �0�$(1��
���##� 3���$ ��� �� 2<2� 4��#(�) ��� '(�B��� �� ����'$ �� '�����#�����$�� ���$ '�2#�����)
�� ��F�� 7 $���*�� �� #��2 1�� (0#�$(1�� �� ����'$ �� 3� � 81�� ���� ��� ���+ '(�B���6 ��
��$��$ h1 �$ h2 '�$$� (0#�$(1�� ���� ��� ���+ '(�B���) �$ �� ��##����$ #�� �+�2#�� 3�� ��
#� �� �� h2 ��$ ��#�� ��� 7 '��� �� h1) ��� #� �� w1 �$ w2 ��� ���+ (0#�$(1��� �� �0�$(1��
���$ 2�� ;�� �� �� ��F�� �� *��$� 9

w′
1 = min(w1, w2)

w′
2 = w2 + ε

��E ε ��$ ��� '���$��$� #�� $ *� 2� � #��'(� �� �) �� ��F�� 7 ��������� ���*� � w′
2 > w′

1!
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��$$� �##��'(� ��$ �� #��� J�+ ���) ���� �� 2����� �E ���� �� ���$�� �$ #�� ���##� '�$ ��
��� �14��� �� �0�$(1��) 2� � ����$ #�� $��=���� �+�'$� 9 $��$ �������)  � ���$ 3����� �14�� ��
�0�$(1�� � $ �$� ��;� � #��� ������2��� ��� � $��$ ��� ��$���$ �� '��J $) �� ���$� 3�����
� $��$ �� ���*���� �� #����� #�� <$�� '����'$�2��$ $�� $��6 ,� #���)  � ����$ #�� $��=����
#��� ��� �� ��;� � ��� �14�� �� �0�$(1�� #��� '��$� ��� � $��$ ���) ��$�22��$ ����3�� ��
'(�B�� �� ����'$ �� '�����#�����$� ����$ #�� ����'$ ��� �'���$ 7 � �� ����3�� #��� ����� ���
(0#�$(1��� h �� �� '(�B�� �� ����'$ �� r '�����#�����$�) �� � ι+r (h) �= H(r)!6

&�� ��'���� �##��'(� '��� �$� 7  �( ��� ���'$ *�$ �� ����� �14�� �� �0�$(1�� ����3��
'��$� �� 2�$ �� ��'��+ ���$ �����*�� ���� �� 4��#(�6 
7 ��'���) ��� �##� '�$ ��� ���� *��
�� �14��� �� �0�$(1�� �� #��*��$ <$�� #��*����� 3�� ���� ��� � $��$ ��� ��=7 '������)
#��� ���3���� ��� 2�$ ��  �( � $���� �����$ �$� ��;� �6 � �� ) '�22� '��$� $ �� '�� #���
�� #��2 1�� �##��'(�) ��� (0#�$(1��� �� �0�$(1�� ���$ ��*�� ���� �$ #��*��$ ���##� 3���
����� 3�� �� '(�B�� �� ����'$ �� '�����#�����$� ������ $ #�� �$� ��$ 1��2��$ �##� '����6
�� ��*��'(�) �$ '��$�� ��2��$ 7 �� #��2 1�� �##��'(�)  � ��$ #��� ��� �� ��;� � ��� 2�$ ��
�� �( � $ �� #��� $��� ��� '�� �� '��J $� ��$�'$��) �$ ���' �� $�� $�� $��� ��� '�� �� '��J $�
#���*� 3�� �� � ��$ �$� ��$�'$��6 �� '��$��#��$ �)  � ��$ ��'���� �� �� �$���� �� '�$$� ��$ ��
�� 2�$ � �� �( � $ ��) �$ ���' �� '�2#��+ ;�� �� ��;� $ �� ��� �14��� �� �0�$(1��6

��;�) ��� ���� 1�� �##��'(� '��� �$� 7 ���2�$$�� ��(0#�$(1�� �� �0�$(1�� 3�� � ��
4��#(�  2�4� ��$ ��'���2��$ G �$� '$�2��$  ���$ 3�� H �� 4��#(� 7 #��$ � ��3��� ��(0#�$(1��
�� �0�$(1�� � �$� ��;� �6 � �� ) �� L��� �+#����� �� 4��#(� #�� �� �14�� �� �0�$(1�� ��
$���*� �$����� 9 �� #��� �� '��$�� � '(�'��� ��� L���� �+#������ #�� ��� � 8����$�� �14���
7 ���� 4 �� ��� (0#�$(1��� �� �� '(�B�� �� ����'$ �� ���� $�)  � ���$ ���� '��� ����� ��
*� � ��4� ��� ��22�$� �� ��0�� �� '��$��'$ �� �;+��) �$ '�����#�����$ 7 �� � �$��'�
�������*�$ �� 2�+ 2��� ��� ������2��� ��� �14���!6 ,� #���) ���##�� �2��$ ��$�� �� 4��#(�
 2�4� �$ �� 4��#(� 2�$ � �� $ <$�� �+�'$ ��� ���� �� �� 4��#(�  2�4� �� #��$ �*� � ����<$�
��##��2��$� �� #�� ��##��$ �� 4��#(� 2�$ �!) ���� �*��$�����2��$ ��� ��� G ����� H ��
4��#(� 2�$ �6 ��$$� �##��'(� #��2�$ �� ��������� 3����'��� (0#�$(1�� �� �0�$(1�� �� ����
�2 �� �� '�� �� '��J $) �$ ���' �� 4����$ � �������'� ��������� �� ����'$ ��6 �� ��*��'(�)
��� '��� $ ��� ���2 �� �� ��(0#�$(1��� �� �0�$(1�� ���$ ����� #��� �$� '$��) �� ���$� 3�� ����
�2 �� �� ��* ��$ 2� �� ���3���$��) 2<2� ���� ��� '�� �E ���� �$ � ��$ �� ���� $ �$� � ' $�6
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���� #�����$���  ' '�22��$ ��;� � ��� �14��� �� �0�$(1�� 7 ��� �� ��� �14��� 2�$ �� #��	
���$��� ���� �� $�� � 12� '(�# $�� �� '�$$� $(1��6 "�##����� ��# ��2��$ 3����� �14�� 2�$ �
��$ �����$ ����2��$ '�2#���� ����� '��;4���$ �� 3� ��$ ����	2<2� �� 4��#(� '����+�)
�$ ���� �$ 3��$�4� ��� ��22�$� �� '�$$� '��;4���$ ��6 ,� #���)  � �� ��$ ���� ����' � ��
����	4��#(� '����+� �� �� '��;4���$ �� ���0�� �� '��$��'$ ��!) �$ �� �02���� ��02���� ��
���$ �!6 
��##� '�$ �� ����� �14�� 2�$ � �� �� $ �� $���*��$ �� �##�� �2��$ ��$�� �� '��;4�	
��$ �� �$ �� 4��#(�  2�4� 3� ���#�'$� ��� �02����� ����' �� ��+ ��22�$� ��� ���+ 4��#(��6
� �� $�� �##�� �2��$ ��$ $���*�) ��� (0#�$(1�� ��$ �2 ��) ��� ��0�� �� '��$��'$ �� �$��$
�� ����	4��#(� �� 4��#(�  2�4� �##�� � �� ����	4��#(� ����' � 7 �� '��;4���$ ��) �$ ��
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�02���� �� ���$ � ��$ '��� ����' � 7 �� �14��6
���� ��;� � ��� �14�� �� �0�$(1�� ���� �� ���2� ����� �14�� 2�$ �)  � ��N$ ���' ��

#������ '�22� '��;4���$ �� �� ����	4��#(� �+#���� #�� �� �14�� �� �0�$(1��6 �� $ c =
h1 · · ·hn ��� '(�B�� �� ����'$ �� ��� �� 4��#(� G6 ��$��� R1) 6 6 6) Rn ��� �14��� �0��$
�2 � h1) 6 6 6) hn) �$ G1) 6 6 6) Gn ��� ����	4��#(�� �� 4��#(�  2�4� 3� ��$ �$� �##�� �� ��+
'��;4���$ ��� ��� Ri ���� �� ���2 �� �� �� hi6 ���� �*��� *� 3����� �14�� �� �0�$(1��
��*� $ �+#����� ������2��� ��� ��22�$� �$ ��<$�� �+#������ #�� ��� � 8����$�� �14���) ��
���$� 3�� �� '��;4���$ �� �� ��;� $ ��$������2��$ �� #�����$ �� ���� �� ��� 4��#(�� Gi6
,� 2<2�) � ���� ��$� Ki �� ��0�� �� '��$��'$ �� ����� ���2� �� 4��#(�! �� ��(0#�$(1�� hi)
����� Ki ��$ �� ���� 4��#(� �� Gi6 
� ��0�� �� '��$��'$ �� #��� �� �14�� �� �0�$(1�� ����
����� �� ���� �� ��� � 8����$� Ki) 3� ��$ � �� �� ����	4��#(� �� �� '��;4���$ �� �� '�$$�
�14��6 ��;�) �� �02���� �� ���$ � ��$ �� 2<2� 3�� '��� #���� $ #�� �� ���� 1�� (0#�$(1��
�� �� '(�B��) �$ ��� �02����� ����' �� ��+ � 8����$� ��22�$� �� �� '��;4���$ �� ���$ '��+
����' �� ��+ ��22�$� ��� 4��#(�� Gi6

��$$� ��;� $ �� ����$ $��$��� � *������ 3�� � ���� �$ � �� �� #��2 1�� �##��'(� #��� ��
$�� $�2��$ ��� '��J $� ��'��+) ��'� $ 7 �� ;� �� �� ��'$ �� #��'����$�6 
� ���+ 12� �##��'(�
��'��� $� �� �8�$ �� #� �� �� '(��4� �� 2�$ ��  �( � $����) ����� 3�� �� $�� � 12� ��'��2�
�� #� �� �� '(��4� �� *� � ��4� ��'�� ��� ��22�$� '��$��'$�� � �� 3���� �##�� �2��$ #���
�$� '$ ��$�� �� '��;4���$ �� �$ �� 4��#(�  2�4�6


���3�� �� ��'���� �##��'(� ��$ �$ � ���)  � ���$ ��;� � �� 2�$ � �� �( � $ �� ����3����
'��J $ �##���B$ �#�1� ���##� '�$ �� ����� #��$ � ��� (0#�$(1��� �� �� '(�B��6 ��##�����
#�� �+�2#�� 3�� ��� (0#�$(1��� h1 7 hk−1 ���##� 3���$) 2� � 3�� hk �� ���##� 3�� #�� '��
��� (0#�$(1�� h′k) �2 �� #�� ��� �14�� R′

k) ��$�� �� '��J $ �*�' hk �$ #���1�� �� #� ��
��#�� ���6 ��$��� G′

k �� 4��#(� �##�� � 7 �� '��;4���$ �� �� R′
k #��� �2�$$�� ��(0#�$(1��

h′k6 "�2��3���� 3�� G′
k #���1�� �� 2� �� �� ��22�$ �� '�22�� �*�' Gk) ���' �*�' ��

���� �� ��� Gi �'���$ 7 � �� �� '��;4���$ �� �� �� �14�� �� �0�$(1��!) '�� h′k ��$ �� '��J $ �*�'
hk6 �� �##���� ����� 2�$ � �� �( � $ �� �� '��#�� (G′

k, ϕ)) �E ϕ ��$ ��� ���'$ �� ����' ��$
7 $��$ ��22�$ �� G′

k �� ��22�$ '�����#�����$ �� �� '��;4���$ �� �� �� �14�� �� �0�$(1��
�� �� �02���� ����' � �� ��22�$ � '� ���� �� ����$ #�� #�����$ ���� �� '��;4���$ ��6


��##� '�$ �� ����� �14�� �� �0�$(1�� #�������$ ��� 2�$ �� �� �( � $ �� �� �� $ �� ���+
$�2#� 9 ���� �� #��2 �� $�2#�) �� �8�'$�� �� �##�� �2��$ ��$�� �� '��;4���$ �� �$ ��
���� 4��#(� �� 4��#(�  2�4�) #� � �� $��$� ���##�� �� �� 4��#(� �� '(�'�� ��� 2�$ ��
�� �( � $ �� �*�' �� 4��#(�  2�4�) �� ���������$ 3�� ��� ��22�$� �� 4��#(� �� �( � $ ��
����' �� 7 �� ��22�$ �� �� '��;4���$ �� ���$ ����' �� �� 2<2� ��22�$ �� 4��#(�  2�4�
3�� '� ���� ��) �$ 3�� '��+ 3� �� ���$ #�� ����' �� 7 �� ��22�$ �� �� '��;4���$ ��
��$ � �� �� �02���� ����� #�� ϕ6 �� � ��$ #��� ��� ���##�� �� ���� ��� 2�$ �� �� �( � $ ��)
���##� '�$ �� �� '���� �� �� �14�� ��$ �������) �$ �� ��$�� �##�� �2��$ �� �� '��;4���$ ��
��$ ��'(��'(�6 � ���) ���##� '�$ �� ��$ ����� �) �$ ��(0#�$(1�� �� �0�$(1�� ��$ �2 ��6

� ���� #���1�� �$ � ��� �� $�� � 12� �##��'(�) ���$ � ��$ �� �� 2�$ �� �� �( � $ �� ����$ #��
��'���� ��6 
� ���$ �� ��*��'(� �$����� �� '��;4���$ �� ��� �14��� �� �0�$(1��6 ���� '���)
�$ �� ��#�����$ ��� ��$�$ ��� #��'����$��) ��$��� K =

⋃
iKi �� ��0�� �� '��$��'$ �� �� ��

�14�� �� �0�$(1�� '��� �����6 �� ��$� ����� Kd �� d	� ��$�$ �� �� K ��;� � '�22� �$��$
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�� ����	4��#(� (N,E) �� 4��#(�  2�4�  ��� $ #�� ��� ��22�$� �� 4��#(� � $��� 7 � �$��'�
 ���� ���� �� �4��� 7 d ���� ��22�$ �� K6 
� '��;4���$ �� �� �� �14�� �� �0�$(1�� ��$ �����
��$���� �� ���� ����$ Kd 7 �� '��;4���$ �� G ������� H �'���$ 7 � �� �� ���� �� ��� Gi!)
#��� ��� *����� �� d ;+��6 ,� #���) $��� ��� ��22�$� �� Kd−1 ���$��� 3�� Kd−1 ⊂ Kd!) 0
'�2#� � '��+ �##��$����$ ���� 7 ���� ��� Gi) ���$ 2��3��� '�22� �$� '$�6


��##� '�$ �� ����� (0#�$(1�� �� �0�$(1�� �� �� $ ����� �� 2�� 1�� '���� 3��) 7 '�' #�1�
3�� ��� ��22�$� 2��3��� '�22� �$� '$� �� *��$ <$�� �##�� �� 7 ��� ��22�$� �� 2<2�
�� $�) �� ���$� 3�� � �� #��$ 0 �*� � ����<$� ��##��2��$� ��  ��� ���� ��22�$ �$� '$ ���� ��
4��#(�  2�4� #�� ��##��$ �� 4��#(� '��;4���$ ��6

#���� $��- �������
�
	� 5 ��������
�
	 �
 *�%�����
�
	

��22� #�����$� #��'���22��$) ���$ � ��$ �� �� �14��� �� �0�$(1�� � ���+ �##� '�$ ���
#� �' #���� 9 #��2�$$�� ���''������ �� '���$��'$ �� �� �8�'$���$ #��� ���� ����'$ ��� ��
��� ����� �$�#�) �� ��'��� ;�� � ��� ���##���$ ���4� �� '����$ ��� �14��� �� �0�$(1�� #���
���'�� '��$� �� '(�2 �� ���� �� 4��#(� �� ����'$ ��� 2<2� �#�1� 2�� ;'�$ �� ��� #� ��
��� �14���6

��� ���+ �##� '�$ ��� ��'��� $��$ '�#�����$ ��� $�� $�2��$� � 8����$�6 ��� �+�2#��)
����3�� ����=�'$ � ��$ ���''������ �� '���$��'$ ��)  � ��$ ���(� $���� ����$�� � �� '�2#��$�	
2��$  ���$ 3�� �*�' �� ���� �$ � ��$ �� ��� �14��� �� �0�$(1�� 9  � ������ ���' '(� � � ���
�##��'(�� #��' ��� #��� �� $�� $�2��$ ��� '��J $� ��'��+ �$ 4�����+6 ,� #���) �� '(��'(��� 7
� 2 $�� �� ���	'�T$ ��4����� #�� �� $�� $�2��$ �� '�� ���*����� �14���) �� ���$� 3�� '� ���� ��
�� ��#���� #�� �� 4� � �##��$� #�� ���##� '�$ �� ��� (0#�$(1��� �� �0�$(1��6 �� ��*��'(�)
���� �� '�� �E ���� ���(� $� ;�� � ��� ���##���$ ���4�) �� ���(� $� ��$�� � �� '�2#��$�2��$
� 8����$ ����3�� ��� �14��� �� �0�$(1��� ���$ �##� 3����) '�� ���� 1��� #��2�$$��$ �� ���'��
'��$� ��� ����'$ ��� ����� 3�� �� '(�B�� �� ����'$ �� '�����#�����$� �� ���##� 3�� #���
�� $� 7 �� '(��4�2��$ ��� #� �� ��� �14���6 �� #�������� ���' �7 �$ � ��� *����$� ��2��$
��� �##��'(�� 2� �� #��' ��� #��� �� $�� $�2��$ ��� '��J $� ��'��+ �$ 4�����+6

,��� �� '�� �� ���''�����$ ��) ���� �� '��� �������� ��� �14��� �� �0�$(1�� 3�� ����3�������
��$ �� ���$�� '(��'�� �� ���##� 3���) �;� ���* $�� �� �*��$��� ���	'�T$ � � 7 ���� $�� $�2��$6
���� '���) �� 2�2�� �� ��� k ���� 1��� �14��� �+�'�$��� �k �$��$ ��� '���$��$� 7 ;+��!) �$
��� �14��� �� �0�$(1�� ���'�#$ ���� �� ���##� 3��� ���$ ���� $�� �� '�$$� ��3���'� �� �14���6


� ��;� $ �� �� ���*����� �14��� �� �0�$(1�� �� �� $ ��� �� 2<2� #� �' #� 9 ����3�����
2<2� ��3���'� �� k �14��� �##���B$ ���3��22��$) ���� $��$��� �� ��;� � ��� �14�� ��
�0�$(1�� ����3�� '�$$� ��3���'� �##���B$6 ���� '���) �� '��� �1�� ��� p (0#�$(1��� �� ��	
��'$ ��� h1) 6 6 6)hp �� *��$�� 7 ���##� 3��� ��E �7 ��'���) p ��$ ��� '���$��$� 7 '(� � � �����
�� $� ��� 2�+ 2��� ��� '(�B��� 3�� ���� ���(� $� '��$��'$��!) �$ ���� '(��'(� �� #��� 4����
#��;+� ����'$ ��� �� h1 · · ·hp6 � '� ���� �� �� �� ���� $ #�� 7 h1) ��� �14�� �� �0�$(1�� ��$
'��� #��� $�� $�� '�$$� ����'$ ��6

��;�) �� 2<2� 3�� ���� #��*��� '���� �� ���*����� �14��� �� �0�$(1�� ����3�����
'��$� �� ��3���'� �� �14��� �##���B$ ���3��22��$) ���� #��*��� ���� ��##� 2�� ��� �14��
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�� �0�$(1�� ����3�� '����	' �'(��� ���3��22��$ ����3�� �� ��3���'� �� �14��� ��##����
���'$ *�� ��$ #�����$�6

,��� �� '�� �� ���##���$ ���4�) ��� �14��� �� �0�$(1�� �����$ �2 ��� ����3���� ��''������
���'� �##����$ ��$ '��� ���� #�� ����4�� $(2� ���##���$ ���4� '�22� �� ��''������ ���'�
����6 
� '(�B�� �� ����'$ �� r = h1 · · ·hn �$ 3��$��$ �� 2� ����� '(�2 � ��$�� �� ��22�$
�� '���� ���� �� 4��#(� �� ����'$ �� �$ ��� ��''������ ���'� ��$ '��� �����6 �� ��'(��'(�
����� ��� ����	'(�B�� ����'$ ��� 2�+ 2��� rmax �� r6 � ����� rmax ����$ #�� ���� $ 7 ���
(0#�$(1��) ��� �14�� �� �0�$(1�� ��$ '��� #��� $�� $�� '�$$� ����'$ ��6 ,� #���) �� #����$
rmax = hi · · ·hj ) ��� ���+ ���� '(�B��� h1 · · ·hi−1 �$ hj+1 · · ·hn #��*��$ <$�� $�� $��� ��'��	
� *�2��$ �� 2�� 1�� 7 ��$�� � ��� 2� ������ ����'$ �� �� �� '(�B��  � $ ��� r) �� ���� �E ��
$� ��� 2 � 2��� ����� '(�B�� �� ����'$ �� �3� *����$� 7 r ��$ #��� #�$ $� ���$��� '�#�����$
3���*�' ��� $���� �##��'(� 4���$����) �� ����'$ �� ����$ #�� $��=���� �#$ 2���!6

��$��� #��� ;� � 3�� �� ��;� $ �� ����� �14�� �� �0�$(1�� ����$ #��� ��� 3�� � ����
��$ '�#���� �� $���*�� ��� '(�B��� ����'$ ���� �� $� ��� G �� �������� H6 ���� � 4� ;� ��
#��$ '�� �� 3�� ��� (0#�$(1��� 3� '���$ $���$ '�� '(�B��� �� *��$ �*� � �� 4���� ��2���
�� �'�2#�$ � � $�� �$ ���' ���##� 3��� ��� ��� ��4 ��� #��'(�� ���� �� 4��#(�6 ��#�����$)
�� ����'$ �� ����� (0#�$(1�� �� $ ��$ #�� '�2#$� �� �� ��4 �� ��� ��3����� ���� ���##� 3��)
���� 0 �	$	 � #�� �� '(��'� 3����� '(�B�� �� ����'$ �� �� �� ��� $� ��� �� $ ����'$ ���6
���� ��42��$�� '�� '(��'��)  � ��$ #��� ��� �� 2�� ;�� �� ����'$ �� �� 2������$ �� #� ��
��� (0#�$(1��� #�� �� � �$��'� ��$�� ��� ��0�� �� '��$��'$ �� �$ '��� �� ��(0#�$(1��
#��'���22��$ �##� 3���) �� ��F�� 7 ��*�� ��� ���##� '�$ �� ��� (0#�$(1��� $��*� ����$ ����
��� L���� ��##��'(��� �*��$ ���##� 3��� '����� $��*� ����$ ���� ��� ��4 ��� #��� ��� 4����6

��;�) � ���� $��$� '�$$� ��'$ �� ���� ���� ��22�� '��'��$��� ��� �� $�� $�2��$ ���
'(�B��� �� ����'$ ��� �� ���2��) '�22� #�� �+�2#�� �� � $��$ �� ���##���$ ���4�) 2� �
��� �� � ��;� ��) ��� �14��� �� �0�$(1�� #��*��$ <$�� �$ � ���� ���� �� �� '���$��'$ �� ��
#0��2 ��� �� 4��#(�� '���$�� $�� '�22� ��'� $ ���� �� $�� � 12� #��$ � �� '� 2�2� ��6
��$��� ����� 3�� �� �����$�$ �� �� '���$��'$ �� #��$ � 8���� �*�' �� �$����'$ �� ��� �14���
�� �0�$(1��) '�� ���� 1��� '�����#�����$ 7 ���##� '�$ �� �� #��� ���� �14��� ��� ��� 2<2�
��4 �� �� �� 2�4� �� ��� ����� �� �) ����� 3�� �� '���$��'$ �� '���� 3�� �� #��2�$ 7 '(�3��
� *��� �� ���##� 3��� 3�� ��� �14��� ���##� 3���$ ��� ��� ��4 ��� � �#������ ���� �� 2�4�6
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,��� '�$$� ��'$ ��) �$ ���� #��' � �� �� '��$�� ��) ���� ����  �$���������� ��+ #0��	
2 ��� �� 4��#(��) $����� 3�� ��'� $�� ���� �� $�� � 12� #��$ � �� '�$$� $(1��6 .��3��7 #��	
���$) ���� ���� ��22�� '��'��$��� ��� ��� '���$��'$ �� ��'���) �� ��4���#��$ ��� ��4 ���
����� 3������� *�� ;��$ '��$� ��� #��#� �$��6 ���� ������ 2� �$����$  �$���� �� �� ���*��
���2��$ #��2�$$��$ ���+#�� $�� ���  ����2�$ ��� 4������� ��$����� �� $��2� ����� #��2 1��
'���$��'$ �� �� ��F�� 7 �2�� ���� ��� '(� + �� ����'$ ���) 7 �� 2�� 1�� �� ��(�����2��$
�� '��$���$� 7 ��� �� �� #0��2 ��� �� 4��#(�� O�?) �A) @�P6 
� 2#��$��'� �� �� #� �� ��
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'�2#$� �� ����2�$ �� 4������� #��� �2�� ���� ��� '(� + ��'��+ � �� $ ����=�$ �� ��2����+
$��*��+ O@@) 5?P6


��� �� �� '���$��'$ �� ����� #0��2 ��) ��� �14��� ���$ 2 ��� �� '�2#�$ $ �� �$ '�����
3� ��2����$ <$�� ��� #��� G �##��#� ��� H ���$ ��$����� #��� ;����2��$ <$�� �##� 3����6
��#�����$) '� '(� + ��� 2� ������� (0#�$(1��� �� #��$ 7 '� 2�2��$ ��<$�� 3����� �#	
#��+ 2�$ �� �� 2� ����� '(� +) '��  � ����$ #�� $��=���� #��� ��� �� ��$��2 ��� �� �14��
�� #��� �##��#� �� �� '� '��$��$��$ ���  ����2�$ ��� ��'���� � �#�� ���� �� � *��� �E ��
'���$��'$ �� � � ��6 
� #��'����� �����#$�$ ��) 3� �� $ ����=�$ �� '�$$� #��$ �) '��� �$� ��
��� �����'��$� ���� �� #0��2 ��) ��� �� � '�$$� ���� 1�� '���$�� $�) �;� �� ���*����� ��
#��$ ���'� ��� � 8����$� '(� + �8�'$��� ���� �� �� '���$��'$ �� �� *��� ���  ����2�$ ���
4������� ��$�����6 
� #��2�$ ���' �� '��� 4�� ��� '(� + ������� �8�'$��� ���� �� �� '���$��'	
$ ��6 ,� #���)  � ��$ ���� #��� ��� �� 2�� ;�� ��� �02����� ����' �� ��+ ��22�$� �� �� ����
�� �� #0��2 ��) �� ��F�� 7 '��� 4�� ��� ������� #��$��$ ��� �� '(� + 2<2� ��� �02�����
�� 4��#(�  � $ �� ��#�����$��$ �� 2�4�) #�� �+�2#�� 7 '���� �� �� #�����'� �� ��� $ ����
�� 2�4�  � $ ���6

�� #��'����� ��#��� ��� �� ��$��2 ��$ �� �� ��22�$� G�2� 4��H �� ��22�$ �� �� #0��	
2 ��) '���$ 7 � �� �� ��22�$� ���$ ��� �02����� ���$ ����$ *�2��$ #��'(�� ����$��� �02�����
3�  2#� 3���� ��$ �� �����$�$ #��� #�������6 ��� �+�2#��) � ���� ��##��� 3���� * ��4� ��$
��#�����$� #�� ��� ��22�$� ��#�����$��$ �� ���'��) �� ��L) ��� 0��+ �$ �� ���� �� * ��4�)
�$ 3�� ���� ��$���*� ������2��� �� '�� ���2��$�) 7 ���+'�#$ �� �� ���� ��� 0��+ 3� ����$
#�� ��#�����$� '�22� $�� 2� � #�� �� �02���� ����$ *�2��$ #��'(� �#�� �+�2#�� '�22�
�� '��'��!) ���� ������  �J��� ��� ��� #� �� ��� �14��� �� ��F�� 7 2�� ;�� �� '���$��'$ ��
�$ �� �� �##���B$�� �� �02���� G Y � H 2��3���$6 ���� '���) ����  �$���� ���� ��� �14��
'�#���� �� ���� �� �� � $��$ �� #��'����$� �� �� ��22�$ �*�' �� �02���� G 3��� 	* ��4� H)
�02���� 3� ���� ��'���� '�22� �2� 4� 9 �����#$�$ �� ���� ����� #��� �:�� �� ��2#�� ���2	
� 4�S$�) #�� �+�2#�� �� $�������2��$ �� �02���� G 3��� 	* ��4� H �� �� �02���� G * ��4� H)
�$ ���' �� �� ���$ �##���B$�� �� �02���� G Y � H 2��3���$6
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����#$�$ �� �� #��$ �*� � � �� 3����� �� � ��� ��22�$� � $� G �2� 4�� H ��$�'$��6 ��
#��$ 3��) �����#$�$ �� �� '��'������ 3�� ��� �02����� #�����$� ���� ���� ��� � *���+ ��
�� #0��2 �� ��� 4������) �� ��22�$!) �$ ��� �� �$��'$��� �� 4��#(�6 ���� � 4� ;� 3����
��22�$ ���� ��'���� �2� 4� � �$ �����2��$ �� � #���1�� �� �02���� �� 	2<2� �2� 4�6

��$$� ��$ �� �� �02���� �2� 4� ��#��� 3���$ 7 ���� �� ���$ � ��$ �� 3�� ���� ���(� $�
�� �� �� �� #0��2 �� '���$�� $�6 
���� ��� �$ � ��$ ��� ��� #��� '���� 3��� ��$ �� ������$ ��
���� #����12� �����) 7 #��$ � �� #��#� �$� ��� �� �$��'$��� �� 4��#(� �� ��22�$ �� ��
#0��2 �� �� ��� ��� �02����� #�����$� ���� ��� ��22�$� �� '� ���� ��6 &� �02���� ����
����� � $ �2� 4� �� � �� #��2�$ #�� �� ������ ��� ��#���� ��N��22��$ #��' �� �� #����12�
#��� 9 '� �02���� s ����� 4�������2��$ ���  ����2�$ �� G J��� H) #��'(� �� '���� ������
#�� ����$��� �02����� s1) 6 6 6) sk '�����#�����$ 7 ��� ��#����� � 8����$�� �� #����12�6 
�
��$ �� �����#$�$ �� ��$ ����� ������0�� �� ��2#��'�� s #�� ���� ��� si) $��$ �� ���#�'$��$
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�� 2�+ 2�2 �� #��'����� �� ����'$ ��6
&�� ��$�� �$ � ��$ �� �� �� #0��2 �� ��$ #��� � 2#��2��$ ����$�� � ��� ��#�����$�$ ��

2��$ 	������$ �� �02��� 3�� �����  2�4�6 ,��� '� '��) ��� �02����� �2� 4�� ���$ 4���	
����2��$ ��� �02����� �#�' ���2��$  �$���� $� ���� �� ���� �� '���� ����'� #��� $�� $��
���*��$������ ������� ��� �� 2�4�  � $ ��� �� ��� ��� #��'����$�� ����'$ ���) �� #��� ��������
��� '(� + �� ����'$ ��� � N' ���6 
� #��2 1�� � $��$ �� '�����#��� �� �02���� G 3��� 	
* ��4� H �� ���+�2#�� #�����$� #��'���22��$) '���$ 7 � �� 3�� ��� �02����� #��*��$ <$��
�=��$�� #��� �$ 3��$�� �� ����'$ �� ���� 4��#(� #��'(� �� 4��#(� ������2��$ ��3� � #���
3�� �� �14�� '����'$� #� ��� ���##� 3���6 ��$$� ����'$ �� ����$ ����� 3���� G  �� '� H #��	
2�$$��$ �� #��'����� �����#$�$ �� �� 2�� ;�� �� �������2��$ ��� ����'$ ��� �� �� 4��#(�
 � $ �� �;� �� '��� 4�� ���*��$������ ������� ��� '�� ���� ���6


� ��'���� � $��$ �� �� #�����$� ����3���� 4��#(� #��$ <$�� ���� $ �� ���+ ��=�$� � 8�	
���$� s1 �$ s2) ���� 3�� � �� $ #��� ��� ���� �� #��2 �� $�2#� �� ��*�� ��� ����� �� ����$�� ���
����'$ ���6 &� �02���� #��$ '�� �� s #��$ ����� <$�� ��;� $ #��� ��#�����$�� � 2��$���2��$
��� ���+ �$�$� ��* ��4������6 �� �02���� ��$ ����� ��$������2��$ ���2 � ��+ ����'$ ��� �� 	
*��$��) �� #��$ '�� �� � s1 �$ s2 #��*��$ ��� � ��� 2<2� ����'$ ��) s #����� ���� �� ��� �)
�� ���$ � �� � �#���B$�� ���2� 4�S$�6 �� � ���$� ��'��� ��� �02����� �2� 4�� ��� #����� $  ' 
#����� �� �02����� 7 ���� 2��$ #��! �� ��22�$ �� �� #0��2 ��) �� #��'����� �����#$�$ ��
���� #��� �:�� �� ��' ��� �� ���� 7 ������ 7 '�� ���� ���6
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� #��'����� �� �����'��$� ���� �� #0��2 �� ��$ ��'� $ ' 	�#�1�6 �� ���##� 3�� 7 '(�'��
��� ��22�$� �� 4��#(� ;��� ���� �� #0��2 �� #�������$ �� �02���� �2� 4� s1) ����
�� ��$ �� �� $�������2�� �� �� �02���� ��� �2� 4� s26 
� �02���� s2 ��*�� <$�� '(� � 
#��2 ��� �02����� G #��'(�� H �� s1) ���� �����#$�$ �� �� #�����	$	���� �� �� �� 3�����
�� � ��;� � ��� � �$��'� ��$�� ��� �02�����) ��#�����$��$ �� G #��+ 2 $� ��2��$ 3��H ���
��$ ��� ��#�����$��� #�� '(�3�� #� �� �� �02���� ��� �� $) ��� � �$��'� #��$ ���� ��N$) ��
���$� 3���� �� ��;� �� �� � �$��'� 3����$�� ��� �02����� ��#�����$��$ ��� ��$ ��� � ���)
�� � �$��'� �$��$ '��� �����  �;� � ����3�� '� ����$ #�� �� '��!6 
� #��'����� �����#$�$ ��
����0�� ��� ;�� �� ��22�$ '��� ����) �$ $��$� ����$�� � �� �02���� s2 7 #��$ � �� '�� ���� ���)
�� $ �� ������F��$ ��� �14�� �##��#� ��) �� $ �� ���#$��$ ��'��� *�2��$ ��� �02����� ��� ;��
�� ��22�$ '��� ����6 �(�3�� �#���$ �� �$�������2�$ �� ���� �02���� s1 �� �� �02����
s2) �� ������'�2��$ ����� �14��! #���1�� �� '�T$) �� ���$� 3�� � ��$ #��� ��� �� ��;� � ���
������ �� '�2����$ ��� '�T$� ��� � 8����$�� �#���$ ��� �$ � ���� ���� �� �� '���$��'$ ��6 � 
'� '�T$ ��#���� �� ���� ;+�) �� $��$�$ *� �����#$�$ �� �'(���) �$ ��� ��$�� ����$ �� �� $
<$�� '��� �����6

��$�� ��4�� $(2� ��$ ���' #���2�$�� #�� ��� *����� εm ��#�����$��$ �������� 2�+ 2���
��$�� ���6 �� #��$ ���� �� ������ ���+ #���21$��� dm �$ wm ��;� ����$ ���#�'$ *�2��$
�� � �$��'� 2�+ 2��� 7 ��3����� �� �02���� ���#$� �� $ �� $���*�� �� �02���� ���� 4 �� �$
�� *�� �$ �� 2�+ 2��� 3�� #��$ ��� � �� #� �� ����� �14��6 ���$ �� ���4 �� �����#$�$ ��)
�������� �����#$�$ �� ε ��$ 2 �� 7 =��� �� ���'$ �� ��� �#���$ ��� �8�'$����6 
���4�� $(2�
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�$ � �� ��$ �� �� *��$ 9

>6 ��  � $ �� �� �������� ���##��+ 2�$ �� ε 7 �� *����� �����6

�6 �� ��$� n �� ��22�$ ��� ��3��� #��$� �����#$�$ ��) �$ s ��� �02����6

@6 �� $ R ������2��� ��� �14��� ���$ �� �02���� �� ���$ � ��$ 7 � �$��'�  ���� ���� ��
�4��� 7 min(dm, εm − ε) �� s6

�6 �� �##� 3�� ����� ��� �14��� �� R ��� �� ����	4��#(� �� � *��� #��'����$ �� � *���
�� '���� ���� �� #0��2 �� ��4����� #�� ��� ;�� �� ��22�$ n) ���� ����� 
�
��� ���
��
��	�� �������� ���� 
�� ��������6 ���� '(�3�� (0#�$(1�� h #���� $�) �� ��;� $
��� ������ �02��� 3�� εs(h) '�22� �$��$ �� ��22� ��� � �$��'�� ��$�� ��� �02�����
��'���� ��� 7 ���##� '�$ �� �� �� �14�� �$ ��� �02����� �8�'$ *�2��$ #�����$� ���� ���
��22�$�) �$ ��� ������ �����#$�$ �� εa(h) '�22� �$��$ �� 3���$ $� 7 �=��$�� �� #� ��
�� ��(0#�$(1�� #��� ��#����� �� #� �� �� ��(0#�$(1�� ����'$ ����� ����3�� � ��0 � #��
�����#$�$ ��6

56 �� ��$� �����H ������2��� ��� (0#�$(1��� � �� #���� $�� #��� ���3������ εa(h) � wm

�$ εa(h) + εs(h) + ε � εm6

�6 �� � �+ �$� ���� H ��� (0#�$(1�� h $���� 3�� εs(h) = 0) ����� �� '��� �1�� ��� (0#�	
$(1�� hm *�� ;��$ '�$$� #��#� �$� �$ 2 � 2 ���$ εa(hm)6 ��� #� �� ��$ ����� ��42��$�
�� εa(hm)) �$ �����#$�$ �� ����� $) �*�' ��� ������ �� ε+ εa(hm)6

�6 � ���) �� '��� �1�� '(�'��� ��� (0#�$(1��� �� H #�� *����� �� ε(h) = εa(h) +
εs(h) '�� ����$�6 ���� '(�3�� (0#�$(1�� h '��� �����) �� $��$� ���+�'�$�� 7 ���*���
�����#$�$ �� ��� '(�'�� ��� ;�� f �� n ���$ �� �02���� ��2���� #�� h � 81�� ��
�02���� #�����$6 ���� '���) �� �=��$� ε(h) 7 �������� �����#$�$ �� ε) �$ �����#$�$ ��
��$ ���'�� �7 #��$ � �� ���$�#� �! ��� '(�'�� ��� ;��) �������� �����#$�$ �� �� '��
���� ��� �$��$ 7 '(�3�� �� � �=��$�� 7 ε6 � �����#$�$ �� �� $��� ��� ;�� ����� $) �� #� ��
�� ��(0#�$(1�� h ��$ ��42��$� �� εa(h)) �$ �� #��'����� �� $��2 �� ��� ��� ����� $�6
�� '�� ���'(�' ��� ���� ��� ;��) ��(0#�$(1�� �� *��$� ��$ $��$��) =��3��7 �#� ��2��$
�� H) ��3��� '�� �����#$�$ �� ���'(1*� ��� �� �'(�'6

��$��� 3�� ���� ��� �$�#�� � �$ �� *��$��)  � ����$ #�� ��'���� �� �� #���� �� $��$�� ���
(0#�$(1��� �� ��� ����� �� �6 �� �� $) #��� ��� 3���$ �� �� #�����2��'�) �� #��������
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#� �� ���*�) �$ ���� '��'��� �������� �02��� 3�� �� #��� $:$ �� 2�� 1�� 7  �$����2#�� ��
'���$ �� ����� (0#�$(1�� �1� 3�� �������� $�$��� ��#���� �� ��� � ;+� �� ��#��$ �$ '�� ����$
=��3��7 εm '(�3�� �� � 3�� � ��$ ��'���� �� ����$�� � �� ���*����� (0#�$(1���6
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�� �� #0��2 ��6 
����#$�$ �� ���� ��22�$ � $�� ��� �� ���� �� �� #0��2 ��) '���$ 7 � ��
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<$�� ��2 ��� �� 3���$ �� 9 �����#$�$ �� ��� �� ���� �� �� #0��2 �� ����$ ����� $��$ � 2#��	
2��$ #�� ��$�� ���6 &�� ��$�� #��� � � $� '��� �$� 7 ��2�$$�� 3�� ��� ������� ����$����
#� ����$ <$�� ��� $��� �� �������� 9 ��� ���#$�$ �� ��$ ����� #��� ���) �� �� '��� �����$
#��� '��� 3�� ��� � �$��'�� ��$�� ��� �02����� � 6�6 �� '��� �����$ 3�� �������� �����#$�$ ��
��$ #��#��$ ������� 7 �� � �$��'� ��$�� ��� ���+ �02�����!6

&�� �� � �� #��'����� �� ���'��$� $��2 ��)  � �+ �$� #��� ���� ��F��� �� $�� $�� �� �����$�$
�� �����#$�$ ��6 �� #��$ ������� '��� ����� $���� 3����� �� ���*���� #0��2 ��  ���� ��
#��'����� �����#$�$ ��6 ��#�����$) �� 2�� ;'�$ �� ��� (0#�$(1��� ����'$ ������ #��$ �*� �
���  �J���'�� ��� ������2��� ���� � *���) ���� #��$	�� #������� ��'���$�� �� �� #0��2 ��
�� �$ � ���$ ��� *������ 2�� ;��� ��� #� �� ��� �14��� �$ �*��$�����2��$ ��� �02����� �� ��
���� �� �� #0��2 ��6 ��$��� 3�� ��� 2�� ;'�$ ��� ��� #� �� ��� �14��� �� *����$ 3��7 #��$ �
�� � *��� �E ����� ��$ �$�  �$���� $�� ��� #����� $ ���� '��� ����� ��� 2�� ;'�$ ��� '�22�
4�������) 2� � '��� ��'��� $��� � �� ��'���$�� �� �0�$�2�$ 3��2��$ �� #0��2 �� ��#� � ��
����) �� #��� �� 2��1�� #����� $ �� J�+ � � $�!6 �� $� 7 ���+�'�$ �� �� '�$$� ��2��$��)
�� ��22�$ �� �� #0��2 �� ��$ 7 ���*��� �+�2 ��) �$ ��� ���*���� ���#$�$ �� #��$ <$��
�8�'$��� � ��� ��22�$� �2� 4�� ���$ $��=���� #�����$�6

���� �� #��*��� '�#�����$ #�� 4����$ � �� 4������ �� '��*��4��'� �� '�� �#���$ ���
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3������ $� '�$$� 2<2� �14�� R2 ���� ������'�� #��� ���2#��$�� ��� R1 #��� �������� ���
��$�� �2� 4�S$�6 � '�� ���+ ������'�2��$� ���##� 3���$ �� 2<2� � *���)  � ����$ ����� #��
#��� ��� �*�' ��$�� '���$��'$ �� �� �$�� � ��� �� �����$�$6 ����  2#������� ���� �� ��2���
2�+ 2�� �� $���$ ��� �� #��'����� �����#$�$ ��) �� 2�� 1�� 7 '� 3�� �� #��'����� ;� ���
���� $��� ��� '��6
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�� ��22�$ �� �� #0��2 �� ��$ �$ � �� #��� �������� �� #����12� �����6 
�� ��22�$�
�2� 4�� ���$ ����� '��+ 3� ���$ �� �02���� �� #��2�$ #�� �� ������ ��� ��#���� '�� ��
�� #����12� 9 #��� ���� ��#����� ���$ ����� ��* ��4������) �*�' � 8����$�� #����� � $��6

���3����� #0��2 �� ���� ��22�$ �2� 4� �� #��$ <$�� ��$���� �#�1� �� ��2��� 2�+ 2��
�����#$�$ ���  2#���)  � ��$ ����� #��� ��� ���*����� �� 2�0���� ��� #����� � $�� ��� � 8�	
���$�� ��#�����  ��� $�� #�� '(�3�� #0��2 �� '���$�� $� ���� �� �� #(��� �����#$�$ �� ��
2�� 1�� 7 ��$�� � ��� ��$ 2�$ �� #��� #��' �� �� �� #����� � $� ��� � 8����$�� ��#�����6
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����$ #��� �##� 3���) �� #��;$ �� h′16 
� 0 � ���+ ��F��� �� #��'���� 9 ��*�� � �� ��� 1��
=��3���� ��22�$ n) �� #����� � ��'$�2��$ �� n′ 7 n′′ �� �$ � ���$ ��� $���� $ �� a ���� ��
4��#(� �� ����'$ ���6

�14���  2#� 3����6 �� $��2� �� 4��#(� �� ����'$ ���) '��� ��* ��$ 7 '(� � � ��� ����'(� ��
4��#(� �� ����'$ ��� ��$�� 3�� �� ����'(� #� �' #��� �'���$ 7 � �� �� ����'(� '�����#�����$
7 �� ����'$ �� ��� (0#�$(1��� �� #� �� 2�+ 2�� 7 '(�3�� �$�#�!6 ���� #��$ <$�� �� $ �� ���+
2�� 1��� � 8����$�� 9  � ��$ #��� ��� �� ��*�� � �� ��� 1�� ���� �� 4��#(�) #� � �� '(� � � ��
�� *�� ��� ��$�� ����'(� �� ��42��$��$ ��� #� ��) '�22� ���� �� '�� ����� ���#$�$ ��
'���� 3��) 2� �  � ��$ ���� #��� ��� �� ��;� � ��� ��<$� �����#$�$ �� ��$�� �� #�� $ ��
�� '���� ���� �� 4��#(� �� 2�2��$ �� �����#$�$ �� �$ �� #��2 �� ��22�$ �� �� ���*����
����'(� 9 �����#$�$ �� '��� �$� ����� � 2#��2��$ 7 �� *�� ��� � 8����$�� ��<$�� �����#$�$ ���
#�����$�� ���� �� 4��#(� �� ����'$ ���6 
� ;4��� 565 #�����$� '�� ���+ �$��$�4 ��6

� �� ) �����#$�$ �� #��$ ���' <$�� *�� '�22� ���##� '�$ �� �� �14��� �����#$�$ �� #��	
2�$$��$ �� ��=� ���� ��� ����'(� �� 4��#(� �� ����'$ ��� � 8����$� �� �� ����'(� ��
'����6 ���� � 4� ;� $��$��� � 3����� �14�� �����#$�$ �� �� �� � 2 $� �� 4������ #�� 7 ���
'��$��'$ ��� �� 4��#(�6 �� '��$�� ��) ��� �14�� �����#$�$ �� #����� ��#���� ���+ ��4 ���
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#��$ '�� 1��� �� '� ���� 3������� �����$ ���� � #��� ���##� 3��� �� 4����� �� ( �$�� 3�� ���
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� 4��$ �� �� '�� �14��� �����#$�$ �� �� 4������ ��$ ���' ����$ *�2��$ '�2#��+� 9  �
���$ ��� �����2��$ 4����� �� $��'� ��� 4��#(�� '���$�� $� '�22� ���� ���*��� *� #���
(��$) 2� � ���� ��;� � ��� $���� $ ��� ���� ������� �� ����'$ ���6 
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�� ;4��� 565 #��$ �� �8�$ �##���B$�� 7 #��� ���� ����� $� ���� 2<2� 4��#(� �� ����'$ ���)
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� ���� ���*1�� <$�� ���3��22��$ ��'���� ��) ���� #����� ��*�� � ��;� $ *� �$ ���##� 3��� 7
������2��� ���  2�4��6 ��$��� ��;� 3���� $�� � 12� #��'�����) * ���$ 7 ��'�2#����� ���
�14��� �0��$ �$� ��� #��� �$ ��� #��� '(�3�� #0��2 �� '���$�� $� #��$ ����=� ���� ��+ ���+
��$���) #� �' #���2��$ ���� �� ��$ ���''������ ���2��4��'� ��� �02����� �$ ���6

#���� ����
���	
 � ������

,��� $��$� �� �� $� �� '�$$� #��$ �) ���� ��##������� ����� Su ⊂ S �� ����2��� ��
�02����� � $ �$ ���6 ��� ���� ��� ���$ #�� �+�2#�� '(� � � #�� ���$ � ��$��� �� ���'$ �� ��
#����12� 3�� � ���(� $� ��������6
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��$�� ��=�'$ �  ' ��$ �� ��;� � ��� �14��� 3� ���$ �� 2����� �� �� �� �##���B$�� '��
�02����� ���� �� #0��2 �� '���$�� $� ��14��� � $�� ��*�������!) � �� 3�� ��� �14��� ���'�#	
$ ���� ���2#<'(�� ���##�� $ �� �� '�� �02����� ��14��� � $�� ����*�������!6 "�2��3���� 3��
'��$� ��� �14��� �� �����$ � ��*�������) � ����*������� 9 �� #������ ����� �� �14��� ���$���6
&�� �� � '�� �14��� ��;� ��)  � ��N�� ����42��$�� ��� #� �� ��� �14��� ��*������� �$) ��
'��$��#��$ �) �� � 2 ���� ��� #� �� ��� �14��� ����*�������6


�$�������� ���� ������� ��+ �14��� ��*�������6 ��$������2��$) $��$� �14�� #���� ���$
�� ���$ � �� �02���� �� Su ��$ ��� �14�� ��*������6 �� $ R ��� $���� �14��) �$ ��$��� s1) 6 6 6) sk

��� �02����� 3������ �''�#$� �� ��$���6 ����� $��$� �14�� �� ���$ �##���B$�� ���� ��� �02�����
si ��$ ���'�#$ ��� �� #��2�$$�� ���##� '�$ ��) 7 ��� �$�#� �� *��$� �� �� '���$��'$ ��) ��
�� �14�� R) �$ ���' �� '��$� ���� 7 ���2��4��'� ���� �02���� �$ ��6 ��$$� �14�� ���� ���'
'��� ����� '�22� ��� �14�� ��*������6 �� �� ���� $ ���' ��� ��;� $ �� ��'��� *� ��� �14���
��*������� 9 ��$ �14�� ��*������ 9

M $��$� �14�� ���$ �� �02���� �� ���$ � ��$ �� �02���� �$ ��)
M �$ $��$� �14�� ���$ �� �02���� �� ���$ � ��$ ���� ��� �02����� ����$��� ����� �14��

��*������6
&�� ��F�� � 2#�� #��� $���*�� ������2��� ��� �14��� ��*������� '��� �$� 7 $��'�� �� G 4��#(�
���$ � $� H) ���$ ��� ��22�$� ���$ �$ 3��$�� #�� ��� �02����� �$ ��� �$ ��� �02����� ����$���
��� �14��� ��*�������) �$ ���$ ��� ��<$�� ���$ �$ 3��$��� #�� ������2��� ��� �14��� ��*�������6
�� '���$��'$ �� #��$ <$�� �� $� �� �� 2�� 1�� �� *��$� 9

>6 �� '��� �� ��22�$ #��� '(�3�� �02���� �$ ��) �$ 3��$� #�� �� �02���� �� 3���$ ��)
�$ �� ���=��$� ���� �� � �$� ��� ��22�$� ���	$�� $��6

�6 ���$ 3�� �� � �$� ��� ��22�$� ��� $�� $�� ��$ ��� * �� 9

��! "�$ ��� �� ��22�$ n �� �� � �$� ��� ��22�$� ��� $�� $��6 ��$��� s �� �02����
3� �� ��$ ����' �6

��! ���� ������ ������2��� R ��� �14��� ��2�$$��$ s '�22� �02���� �� ���$ �) �$
��$��� Se ������2��� ��� �02����� ����$���� �� $��$�� ��� �14��� �� R6

�'! �� '��� �� ��22�$ #��� '(�3�� �02���� �� Se #��� ��3���  � ���+ �$� #�� ��=7
�� ��22�$) �$ '(�3�� ��22�$ '��� ��$ �=��$� 7 �� � �$� ��� ��22�$� ���	$�� $��6

��! ���� $��$� �14��R ��R) R ��$ ��� �14�� ��*������6 ,� #���) #��� '(�3�� �02����
����$��� se �� R) �� '��� ��� ��<$� �� se 7 s � ���� ���+ �$� $ #�� ��=7) �$ ��
�=��$� R 7 ������2��� ��� �14��� �$ 3��$��$ '�$$� ��<$�6

��$��� 3�� � ����$ #�� ��'���� �� �� $��'�� �� 4��#(�6 �� �8�$) 7 ���$�#� ��)  � ��$ �� 3��2��$
��'���� �� �� ��*� � 3�� R ��$ ��� �14�� ��*������) �� ���$� 3�� �� ��;� $ �� ��� ��<$�� �$
���� �$ 3��$�4� #�� ��� �14��� '�����#�����$�� ����$ #�� �$ �� #��� ��$��2 ��� ������2��� ���
�14��� ��*�������6 ���$��� �) �� '���$��'$ �� '�2#�1$� �� 4��#(� ��$ �� 4������ #�� '�T$����
�$ #��2�$ �� '����B$�� �� ��2��� �� �14��� ��'���� ��� 7 ���2��4��'� ���� �02���� �$ �� 7
#��$ � ���� �02���� s �����6 ,� #���) ���� *������ #��� �� � 3�� '� 4��#(� ���� #��2�$$��
�� 3���$ ;�� 7 3��� #� �$ ��� �14�� ��$ ��*������) �$ � �� �� ��$��2 ��� �� *����� �� �����
3� �� ���� �''����6
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�$�������� ���� 2� �$����$ ��+ �14��� ����*�������6 ,���� 2�� 1�� 4�������) ����
'��� �������� '�22� ����*������ $��$� �14�� �� ���$ � �#���B$�� �� �02���� ���'�#$ ���
��<$�� $�������2� �� �02���� �$ �� ���� ��� ����'$ ��� �� *��$��) ���� �� �� �##���B$�� ��
��$�� �02���� *�� ;��$ '�$$� #��#� �$�6 
�� �02����� ���'�#$ ���� ��<$�� $�������2�� ��
�02����� �$ ��� �$��$ #��' ��22��$ ��� �02����� �##��� ����$ ���� ��� ��22�$� �� 4��#(�
���$ � $�) ��� �14�� ����*������ ��$ ���' ��� �14�� ��2�$$��$ '�22� �02���� ����$��� ����
��� �02����� �� 4��#(� ���$ � $�) �$ ���$ �� �02���� �� ���$ � ���##���B$ #�� ���� �� 4��#(�
���$ � $�6

�0��$ � �� ��;� ��� �14��� ��*������� �$ ����*�������)  � ��$ #��� ��� ���8�'$��� ��
' ���4� �� ��*�� ���$ ��� �14��� ��*������� �� ��$� 2��$ ��� �14��� ����*�������6 ���$:$ 3��
���$$� ���� �� ����� �4�� 7 ������2��� ��� �14��� ��*�������) ���� ������) ���� �� �� $�
�� '�$$� ��'$ ��) $��$�� ���*����� 7 3��� #� �$ '(�3�� �14�� ��$ ��*������ �� ����*������6
���� '���) ���� '�22��'����� #�� �*�����) #��� '(�3�� �02���� �� 4��#(� ���$ � $�) ���
��$ 2�$ �� �� �� #����� � $� #��� '� ���� �� ��<$�� ���� $ �� �� �02���� �$ ��6 ��$���
 ' 3�� '�$$� ��$ 2�$ �� �� �� *��$ #�� �+�'$� ��� #��$ '�� ��) �� #��'����� �� ����'$ �� ��
��#��� 3�� �� ������� �� #� �� $� ��� (0#�$(1��� �$ ��� ��� *������ �+�'$�� �� '�� #� �� $��)
����� 3�� ��$�� ��$ 2�$ �� $ ����� '�2#$� �� '�� *������!6

�� $ s1) 6 6 6) sk �� '(�2 � ���� �� 4��#(� ���$ � $� ���� ��22�$  � $ �� s1 *��� �� ��2	
2�$ ;��� sk �����  ���$ ;���  ' ��� ��22�$� �� 4��#(� ���$ � $� �*�' ��� �02����� 3� 
��� �$ 3��$$��$!6 �� �������'� �� ����2�$ �� ��� �� �$��'$��� �� 4��#(� 3�� ���� ���(� $�
��������) ���� ��$ 2��� �� #����� � $� ����� ����'$ �� �� ���'$ �� ��� #� �� ��� �14���
�� 3��2��$6 � �� ) �� #����� � $� ��$ 2�� �� ���� �� s1 �� s2 ���� ������ #�� 9

p(s1 → s2) =

∑
R∈Rs1→s2

w(R)∑
R∈Rs1→�

w(R)

�E Rs1→s2 ��$ ������2��� ��� �14��� ��2�$$��$ s1 '�22� �02���� ����$��� �$ s2 '�22�
�02���� �� ���$ �) �$ Rs1→� ��$ ������2��� ��� �14��� ��2�$$��$ s1 '�22� �02���� ����$���
����� ��� ���+ '��) � ��� �14�� ��2�$ s1 ��� #��� ���� �� ��� ��$����) ��� #� �� ��$ '�2#$�
��$��$ �� �� � 3�� ��'���� ��!6


���$ 2�$ �� �� �� #����� � $� 3�� s1 #� ��� <$�� ���� $ �� sk ����� �� '(�2 � C =
s1, . . . , sk ��$ ���' p(C) =

∏
i∈[[1,k−1]] p(si → si+1)6 
� #����� � $� ��$ 2�� 3�� s1 �� $ ���� $

�� sk #��$ ����� ���'� �� 9
p(s1 → sk) =

∑
C∈Cs1→sk

p(C)

�E Cs1→sk
��#�����$� ������2��� ��� '(�2 �� �� s1 7 sk ���� �� 4��#(� ���$ � $�6

��$��� 3�� ����$ 2�$ �� �� �� #����� � $� p(s1 → sk) #��$ <$�� �����2���� �� $��2� ��
� �$��'� ���� �� 4��#(� ���$ � $�) �$ ���' <$�� �*����� ��# ��2��$ 7 ��� �� ����4�� $(2��
2�� ;�� �� '��'�� �� � �$��'� ���� ��� 4��#(��6 �� �8�$) �� �$ 3��$��$ '(�3�� ��' ��
4��#(� ���$ � $� ��$�� ���+ ��22�$� s1 �$ s2 #�� �� *����� �� p(s1 → s2)) �� � �$��'� ��$��
���+ ��22�$� 3���'��3�� si �$ sj �� '��'��� '�22� �� � �$��'� ���� �� 4��#(�) 2� � ��
��2#��F��$ ����� $ �� #�� ��� 2��$ #� '�$ �� ��� #����� � $� ��$ 2�� ���� '(�2 � ��$ ��
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#���� $ ��� ���4����� ���2��$� ��� �$ ��� ���� ��22��!) �$ �� 2 � 2�2 #�� ��� ��� $ ��
��� #����� � $� ��$ 2�� ��$�� ���+ ��22�$� ��$ �� ��22� ��� #����� � $�� ��$ 2��� ��� $���
��� '(�2 �� ��$�� '�� ���+ ��22�$�) �$ ��� ���� 2 � 2�2!6

���� '(�3�� �14�� ��*������ R) �� #��$ ����� ��;� � �� ��4�� ���$ � $� �� R '�22� �$��$
�� #����� � $� 2�+ 2��� ��$ 2�� �� ����'$ �� ���� ��� �02����� ����$��� �� �� �02����
�$ ��6 &�� �14�� ��*������ ��F� $ ����� �� ����� #��#��$ ����� 7 ��� ��4�� ���$ � $�6 ,�
2<2�) ��� �14�� ����*������ #���1�� #�� ��;� $ �� ��� �02����� ����$��� �##��� ����$ ���
�� 4��#(� ���$ � $�6 �� �� �$$� ��� ����� �� 2���� #��#��$ ����� 7 �� #����� � $� 2�+ 2���
��$ 2�� �� ����'$ �� ���� �� '�� �02����� �� �� �02���� �$ ��6

#���� ����
���	
 � ����������

/��4�� ���##� '�$ �� �� $�� $�2��$ � ������ * ���$ 7 ��*�� ��� ��� �14��� ��*������� ��
#��;$ ��� �14��� ����*������� 7 �� ������$ �� �� #����12�)  � �� #��$ 3��) #��� '��$� ���
 2�4��) �� #��'����� �� ����'$ �� �� #���� �� #�� �� #�� �� �02����� �$ ���6 
� #��$ ���'
<$�� ��'���� �� ���8�'$��� #�� �� �� $� �� $�� $�2��$ � ���������� �#�' ;3�� 7 �� 2�4� ��
'���� �� $�� $�2��$) �� 2�� 1�� 7 �� �� �##���B$�� ��� �02����� ���(� $��6

���� #��$ <$�� ���� �� � 2#��2��$ 7 ��� �� �� #��'����� �����#$�$ ��) #�����$� ����
�� ��'$ �� #��'����$�) �� '��� �����$ $��$ �02���� ��� �$ �� #�����$ �� ��22�$ �� ��
#0��2 �� '�22� �� �02���� �2� 4�6 �� #��'����� �0��$ ��=7 �$� �$�� � #��� (��$) ����
�� �� ��	���������� #��  ' 6 ��$��� � 2#��2��$ 3�� � ����$ �$ � ����� 3�� � ��� � �$��'�
��*��$�����2��$ #��$ ����! � �$� ��;� � ��� ����#�'� ��� �02�����6

#���� 6�7
����� ��� ������ ��� ���� �
����

���� ;� � '�$$� �$��� �� ' ���4� *��� �� ������$ �� ���� #����12� �����) ���� ������
2� �$����$ ����  �$������� 7 ��� 2�� ;'�$ ��� ��� ��� #� �� ��� �14��� �� ��� �$ 7 2�����
�� �� ������$ �� �� #����12� ��� � 8����$��  2�4��6 �� ��##���� 3�� �� $�� $�2��$ � ������
��'� $ #��� (��$ �� �� �$������ 3��7 �� ���� �� '���� ����'� �$ ���'$ ���� �� �������'� ��
$��$�  2�4�) ����� 3�� �� $�� $�2��$ � ���������� �� '��'���� 3�����  2�4� �� 3�� �$ ��
2�� ;� ���' #�� �� ���� �� '���� ����'� �� 2�� 1�� ��;� $ *�6

���� #��#����� 2� �$����$ ���*����� �� #��$ 3�� �� ��4�� ���$ � $� ����� �14�� ��*������)
���� �� �� ����'$ �� �����  2�4� ������6 ���� '���) ���� '�2#$���) #��� ��� #0��2 ��
������) �� ��2��� ���##� '�$ ��� �� �� �14�� �0��$ #��2 � ���$$� ���� �� �02���� �$ ��)
'���$ 7 � �� �� ��2��� ��(0#�$(1��� �2 ��� #�� �� �14�� �$ �##� 3���� #�����$ �� ����'$ ��)
$����� 3�� ��� ��22�$�  ���� �� ����� �##� '�$ ���  �$��* �����$ ���� �� '���$��'$ �� ����
��22�$ #�������$ �� �02���� �$ ��6

�� �*�����$ '�$$� 3���$ $� ��� �� 4���� ��2��� �� #0��2 ��� '���$�� $��) ���� ��$�	
���� �� ��4�� ���$ � $� 
��
���) 3� #��$ � 8���� ���� ���2��$ �� ��4�� ���$ � $� �)����$��
��'� $ #��'���22��$6 ���� #��*��� ���' �$ � ��� '�$$� 2����� #��� ������'�� ��� �14���
���$ �� ��4�� ���$ � $� �*� $ �$� ����	��$ 2�) �� �� '��$�� �� #��� �8� �� � '����� ���$ ��
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��4�� ���$ � $� �*� $ �$� �����$ 2�6 ,� �� 2<2� 2�� 1��) �� '�2#$��$ �� ��2��� �� �� �
3����� �14�� ����*������ �� $) �� #��$ 3��) � �#���B$�� �� �02���� �� 4��#(� ���$ � $�)  �
��$ #��� ��� �� ���=��$�� ��� 2���� ��� ��� �14��� ����*������� 3� ��$ �$� ����	��$ 2�� ��
�����$ 2��6

��$��� #��� ;� � ���+ ��$��� #��'����� � 2#��� * ���$ 7 �2�� ���� �� 3��� $� ��� ��	
��'$ ��� �8�'$����6 ���$ �������)  � ��$ #��� ���) �#�1� '(�3�� �+�'�$ �� �� $�� $�2��$ �
���������� ��'� $ #��� (��$) �� 2�2�� ��� ��� �14��� �0��$ �$� ���#$��� �$ �� *����� �� '�$$�
���#$�$ �� �'���$ 7 � �� �� 3���$ $� �=��$�� ��+ #� �� �� '�� �14���!6 �#�1� �� ��2�������
�+�'�$ ��� �� '� $�� $�2��$) �$ � '��$� ��� �14��� ��� ����$ ��� ���#$�$ �� 2�0���� ���*��)
'�$$� ���� 1�� #��$ <$�� ������ ��;� $ *�) �� 2�� 1�� 7 � 2 ���� ��� '�� �����#$�$ �� ��	
'���� ��6 ���� $�)  � ��$ #��� ��� �� #��#���� 7 ���$ � ��$��� �� �� 3��� ��� ��22�$� ��� #���
�$ ��� #��� �� ������$ �� �� #����12�) ��� �� � ��� #0��2 �� '���$�� $�6 -�\'� 7 '��  ����	
2�$ ���) ���� #��*��� ����� ������'�� ������2��� ��� �14��� �0��$ '��$� ��� 7 ���2��4��'�
�� '�� ��22�$�) �� ��F�� 7 ��*�� ��� ��� ����'$ ��� ��2������� ��� ��� #��'(� ���  2�4��
$�� $���6
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�� '���� �� '�$$� $(1�� ���� �*��� ��;� �$ �$�� � �� 2��1�� �� ��#�����$�$ �� 7 �� �� �
2��$ 	������$ �� �$ �02��� 3�� �����  2�4� 9 ��� ( ����'( �� �� 4��#(�� �02��� 3���6 ����
��������� �� '�����*�� �� 2 � 2�2 �� � '(���� ���� �� ��#�����$�$ �� �� �� �$��'$��� ���
 2�4��) ���� �*��� ��$�22��$ �$�� � �� $�#���4 � �����  2�4� �$ �� $ �� ���$� �� ��;� �
��� �+$��� ��� ��+ 2��1��� '���� 3��� �� 4��#(� ����=�'��'� '�#����� �� ��#�����$�� '�2	
#�1$�2��$ '�$$� ���� 1��6 ��� �+$��� ��� ���$��$ ����$ *�2��$ #��'(�� ��� ���� ��� ��$���)
�� ���$� 3�� �� #��#��$ ��� �����$�$� ���##� 3���$ 7 ������2��� ��� ���2�� �� 4��#(�� 3��
���� �*��� #�����$���6 � �� ��$	 � #��� ��� #�� �+�2#�� ���##� 3��� ��$�� '���$��'$ �� ���
�� � 2#��� 4��#(�� ����=�'��'�) � ������2��� �� �� ����2�$ �� $�#���4 3�� '��$���� ����
�� 2�4� ����$ #�� ��'���� �� #��� ��� �##� '�$ �� ������6

���� '���$�� �� �� 4��#(� �� �� ��� ������$ �� 7 #��$ � ���� 4��#(� ����� ) ���� �*���
��;� �� #��'����� �� ����'$ ��) �� 2<2� ���##�0��$ ��� �� ����2��� �� �14���6 ����
�*��� ���' �T #��� '��� ��;� � ���2����2��$ '� 3���$� ��$ '�� �14��� 3�  �$��* �����$
���� �� #��'����� �� ����'$ ��) '� 3�� ���� �*��� �� $) ������� ����� 2�� 1�� �� #���
4������� #��� ���) #� � �� #��#����$ ���+ �0�$12�� �� �14��� � 8����$� 9 ��� �14��� 2�$ ��
�$ ��� �14��� ���2��$� ���6 ���� ���� ��22� ����  �3� �$� ��� '��J $� �0��$ � �� ����3��
���+ �14��� '�22�����$ ���+ ����'$ ���  �'�2#�$ ����) �� ���� �E ��� ���+ �� #��*��$
<$�� �8�'$���� � 2��$���2��$6

���� �*��� ���� $� �$�� � ��� $�������2�$ ��� ��''��� *�� ���� 4��#(� �� '���� �� #��	
'����� �� ����'$ ��) �� 4��#(�  � $ �� �� ���� �� 4��#(� �� �� ( ����'( � � �� '���$�� $�)
�� '��� �����$  �� * ������2��$ '(�3�� G #�� H �� ����'$ ��) 0 '�2#� � ��� �$�#��  �$��	
2�� � ��� 3� ���##��� ����$ #�� ���� �� ( ����'( �6 � '(�3�� �$�#�) '���$ �� 4��#(� ��
'����) 4�������2��$ � 8����$ �� 4��#(�  � $ ��) 3� ��� $ ��� $�������2�$ ��) �� ���$� 3��
��� $�������2�$ ��� �$�� ��� ���##� 3���$ ��� ��� 4��#(�� � 8����$�6 ���� �*��� ���' ��	
;� �� G #���4�2��$ H ��� � 8����$�� $�������2�$ ��� ���� ������2��� ��� $�������2�$ ���
���##� 3���$ �� 4��#(�  � $ ��) �$  �*����2��$) ���� �*��� �� �� 2<2� 2�� 1�� ��;� �� ��	
F�� ���$ ��� $�������2�$ �� �� 4��#(�  � $ �� #��$ <$�� �##� 3��� ��� ���� ��� ���'�����$�
�� '� ���� ��6

���� ���� � #��2 � �� ��;� � �� ��$ �� �� '(�B�� �� ����'$ ��) #� � �� #��#���� ���
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#��2 1�� ��#�����$�$ �� �� ����#�'� ���� ��3��� ����� �*�����$ ���� �� ���2� ��� ������ ��
����'$ ���6 -�\'� 7 '�� ���� ���)  � ��$ #��� ��� ���$��� � �� #��2 �� #��'����� #��2�$$��$
���##������ ��� #� �� ��� �14��� 7 #��$ � �� 2�4�� ���$ �� ����'$ �� ���(� $�� ��$ '�����6
, 8����$� #����12�� � �� 7 '� #��'����� �� 7 �� '���$��'$ �� 2<2� ��� ������ �� ����'$ ���
���� ��$ '���� $ 7 '��� ����� �� ��$�� 2��1�� �� ��#�����$�$ �� �� ����#�'� ��� '(�B���
�� ����'$ �� 9  � ���4 $ ��� 4��#(�� �� ����'$ ���) ��2������� 7 ��� ������ �� ����'$ ���
���� ���3���� ��� �Y��� '�����#�����$ 7 ��� ����'$ ���  ���$ 3��� ���� ��$ �$�  ���$ ;��6
�� 2��1�� ���� � ���� $� #��2 � ���2�� ���� �� #��'����� ���##���$ ���4� #��������2��$
��;� 6

��;�) ���� ���� ��22��  �$������� ��+ #��� � � $�� �����#$�$ �� �� ��$�� 2��1��) ��
�� �����$  �� 8���22��$ ��� �� '���$��'$ �� '���� 3�� �� ��� ��� 2��1��� 7 ���� �� 4��#(��
�� ����'$ ���6 ,��� �� #��2 �� $�2#�) ���� �*��� #��#��� �� ��;� � ��$�2�$ 3��2��$ ���
�14��� �� �0�$(1��� '�#����� ���8�'$��� �� ��� ����� �$�#� ��� ��3���'�� �� ����'$ ���)
�� 2�� 1�� 7 �''������ �� '���$��'$ ��) �� #��� � 2#��2��$ ���'�� ��� ��3���'� 3�� ����
�� $ G #��$ ���$� H �$ � �� �2�� ���� �� 3��� $� �� �� ����'$ ��6 ���� ���� ��22�� ���� $�
 �$������ 7 �����#$�$ �� �� 2��1�� 7 ��� ��$��� ������) �� �� ������$ �� #��� � � $�) * �
�� #��'����� �� �����'��$� ���� �� ( ����'( � '���$�� $�) �� ��2�$$�� �� 3���$ �� '��$� ��
'(� +) �� ��F�� 7 �������� ��� �2� 4�S$�� ��� ���*����� �� 2�2��$ �� �� '���$��'$ ��) ��
��'��� �� 2�� 1�� 7 '��� 4�� ���*��$������ ������� � ��� �� ��� $ ���� �� 2�4�  � $ ���6 ��	
;�) ���� �*��� '��� ���� �� #����12� �� ����$�	���#$�$ �� �� ��$�� 2��1�� 7 �� #����12�
����� '���'$�� �� #�� ��� �02����� =�4�� �$ ��� 7 �� ������$ ��6 ���� �*���  ' #��#��� $�� �
�##��'(�� '�2#��2��$� ��� 9 ��� � ������ �� $����$ '�2#$� 3�� ��� �14��� �$ ��� �02�����)
���� �� �3� �$�� ���  2�4�� ��� ���3������  �� �����$ �##� 3���) ��� ��$�� � ���������� �����#	
$��$ 7 ��� ��$��� ������) �$ ��� 4������) 2�� ;��$ �� �0�$12� �� ���'$ �� ��� �$�$ �$ 3���
�''�2����� '(�3�� �� � 3�� �� #��'����� �� '���$��'$ �� ��$ ���'� ��� ��� ���*����  2�4�6


�� $��*��+ 2���� ���� '�$$� $(1�� #��*��$ ������ � �� 7 �� ��2������� #���#�'$ *��6
���$ �������) ���� �*��� ��;�  ' ��� ���� $(��� 3�� #��� �� ��;� $ �� �$ ���$ � ��$ �� ��
( ����'( �� �� 4��#(�� �02��� 3���) �� ��$� 2��$ ��� ��#�'$� #��$ 3���6 
� 2#��2��$�$ ��
�$ ���*����$ �� �� #��$ 3�� ��� ��4�� $(2�� ���##���$ ���4� �$ �����#$�$ �� #�����$�� ����
'�$$� $(1�� ��$ ���' �� #� �' #�� $��*� � ��*��$ ��'��� <$�� �� $6

�� '� 3� '��'���� ��� 4��#(�� �� ����'$ ���) '�� ���� ��� ���� ��2����$ <$�� ��� $�1�
����� '���'$�� ��$ �� �� ����#�'� ��� '(�B��� �� ����'$ ��) �$ ���' ��� ��� '�� #��� ��
2�B$� �� �� #��'����� �� ����'$ ��) �� ���$� 3�� ���� '���$��'$ �� ���*1�� <$�� #��$ '�� 1	
��2��$  2#��$��$�6 ����$��$) ���� �*��� *� 3�� �� '���$��'$ �� '�2#�1$� ���� 4��#(� ��
����'$ ��� ���$� $ �� 4������ #�� ��* ��4�����) �$ ���� �*��� ���' #��#��� �� ��4�� $(2�
�� '���$��'$ �� #��$ �� �� 4��#(�6 ��#�����$) �� '(� + ��� ����'(�� '�����*�� #�� '�$ ��4�	
� $(2� ����$ #�������2��$ #�� �#$ 2��) �� '� ���� 3�� � �� �� ���� #�� ��N��22��$ ��� ���
#��#� �$�� ��� 4��#(�� �� ����'$ ���6 &�� #���#�'$ *�  2#��$��$� �� '�$$� $(1�� ��$ ���'
�� #����� $� �� ���$��� ��� 4��#(�� �� ����'$ ���) �� 2�� 1�� 7 �� ��4�4�� ��� #��#� �$��
�$ ��� #��� '(� � � ��� ����'(�� ��� #��� #��$ ���$�� #��� ���� ���� �� �� '���$��'$ �� ����
4��#(� #��$ ��6

�� #��$ '�� ��) �� ��$��2 ��$ �� ���� ����� G '���� 3�� H ���##� '�$ �� ��� (0#�$(1���
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�� ����'$ �� ��$ #��$ '�� 1��2��$  2#��$��$6 �� �8�$) � ������� ���� ��3��� ��� (0#�$(1���
'�2#�$ ���� ���+ 7 ���+ ���$ �##� 3���� #���� $ �� 2<2� �����$�$ �$ ���' '���� $ �� 2<2�
��22�$ ���� �� 4��#(� �� ����'$ ���) 7 '(�3�� ��������'�2��$ #��� ��� '�����#��� ��
'(�2 � � 8����$6 ����$�� �� ������2��� �� '�� '(�2 �� ���##��$� 4�������2��$ #�� �� #��
�� ����2�$ �� �$ ��) �$ #��$ �� #��� #��$����� �� 2 �� �� #� �$ ��(0#�$(1��� �� �0�$(1��� #��
�+�2#��6 
� ��;� $ �� ���� ����� '���� 3�� #��� ��� ��3���'� ��(0#�$(1���) #��2�$$�� $
���* $��) �� 2� �� �� #��$ �) '� 4���� �� #����12�) �� ��' � $��$ �� ���$ ;'�$ �� ��� ��3���'��
 ���$ 3��� 7 #��2�$�$ �� #�1�6

���� ;� �) ��$��� 3�� �� #��'����� ���##���$ ���4� ��'� $ ���� '�$$� $(1�� �� ��'�� ��
��� ��� #� �� ����' �� ��+ �14��� 9  � �� '��� #�� �� 2<2� �� ���*����� �14���) #�� #���
3�� � �� 2�� ;� �����2��$���2��$ '��$� ��� �14���6 � ����#�'� ��� �02����� ��$ ���� $) �$
3�� ���� �� $��*� ��� 3��7 ��� �� �� �14��� ���2��$� ���)  � #��$ <$�� #��� ��� �� '��� �����
������2��� �� $��$�� ��� �14��� #��� ����) �� ���$� 3�� � ����$ #�� ��'���� �� �� '���� ��
���*���� �14��� �� �� ��� 2�� ;��6 ��#�����$) '� ����$ �� 4������ #�� �� '��) �� ���$� 3��
��� �14��� �� *��$ ������2��$ <$�� ��;� �� 2�������2��$6 ���� �*��� ��* ��4� ���$ � ��$ ��
���#���$ �� ���� $ �� ��=��$Z��##���� �� ���� ��') ���� ��22�$! ��� ��� 4��#(�� '���'$�� �	
$ 3��� ��� �14��� �$ � ����) 2� � ���� �##� '�$ �� ����$ �*���� ��� '�$�) �$��$ ����� �� 4����
��2��� �� #���21$��� 2 � �� '����6 "�2��3���� '�#�����$ 3�� ���� #��*��� '���� ���
�14��� �� �0�$(1��� �� '�2� ���$ ��� �8�$� ����� ��3���'� �� �14���6 
� ��$ #��$ <$�� #��� ���
���$����� �� #��'����� �� �� ��# ���$ ��� ��4�� $(2�� 4���$ 3���) �� #��$ '�� �� �� '����$
��� �14��� G '�� ���� H '�2� ���$ ��� �8�$� �� �14���  ����� �� ���+ ��3���'�� �� �14��� ��
����� 3��� $�6
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� �6 U �������� ��� U6 V��#�$�'() �� $���) /��
�������
�� �)� 9�
����� >����� ?����� ?��@�)�� 1AA1) #�4�� @AM�?) ����6

O@P / 'W�]� /��W ��� .���	/ '(�� .�� ��6 �� �� �4 �� �02��� ' ( ����'( '�� 4��#(� ��� ���	
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